:

H

-

PCHxEbEE
Spacer Supports

EEPCHE BT
Conductive
Spacer Supports

EelE] Y
Round Spacers

By EREiT
Pillar Supports

PCHREIEEE/H]
PCB Mounting Block &
Hinges

/2B et
Standoffs



A

BB\ﬂ\—lm

Part No. A B Page Note Part No. A B Page Note
MCIA- 3.2X4.8 |1-59 5 B 7L LDD- @6.0 1-77
SOR-3 3.2X6.0 | 1-74 |M2.50or M2.6 Screw| | MCSH-7.2 2.0X3.0 1-55
TCBE- 4.0X5.41 |1-60 KVD- 4.0X5.5 | 5.0X6.5 |[1-21
KVLMA-10 5.5X7.1 |1-58 MASD- @1.5 1-48
KVLM3- 55X7.1 |1-59 M3X0.5P MASS- @1.5 1-48
KVLM4-10 5.5X7.1 |1-59 M4X0.7P MASSD- @1.5 @1.5 1-13
PAA-11 6.0X7.0 |1-68 MAEB-3.2 @1.5 @3.0 1-19
LIJ-4 @2.5 1-69 LCMB-8 @1.5 @3.0 1-20
LBS- @3.0 1-46 MADSA-3 31.6 @1.6 1-13
MSA- @3.0 1-48 MADSB-3 @1.6 @1.6 1-13
TCBA- @3.0 1-51 MADS- @1.6 @2.0 1-13
LIO- @3.0 1-69 MAS-9 @1.6 @2.0 1-13
LIO-8 @3.0 1-69 MAD1.7-9.8 1.7 @1.7 1-13
DCCB-4.1 @3.0~@3.18| 1-51 MAL-8 @2.0 1-48
MSPE-7 @3.2 1-29 MASL-5.4 @2.0 1-48
LCUA-11 @3.4 1-84 MAST- @2.0 1-48
EDC- @3.5 1-2 MA- @2.0 1-49
LASE- @3.5 1-47 MAB-4 @2.0 1-49
LASH-22 @3.5 1-47 MABA-2.6 @2.0 1-49
LASJ- @3.5 1-47 MA-XXDL @2.0 1-49
SSUL-8 @3.5 1-75 MS- @2.0 1-52
LIES-1 @3.8 1-75 ISS- @2.0 1-77 |Double Adhesive Tape
RAMA- @4.0 1-1 MAD1- @2.0 @2.0 1-13
RAMC- @4.0 1-2 MAD1.2-12.9| @2.0 @2.0 1-13
LASB-3.7 @4.0 1-46 MAD- @2.0 @2.0 1-14
LASF-18 @4.0 1-48 MAD1.2- @2.0 @2.0 1-14
TCBC- @4.0 1-59 MADB- @2.0 @2.0 1-14
TCBH-17F @4.0 1-60 MADX-9.5 @2.0 @2.0 1-14
SOR-2 @4.0 1-74 MADG-5.4 @2.0 @2.0 1-36
TCEB3- @41 1-65 M3X0.5P MAMDA- @2.0 @2.5 1-15
TCEB4- @41 1-65 M4X0.7P LCMA- @2.0 | @3.0~@3.2 |1-40
TCEB632- @41 1-65 6-32 UNC RCAB- @2.0 @4.0 1-12
LCU-18 @4.3 1-89 PCLS-25 @2.2 1-52
LASD-8.3 @4.5 1-46 MAHA-7 @2.2 @2.2 1-15
RAD- @4.8 1-1 MSB-2.8 @2.3 1-52
RAMD-15.5 @4.8 1-3 ULCBA-5 @2.35 @4.0 1-82
LCDS3- @4.8 1-45 M3X0.5P ULCSD-5 @2.4 @2.8 1-82
LCDS4- @4.8 1-46 M4X0.7P SCBS632- @2.5 1-125 6-32 UNC
LAS- @4.8 1-47 MAMS- @2.5 1-49
LASL-4.8 @4.8 1-47 MAMS-7.5 @2.5 1-49
LASY- @4.8 1-47 MAM- @2.5 1-50
ULCF- @4.8 1-76 MSM-2.5 @2.5 1-52
WLCF- @4.8 1-76 MAE2.5-6.5 @2.5 1-53
ULCBB- @4.8 1-84 MAE2.5-6.5T| @2.5 1-53 M2X0.4P
LASA-9.5 @4.8~05.0 | 1-47 GSS- @2.5 1-77 |Double Adhesive Tape
TCBD-4.8 @4.8~05.0 | 1-60 ULCI-11 @2.5 1-79
CUS-5 @5.0 1-74 ULCIJ-4 @2.5 1-80
RAM- @5.5 1-1 MADA-18S @2.5 @2.5 1-15
RAM-13.5L @5.5 1-1 MADAA-14 @2.5 @2.5 1-15
RAML- @5.5 1-1 MADJ-6 @2.5 @2.5 1-15
RAS- @5.5 1-2 MADA- @2.5 @2.5 1-16
SOR-1 @5.5 1-74 MADM- @2.5 @2.5 1-16
RAMB-9 @5.6 1-3 MAMDEF-7 @2.5 @2.5 1-16




o £ i g
B ﬁ B ] M
Part No. A B Page Note Part No. A B Page Note
MAMDL-9 @2.5 @2.5 1-16 LCA- @3.0 @3.0 1-37
MAC- @2.5 @2.5 1-17 LCG- @3.0 @3.0 1-41
MADE-2.8 @2.5 @2.5 1-17 LCFO- @3.0 @3.5 1-34
MAHC-14.3 @2.5 @2.5 1-17 RCI-2.6 @3.0 @4.0 1-3
MADMK-5 @2.5 @2.5 1-20 RCO- @3.0 @4.0 1-3
LCMC-7 @2.5 @3.0 1-20 RCA- @3.0 @4.0 1-4
LCAB- @2.5 @3.0 1-40 MAEA-3.5 @3.0 @4.0 1-20
LCMD- @25 | @3.0~83.2 |1-40 LCX-31 @3.0 @4.0 1-30
RCAC- @2.5 @4.0 1-12 LCH- @3.0 @4.0 1-37
MAEE-4.5 @2.5 @4.0 1-19 RCC- @3.0 @4.8 1-4
MAM-6.35L @2.6 1-50 LCBT- @3.0 @4.8 1-41
MADAB-4.3 @2.6 @2.5 1-17 KLCBS- @3.0 @4.8 1-42
MADM1-2.2 @2.6 @2.6 1-17 LCBUA-13.9 @3.0 @4.8~25.0 |1-41
MAHC-XXS @2.6 @2.6 1-17 RCG- @3.0 @5.5 1-5
MSPA-1.6 @2.6 @2.8 1-31 DCBA-8 @3.1 1-56
LCUE-3.3 @2.6 @3.2 1-83 LCUAC-11 @3.1 3.2X4.8 [1-86 5 B 7L
MAMA-3.5 @2.7 1-50 LCUAE-8 @3.1 3.2X4.8 |1-86 %5 B 7L
LCUAE-16LA| 2.8 3.2X4.8 [1-87 MADD-2 @3.1 @3.0 1-18
MSPA-6.3L 02.8 @2.8 1-31 SCB3- @3.2 1-126 M3X0.5P
SCBA- @3.0 1-125 M3X0.5P JSS- @3.2 1-79 |Double Adhesive Tape
SCBD-8 @3.0 1-125 M3X0.5P ULCSE- @3.2 3.2X4.8 [1-83 5 [ 3L
MSPA3-9.7 @3.0 1-126 M3X0.5P LCUAC- @3.2 3.2X4.8 [1-85 %5 B 7L
DCC- @3.0 1-50 LCUAC- @3.2 3.2X4.8 |1-86 %5 B 7L
DCC-20S @3.0 1-50 LCPL-6.4 @3.2 @2.0 1-32
MAL-34 @3.0 1-50 LCSE- @3.2 @3.0~@3.2 |1-43
DCE-4 @3.0 1-51 MADN-24 @3.2 @3.2 1-18
MAE- @3.0 1-53 MSPB3.2-6.4| @3.2 @3.2 1-22
MAE-XXT @3.0 1-53 M3X0.5P MSPP- @3.2 @3.2 1-22
MAE-7-440 @3.0 1-54 DMSB- @3.2 @3.2 1-24
MAE-7-440T @3.0 1-54 4-40 UNC DMSS- @3.2 @3.2 1-24
DCB- @3.0 1-56 MSP3- @3.2 @3.2 1-24
DCBA-3.5 @3.0 1-56 MSPS3S-7.5 @3.2 @3.2 1-24
SS1- @3.0 1-72 M2 Screw MSPL-11 @3.2 @3.2 1-25
SS3-7(1.3) @3.0 1-72 M2 Screw MSPMA-12 @3.2 @3.2 1-25
BSS- @3.0 1-78 |Double Adhesive Tape| | MSPS3- @3.2 @32 [1-25
CSS- @3.0 1-78 |Double Adhesive Tape| | LCJ-15 @3.2 @3.2 1-29
CSSA-2 @3.0 1-78 |Double Adhesive Tape| | LMSB-4 @3.2 @3.2 1-32
LCUAC-7 @3.0 3.2X4.8 [1-86 LMSE-4.8 @3.2 @3.2 1-32
LCUAE-12 @3.0 3.2X4.8 |1-87 5 [ 5L LMSP- @3.2 @3.2 1-32
MADL-27.8 @3.0 @3.0 1-18 RCMB-2.8 @3.2 @4.0 1-5
MAMDC-12 @3.0 @3.0 1-18 LCUAD-1 @3.2 @41 1-84
MSPC3- @3.0 @3.0 1-21 ULCSF- @3.2 @4.2 1-82
MSPC3-3.2L @3.0 @3.0 1-21 RCBS- @3.2 @4.8 1-8
MSPF3- @3.0 @3.0 1-21 RCR-3.2 @3.2 @4.8 1-8
SSDU1-3.5 @3.0 @3.0 1-28 RCV-11.1 @3.2 @4.8 1-8
LCJ- @3.0 @3.0 1-29 RCW- @3.2 @4.8 1-8
LCV- @3.0 @3.0 1-29 ULCD-7.8 @3.3 1-80 M3X0.5P
LCVA- @3.0 @3.0 1-29 MSPD- @3.3 3.2X4.8 [1-26 5 B 7L
LCVU- @3.0 @3.0 1-29 MSPN- @3.3 3.2X4.8 |1-26 5 B 7L
LMSA-6 @3.0 @3.0 1-32 MSPQ-16 @3.3 3.2X4.8 [1-26 5 [ 3L
CBSA-13 @3.0 @3.0 1-33 LMSD- @3.3 3.2X4.8 |1-45 %5 B 7L
LCGA- @3.0 @3.0 1-33 ULCH-2 @3.3 3.2X4.8 [1-80 M2.5 Screw
LCF- @3.0 @3.0 1-34 ULCSA- @3.3 3.2X4.8 |1-81




a % i
B ﬁ AN M
Part No. A B Page Note Part No. A B Page Note

ULCSA-28.8S| @3.3 3.2X4.8 [1-82 SCB4- @4.0 1-127 M4X0.7P
KEMS-11.3 @3.3 5.5X5.5 [1-88 SCB-6SM3 @4.0 1-127 M3X0.5P
MSPB- @3.3 @32 |[1-22 SCB832- @4.0 1-127 8-32 UNC
MSPH-7.5 @3.3 @3.2 |1-26 MCO-16 @4.0 1-51

MSPF3.3-8L @3.3 @3.3 [1-22 MAE43- @4.0 1-54 M3X0.5P
MSPCA-16 @3.3 @3.3 [1-23 MAE43-4.8LT| @4.0 1-54

MSPCA3.3- @3.3 @3.3 [1-23 MAE43-XXT @4.0 1-54 M3X0.5P
MSPF3.3- @3.3 @3.3 [1-23 MAE4D-6 @4.0 1-54

DMSC-4.5 @3.3 @3.3 [1-25 MAE4D-6T @4.0 1-54 M3X0.5P
LCOA-28.8 @3.3 @3.3  [1-33 MAE4- @4.0 1-55

SCB3-38 @3.4 1-126 M3X0.5P MAE4-XXT @4.0 1-55 M4X0.7P
LCIA-3.5 @3.4 @3.7  [1-30 MCI-4.7 @4.0 1-55

RCCA-8 @3.4 @48 |1-5 MC- @4.0 1-57

ULCBA-7.8 @3.4 @48 [1-83 MC- @4.0 1-58

SCBB-3 @3.5 1-125 M3X0.5P MCE-1.9 @4.0 1-58

SCBC- @3.5 1-125 M3X0.5P MCEA-1.9 @4.0 1-58

MCM- @3.5 1-51 MCH- @4.0 1-58

PDC- @3.5 1-56 TCBS- @4.0 1-62 M3 Screw
MCN-10 @3.5 1-57 TCBS-18 @4.0 1-62 M3 Screw
PDC- @3.5 1-57 TCBT- @4.0 1-62 M3 Screw
PDC-XXD @3.5 1-57 TCBT-16 @4.0 1-62 4-40 UNC
FSL-25 @3.5 1-78 |Double Adhesive Tape| |TCBT-3.6 @4.0 1-62

FSS- @3.5 1-78 |Double Adhesive Tape| |TCBT-7 @4.0 1-62 4-40 UNC
FSSA-15 @3.5 1-78 BS- @4.0 1-63

LCPLB-11 @3.5 @26 |[1-32 BS-10-1 @4.0 1-63 | M3.5~M4 Screw
MAD3.5-12 @3.5 @35 [1-19 BS-20-1 @4.0 1-63 | M3.5~M4 Screw
MAF- @3.5 @35 [1-19 BS-35.7 @4.0 1-63 M3.5 Screw
MAFA-6 @3.5 @35 [1-19 MBS- @4.0 1-63

MDLS-4.5 @3.5 @35 [1-19 BSB-6 @4.0 1-64

MAMDD-6 @3.5 @3.5 [1-20 BSCL-9.5 @4.0 1-64

LCI- @3.5 @35 [1-30 SRLCB- @4.0 1-64

LDE-33 @3.5 @3.5 [1-30 BSB632-15.9| @4.0 1-66 6-32 UNC
CBCS-14 @3.5 @35 [1-34 BSC632- @4.0 1-66 6-32 UNC
LCD- @3.5 @35 |[1-34 BSCB- @4.0 1-66 M3X0.5P
LCO- @3.5 @35 [1-35 BSCB-20 @4.0 1-66 M3X0.5P
CBSS- @3.5 @35 |[1-37 BSCB4- @4.0 1-66 M4X0.7P
LCPA-8.2 @3.5 @4.0 |1-44 BSCM4- @4.0 1-67 M4X0.7P
LCBU- @3.5 @48 [1-41 BSD632- @4.0 1-67 6-32 UNC
KLCBM- @3.5 @48 |1-42 BSDM4- @4.0 1-67 M4X0.7P
RCT- @35 |@4.8~@5.0(1-10 SS2- @4.0 1-72 M2.6 Screw
RCH- @3.5 @55 |1-5 SS2-2.5U @4.0 1-72 M2 Screw
RCTA-4.5 @3.5 @55 |1-10 ASS- @4.0 1-79 |Double Adhesive Tape
DCCA-4.3 @3.7 1-51 ULCBM4-9.5 @4.0 1-81 M4X0.7P
UCBS-5A @3.8 @48 |1-44 ULCC- @4.0 1-81 M3 Screw
MSMA-3.5 @3.9 1-52 LCBL-8 @4.0 1-89

MSP-15.9S @3.9 @3.9 [1-27 LCBA- @4.0 2.7X7.2 [1-42

MSPV-3 @3.9 @3.9 [1-27 ULCH-1 @4.0 4.0X6.8 [1-80

MSPY-12.7 @3.96 @3.96 |1-27 LCSI-10 @4.0 5.5X5.5 |[1-45

MSPG3- @3.9~34.0 1-126 M3X0.5P KEML- @4.0 5.5X5.5 [1-88

MSPG4- @3.9~34.0 1-126 M4X0.7P PCC-11 @4.0 6.0X7.0 [1-68

MSPS- @3.9~34.0 1-126 6-32 UNC PCC-6 @4.0 6.0X7.0 [1-68

MSPS- @4.0 1-126 6-32 UNC RCFA-7 @4.0 6.3X6.3 [1-10

SCB- @4.0 1-127 6-32 UNC KES-15 @4.0 6.5X7.0 [1-84




A

BB\ﬂ\—lm

Part No. A B Page Note Part No. A B Page Note
DMSP- @4.0 @4.0 1-27 RCWA- @4.0 @5.4 1-8
DMSPS- @4.0 @4.0 1-27 PCBS-6.4 @4.0 @5.4 1-9
MSP- @4.0 @4.0 1-27 RCJ- @4.0 @5.4 1-11
SP1-4.8 @4.0 @4.0 1-27 RCTL- @4.0 @5.4 1-11
DMSA-9 @4.0 @4.0 1-28 UCBSL- @4.0 @5.4 1-45
MSP1- @4.0 @4.0 1-28 RCMA-3 @4.0 @5.5 1-5
MSPM- @4.0 @4.0 1-28 RCB- @4.0 @5.5 1-6
SSDUA-16.5| @4.0 @4.0 1-28 RCB-11.5 @4.0 @5.5 1-6
LCK-1 @4.0 @4.0 1-30 RCBL-6 @4.0 @5.5 1-6
LCC- @4.0 @4.0 1-31 RCI-5 @4.0 @5.5 1-6
LCSF-15 @4.0 @4.0 1-33 RCM- @4.0 @5.5 1-7
LCBJ-9 @4.0 @4.0 1-35 RCMD-6 @4.0 @5.5 1-7
LCFB-8 @4.0 @4.0 1-35 PCBS- @4.0 @5.5 1-9
LCTA- @4.0 @4.0 1-35 PCBS-3 @4.0 @5.5 1-9
LCEO- @4.0 @4.0 1-36 PCBT- @4.0 @5.5 1-9
CBLSS- @4.0 @4.0 1-37 RCR-12.7 @4.0 @5.5 1-9
CBSB-45 @4.0 @4.0 1-38 RBS- @4.0 @5.5 1-11
LCL-3.2 @4.0 @4.0 1-38 RBT- @4.0 @5.5 1-11
LCGB-17.5 @4.0 @4.0 1-41 RCF- @4.0 @6.0 1-7
LCSJ-16 @4.0 @4.0 1-43 PCBTA-4.8 @4.0 @6.0 1-9
WBHB-1.8 @4.0 @4.0 1-68 RCFL- @4.0 6.0 1-10
ULCE-9 @4.0 @4.0 1-83 ACBW-6.8 @4.0 @6.0 1-67
MSPR-3 @4.0 @4.0 1-91 ACBR-6 @4.0 76.1~@6.4 | 1-60
LCT-9 @4.0 @4.5 1-36 RCRA-9.5 @4.0 @6.35 1-9
DRCB-18 @4.0 | @4.5~@5.0 | 1-11 RCFB-10 @4.0 @6.5 1-10
LCSH-9.5 @4.0 @4.7 1-43 ACB- @4.0 @6.5 1-61
LCSA- @4.0 @475 | 1-43 MCB-6 @4.0 @6.5 1-61
RCD- @4.0 @4.8 1-6 RCQC-7 @4.0 @17.0 1-24
MSPK45- @4.0 @4.8 1-28 WBHC-6.4 @4.0 a7.9 1-67
LCBM- @4.0 @4.8 1-31 WBH- @4.0 @7.9 1-68
LCBD-12.7 @4.0 @4.8 1-36 SRLA- @41 @4.75~04.8| 1-65
LCBZ- @4.0 @4.8 1-36 BSB-8.5 @4.2 1-64
CBS- @4.0 @4.8 1-38 TCBT-19 @4.5 1-62 M3 Screw
LCB- @4.0 @4.8 1-38 MTD-11 @4.5 1-63
LCBSA- @4.0 @4.8 1-38 MBC-11 @4.5 @6.5 1-61
LCBB- @4.0 @4.8 1-39 MBD-10 @4.5~04.8 @16.5 1-61
LCBS- @4.0 @4.8 1-39 MCL- @4.8 1-58
VCBS- @4.0 @4.8 1-39 SS- @4.8 1-73 M3 Screw
VCBSL- @4.0 @4.8 1-39 SSA-12.7 @4.8 1-73
VCBA-14.4F | ©4.0 @4.8 1-40 MSPK4.8- @4.8 @4.8 1-28
KLCBL- @4.0 @4.8 1-42 LCBY- @4.8 @4.8 1-36
LCBC-8 @4.0 @4.8 1-42 LCBYR-4.8 @4.8 @4.8 1-36
HLCS- @4.0 @4.8 1-43 MAFBS5- @5.0 @5.0 1-19
LCS- @4.0 @4.8 1-43 SSDU- @5.2 @5.2 1-29
LCSD- @4.0 @4.8 1-44 RCWB-21 @5.3 @9.0 1-8
LCSL-4.8 @4.0 @4.8 1-44 SSA4-5.5 @5.8 1-73 |M3.5 or M4 Screw
LCSLR-9.5 @4.0 @4.8 1-44 S83.5- @5.9 1-73| M3.5 Screw
LCP- @4.0 @4.8 1-44 SS4- @5.9 1-73 [M3.5 or M4 Screw
LCPD- @4.0 @4.8 1-44 SSU4- @5.9 1-73 M4 Screw
LCY4.8 @4.0 @4.8 1-44 SSUA4-6.3L 6.0 1-73 M4 Screw
UCBS- @4.0 @4.8 1-44 RCBC-12 76.2 @9.0 1-8
ULCB- @4.0 @4.8 1-85
RCS- @4.0 @5.0 1-6




2.2

@10 —

4

MOUNTING HOLE @5.5
THICKNESS 0.8~1.6

- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

»\@3.7\«

.

-

1
o~

MOUNTING HOLE @4.0

THICKNESS 0.

8~1.6

PartNo. | A

Package

RAMA-3 3.2

J

AMA-4.5 |45

1000

RAMA-55 |5.5

.

A

e

L

8

~— @9.5
MOUNTING HOLE @4.8
THICKNESS 0.8~1.2
Part No. | A | Package
RAD-3 |3.0
RAD-4 |4.0 1000
05

I

135 —
15

~—@9.7—

MOUNTING HOLE @5.5

THICKNESS 1.

2~1.8

Part No.

Package

RAM-13.5L

1000

Part No. A | Package

RAM-6 6.35

RAM-7 7.0

RAM-8 8.0

RAM-8.5 8.5

RAM-10 10.0

RAM-12A | 12.0

RAM-12 12.7

RAM-13.5 | 13.5 1000
RAM-14 14.0

RAM-15 15.2

RAM-16 15.9

RAM-18 18.0

RAM-19 19.0

RAM-20 | 20.0

RAM-22 | 21.7

RAM-24 | 24.0

RAM-25 | 254 500
RAM-30 | 30.0

05

MR,

MOUNTING H
THICKNESS 1

OLE @5.5
6~2.5

AR —BEENERLE A — 3 X
PCig » %, T g3 42 % » PCAR

R o

ﬂ@&

7

1

J f

J

by

A

MOUNTING HOLE @4.0
THICKNESS 0.8~1.6

Part No. A | Package
RAMA-6.4 6.4
RAMA-7 7.0
RAMA-7.5 75
RAMA-9.5 9.5 1000
RAMA-11.1 | 111
RAMA-12.7 |12.7
~|04.6 -
<C
o~
iy
‘% @9.5 :!

MOUNTING HOLE @4.8
THICKNESS 0.8~1.2

Part No. A | Package
RAD-6 6.3
RAD-8 8.0
RAD-10 [ 10.0 1000
RAD-11 [11.0

T

<~
Y

LWO——

MOUNTING HOLE @5.5
THICKNESS 0.8~1.6

PartNo. | A | Package

RAM-3 | 3.5

RAM-5 |5.0 1000
PartNo. | A | B | Package
RAML-11 |11.0]3.0
RAML-12 [12.0]2.45 1000




j @4.9 r
T’

jj“
LWO—-

MOUNTING HOLE @5.5
THICKNESS 0.8~1.6

Part No. | Package

RAS-7 1000

- Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm

MOUNTING HOLE @4.0
THICKNESS 1.2~1.6

« Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
 Unit: mm

"—T 2.9

“

<

|

i

g6 -

MOUNTING HOLE @3.5
THICKNESS 1.6

AR — BTN LE > 7 — %X
PCAx » # %, T 41k s 42 % > PCIK
S4B -
- 248
Part No. A | Package
[] { RAS-6 6.0
< RAS-8 8.0
i © RAS-10 | 10.0
L — RAS-12 | 12.0| 1000
RAS-14 | 14.0
MOUN?':I\?(;(;LE 55 RAS 18| 18.0
THICKNESS 1.2~1.8 RAS-20 | 200
~ @49 -
: 7
| @ T
4w L JJ
-~— 995 — -~ 04— !
MOUNTING HOLE @5.5 MOUNTING HOLE @5.5
THICKNESS 1.5~2.0 THICKNESS 1.2~1.8
Part No. | Package Part No. | Package
RAS-7.2 1000 RAS-5 1000
@3.75
Part No. A B | Package
< RAMC-125 | 125 25
J RAMC-155 | 155 | 25
RAMC-18-4 [ 180 | 40 | ..o
E L4 RAMC-18-8.5 | 18.0 | 8.5
o @ RAMC-19 190 | 25
' RAMC-24 240 25

Rit : ANPCBX 2 B MK » BAUD

FAE 2 o
Part No. A B | Package
EDC-4 40| 25
EDC-5 50| 25
EDC-6 6.0 ] 25
EDC-7 701 25
EDC-8 80| 25
EDC-9 90| 25
EDC-10 10.0 | 25
EDC-114 | 114 | 25 1000
EDC-12.7 | 127 | 25
EDC-135 | 135 25
EDC-145 145 25
EDC-15 15.0 | 25
EDC-154 | 15.0 | 4.0
EDC-159 | 159 ] 25




AR — BTN LE > 7 — %X
s 3BY 2 3% R g 84
. Material: Nylon 66 (UL) ;;if;h AT R AR » PO
- Flame Class: 94V-2/94V-0 >
» Color: Natural/Black

« Unit: mm
@4.3
@t
Lgg—| <
-9+ Part No. | Package
MOUNTING HOLE @4.8 RAMD-155] 1000
THICKNESS 1.6
— @51 -
O |
E@e.e e
10 — o Part No. | Package
MOUNTING HOLE @5.6 RAMB-9 1000
THICKNESS 0.8~1.6
- Material: Nylon 66 (UL) A : BRPCRAHEARE > FEREHK
+ Flame Class: 94V-2/94V-0 RIERR s SBLEE o
+ Color: Natural/Black
 Unit: mm

MOUNTING HOLE @3.0
THICKNESS 1.6

0.6

- 28 Part No. | Package
RCI-2.6 2000
MOUNTING HOLE @4.0
THICKNESS 0.5
MOUNTING HOLE @3.0 MOUNTING HOLE @3.0
THICKNESS 1.6 THICKNESS 1.6~2.0

|
x
o~
7

}

Q2
“r
L@S.B»
MOUNTING HOLE @4.0 MOUNTING HOLE @4.0
THICKNESS 0.6~0.8 THICKNESS 0.8~1.2
Part No. | Package Part No. | Package

RCO-2.5 2000 RCO-2.5L | 2000




A& : BZPCR™»HRE » R R BHK
s SR E o
. Material: Nylon 66 (UL) B MRER
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
« Unit: mm

MOUNTING HOLE @3.0
THICKNESS 1.6

MOUNTING HOLE @3.0

THICKNESS 1.6

402 Part No. A B | Package
— RCA25U | 25 | 18
T RCA25 | 25| 20
4/ \l j‘ RCA-3 32 | 20
e RCA-4 40 | 20 | 2000
I RCA-45 | 45 | 20
MOUNTING HOLE @4.0 MOUNTING HOLE @4.0 RCA-S 50 | 20
THICKNESS 0.8~1.6 THICKNESS 0.8~1.6 RCA-5.5 55 | 20
[ RCA-2.5, RCA-2.5U ]
Part No. A T | Package
N
MOUNTING HOLE @3.0 MOUNTING HOLE @3.0 - : :
THICKNESS: T THICKNESS: T RCA-7 70116
RCA-75 75|16
S
¥ 4@ RCA-8 80| 16
@ﬁ RCA-8L 8.0 | 183
N [T RCA-9 90 | 16
ﬁ < 4/ \XT RCA-95 | 9516
RCA-10 | 100 | 16
— i
4/ - ‘ A «~ RCA-111 | 111 [ 16 1000
L —gg— | RCA12 | 120 16
~— 28 — RCA-127 | 127 | 16
MOUNTING HOLE @4.0 MOUNTING HOLE @4.0 RCA-14 140116
THICKNE 1.6~2.2 THICKNE 8~1. : .
fRCASGSSS? CKNESS 0.6-16 RCA-155 | 155 | 16
09 RCA-16 | 160 | 16
RCA-655 | 655 | 1.6

MOUNTING HOLE @3.0
THICKNESS 1.6

MOUNTING HOLE @3.0

THICKNESS 1.6

i

b Bl

— o

< <C
L2 | =

MOUNTING HOLE ©4.8
THICKNESS 0.8~2.0

o7

MOUNTING HOLE @4.8
THICKNESS 0.8~2.0

Part No. A | Package
Part No. A | Package RCC-8 8.0
RCC-5 5.0 2000 RCC-10 | 10.0| 1000
RCC-6 6.3 RCC-12 | 12.7




=

: Bl R PCHRA MR £ > & Rk

Ba N I 2 a@ o
+ Material: Nylon 66 (UL) RS MR A R

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit; mm
MOUNTING HOLE @3.0
THICKNESS 1.2~1.7 Part No. A | Package
4 RCG-35 | 35
@ﬁ“’ RCG-5 48
[ RCG-6.35 | 6.35
L < RCG-7 7.0
Z/ \M RCG-8 8.0 1000
= o RCG-10 [ 10.0
- os0 - R rz7 127
MOUNTING HOLE @5.5 — s :
THICKNESS 0.6~1.2 RCG-15.9 | 15.9

MOUNTING HOLE @3.2
MOUNTING HOLE @3.2 THICKNESS 1.6
THICKNESS 0.8~1.0

™~
= <
o~
LA

1

{H

o <
T | .
) s T
L @8 ——l ngJ‘r
MOUNTING HOLE @4.0 MOUNTING HOLE @4.8
THICKNESS 1.8 THICKNESS 1.2~1.4
Part No. | Package Part No. | Package
RCMB-2.8 | 1000 RCCA-8 1000

MOUNTING HOLE @3.5 MOUNTING HOLE @3.5

THICKNESS 1.6 THICKNESi(E PartNo. | A | Package
W @ @ RCH-35 | 35
T ) RCH-5 48
] 1l | RCH-6.35 | 6.35
< < RCH-7 7.0

| l ‘ Zf \X J Ly RCH-8 8.0 | 1000
Lu¢}g'_¥m LL?L‘?I RCH-10 | 10.0
295 - 295 RCH-11 [ 11.0
MOUNTING HOLE @55  MOUNTING HOLE @55 | RCH-12.7 | 12.7
THICKNESS 0.8~1.2 THICKNESS 0.8~1.2 RCH-159 | 15.9
[ RCH-3.5~RCH-8 ] { RCH-10~RCH-15.9 ]

MOUNTING HOLE @4.0
THICKNESS 1.2~1.6

i
©
S
intE:
s ey Part No. | Package
=2
RCMA-3 1000
L@Q.&#

MOUNTING HOLE @5.5
THICKNESS 0.8~1.6




- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
« Unit: mm

MOUNTING HOLE
THICKNESS 1.7

i

jLAJJ?;

\#J_/

MOUNTING HOLE

@4.0

5.0

THICKNESS 0.8~1.8
Part No. A | B | C | Package
RCS-6 60|23 97
RCS-13.8 | 13.8|2.2|10.0| 1000
RCS-16 |16.0|23| 9.7

MOUNTING HOLE @4.0
THICKNESS 1.6

s
=

<
Mt

3

MOUNTING HOLE @5.5
THICKNESS 1.5~2.2

[ RCB-3~RCB-8 ]

2

7

*4«1

1

At : B ZPCHK

RERE > FEREK

I s SPER ©

MOUNTING HOLE @4.0
THICKNESS 1.0~1.8

%j
nzZll
@954 °°

MOUNTING HOLE @4.8
THICKNESS 0.8~1.2

[ RCD-3,RCD-4 ]

MOUNTING HOLE @4.0

THICKNESS 1.0~1.8
[Ye)
T L

<<

il

i

N

T

U

~— 9.5

e

MOUNTING HOLE @4.8

THICKNESS 0.8~1.2

PartNo. | A | Package
RCD-3 3.0
RCD-4 4.0
RCD-6 6.3
RCD-8 8.0 1000
RCD-10 [10.0
RCD-11 | 11.0

MOUNTING HOLE @4.0
THICKNESS 1.6

MOUNTING HOLE @5.5
THICKNESS 1.5~2.2

MOUNTING HOLE @4.0
THICKNESS 1.6

MOUNTING HOLE @5.5
THICKNESS 1.5~2.2

PartNo. | A | Package PartNo. | A | Package

RCB-3 3.5 RCB-12 |12.7 + Material: Nylon 46 (UL)
RCB-5 | 5.0 RCB-15 [15.9| 1000 * Flame Class: 94V-2
RCB-6 | 6.35| 1000 RCB-19 | 19.0 » Color: Black

RCB-8 8.0 RCB-25 | 254 500 Part No. Package
RCB-10 [10.0 RCB-35 |355 RCB-11.5 1000

MOUNTING HOLE @4.0

THICKNESS 1.6

MOUNTING HOLE @5.5
THICKNESS 1.5~2.2

Part No.

Package

MOUNTING HOLE @4.0
THICKNESS 1.6

~. .z
~—@11.5 —

MOUNTING HOLE @5.5
THICKNESS 2.0~3.0

RCI-5

1000

Part No. | Package

RCBL-6 1000




AR BRPCRMHR L » &R B%
Ba N I 2 a@ o
+ Material: Nylon 66 (UL) R MR A R

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm
Part No. A T Package
RCM-6 6.35| 0.8~1.6
RCM-6L 6.35(1.6~2.0
MOUNTING HOLE @4.0 RCW7 79 10815
MOUNTING HOLE @4.0 THICKNESS 1.2-17 Egmz s gg g.ngg
THICKNESS 1.2~17 - : Sl Rl
o @ = RCM-10 [ 10.0 |0.8~16
m = T RCM-12A [ 12.0 |0.8~1.6
| |7 J LT RCM-12 | 12.7 [0.8~16
/j 1 < RCM-135 | 135 | 08~16
et N Lf m J ~ RCM-14 [ 140 |08~16] 1000
A “:»1'4 RCM-15 [15.2 |0.8~16
@10 RCM-16 |15.9 |0.8~1.6
_I\lfll_(i')lg%lé\lSGS I-(I)%Iﬁg% !\rﬁgELE\ISGSHrOLE @55 RCM-18 18.0 | 0.8~1.6

RCM-19  [19.0 |0.8~1.6
RCM-20 |20.0 |0.8~1.6

PartNo. | A | B | C | Package RCM-22 | 21.7 |0.8~1.6
RCM-3 35122100 RCM-24 | 24.0 |0.8~1.6
RCM-5 501]22{10.0| 1000 RCM-25 | 254 |0.8~1.6
RCM-5SP | 5.0 |1.5| 8.0 RCM-30 |30.0 |0.8~1.6

MOUNTING HOLE @4.0
THICKNESS 1.8

!
o

7 Part No. | Package
95— RCMD-6 1000

MOUNTING HOLE @5.5
THICKNESS 0.5~2.0

#3.1# 6

MOUNTING HOLE @4.0 MOUNTING HOLE @4.0
THICKNESS 1.2~1.7 THICKNESS 1.2~1.7 Part N A Pack
art No. ackage
R | [l —F RCF-5S | 50 | 2000
T 7] [ RCF6 | 6.35
W T S < RCF8 | 80
i T N
L - 0\ i S RCF-A0_|100 |
. Sis= RCF-12 | 12.7
SR RCF-15 | 15.9

MOUNTING HOLE @6.0
THICKNESS 0.8~1.6 MOUNTING HOLE @6.0
[ RCF-55 ] THICKNESS 0.8~2.0



Rk BRPCRMMALE » R B R
IR b ¥ 5 .
+ Material: Nylon 66 (UL) RS MR A R

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit: mm
MOUNTING HOLE @3.2
MOUNTING HOLE @6.2
THICKNESS 1.6 THICKNESS 16
oo_ f
< (o]
< o
o ® | S
L®9.5J ‘H @15.9
MOUNTING HOLE @4.8
THICKNESS 1.5~1.6 %38%'&% |-1|91LE 0.0
Part No. A | Package Part No. Package
RCBS-6.5 6.5 RCBC-12 1000
RCBS-9.5 9.5 | 1000
RCBS-12.7 | 12.7
MOUNTING HOLE @3.2
MOUNTING HOLE @3.2 THICKNESS 1.7
THICKNESS 1.6
1
292 8
MOUNTING HOLE ©4.8 MOUNTING HOLE @4.8
THICKNESS 1.5~1.6 THICKNESS 1.7
Part No. Package Part No. Package
RCV-11.1 1000 RCR-3.2 1000
MOUNTING HOLE @3.2 MOUNTING HOLE @4.0
THICKNESS 1.2~1.7 THICKNESS 1.6
MOUNTING HOLE @5.3
THICKNESS 1.6
MOUNTING HOLE @4.8 MOUNTING HOLE @5.4
THICKNESS 1.5~1.6 THICKNESS 1.5~1.6
Part No. A | Package Part No. A | Package
RCW-6.5 6.5 RCWA-6.4 6.4
RCW-7.9 7.9 RCWA-9.5 9.5
RCW-9.7 9.7 RCWA-12.7 | 12.7 MOUNTING HOLE @9.0
RCW-11.1 | 11.1 | 1000 RCWA-15.9 | 15.9| 1000 THICKNESS 1.8
RCW-12.7 | 12.7 RCWA-19 19.1
RCW-14.3 | 14.3 RCWA-22.2 | 22.2 Part No. Package
RCW-15.9 | 15.9 RCWA-25.4 | 254 RCWB-21 1000




« Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0

+ Color: Natural/Black

 Unit: mm

MOUNTING HOLE @4.0
THICKNESS 1.2~1.7

MOUNTING HOLE @5.5
THICKNESS 1.0~1.5

Part No.

Package

RCR-12.7

1000

MOUNTING HOLE @4.0
THICKNESS 1.6

At

: Bl R PCHRA MR £ > & Rk

I s SPER ©

MOUNTING HOLE @4.0
THICKNESS 1.2~1.6

E 102j

212.6

MOUNTING HO
THICKNESS 1.0~1

Part No.

Package

RCRA-9.5

1000

MOUNTING HOLE @4.0
THICKNESS 1.6

22
i%

JI

@10 L ﬂ
@10 ©
MOUNTING HOLE @6.0 ~
THICKNESS 0.8~1.2 MOUNTING HOL E @5.5
THICKNESS 1.0~1
Part No. | Package Part No. A Package
PCBTA-4.8 | 1000 PCBT-4.8 | 4.8 1000
PCBT-10 |10.0

MOUNTING HOLE @4.0

MOUNTING HOLE @4.0
7 THICKNESS 1.6

THICKNESS 1.2~1.

15

J5.3L10J

-2.2

L€5.4’L 10.2 J

i
L u/

k®10% ‘%@12.7
MOUNTING HOLE @5.5 MOUNTING HOLE @5.4
THICKNESS 0.8~1.6 THICKNESS 1.2~2.0

Part No. | Package Part No. | Package
PCBS-3 1000 PCBS-6.4 1000

MOUNTING HOLE @4.0
THICKNESS 1.6

VoL
T PartNo. | A | B | Package
% PCBS-6 6.3 | 16
< PCBS-8 79| 21
PCBS-10 | 10.0 | 2.1 | 1000
LmoJ PCBS-12A | 12.0 | 2.1
PCBS-12 | 12.7] 16

MOUNTING HOLE @5.5
THICKNESS 1.0~1.7



Rig : BRPCRAU#EARE » FaRHE#K
ﬁ N 5 ¥ ag °
. Material: Nylon 66 (UL) B SMRAR
+ Flame Class: 94V-2/94V-0

. « Color: Natural/Black MOUNTING HOLE @4.0
.‘ + Unit: mm THICKNESS 1.6
MOUNTING HOLE @4.0
E THICKNESS 1.6 L
& @ S
‘9 4{‘
l N
¥ < [To)
<w© l i
S S
—— e
‘% moJ @104
MOUNTING HOLE @6.0 MOUNTING HOLE @6.0
THICKNESS 0.8~1.2 THICKNESS 0.8~1.2
Part No. A | Package Part No. A | Package
RCFL-4.8 | 4.8 1000 RCFL-8 8.0
RCFL-6.4 | 6.4 RCFL-9.5 9.5

RCFL-12.7 | 12.7 | 1000
RCFL-15.9 | 15.9
RCFL-19 19.0

MOUNTING HOLE @4.0
THICKNESS 1.6

1041—10

1.5

-

j:t PartNo. | Package
LWO RCFB-10 1000
MOUNTING HOLE @6.5

THICKNESS 1.6~2.0

MOUNTING HOLE @4.0
THICKNESS 1.6

Part No. | Package

MOUNTING HOLE RCFA-7 1000
THICKNESS 1.6

MOUNTING HOLE @35
MOUNTING HOLE @35 THICKNESS 12~17

THICKNESS 1.6~1.8

0
I !

< ~
\ -

e ——

L 079 - L= ggj—é
MOUNTING HOLE @5.5 MOUNTING HOLE @4.8~@5.0
THICKNESS 0.8 THICKNESS 1.2~1.7
Part No. | Package PartNo. | A | Package
RCTA-4.5 1000 RCT-4.5 | 45 1000

RCT-8 7.9




Ai& : BEZPCR™HRE » TR D%
o, T

. Material: Nylon 66 (UL) B SMRE R

+ Flame Class: 94V-2/94V-0

+ Color: Natural/Black MOUNTING HOLE 4.0

+ Unit: mm
MOUNTING HOLE @4.0 THICKNESS 1.6

THICKNESS 1.2~1.7

<t

+

<

1,

o
t

1l

Ut

|
L@Q.ﬁJ MOUNTING HOLE @5.4
MOUNTING HOLE @5.4 THICKNESS 08~1.6

=
-
iif

Tk
iy
§
N

THICKNESS 2.0 Part No. A | B | Package
Part No. A | C | Package RCJ-8 8.0 21
RCTL-6S | 6.0] 3.9 RCJ-10 10017 1000
RCTL-6 6.3]4.0| 1000 RCJ-12 [120] 17
RCTL-12 [12.0| 3.9 RCJ-12.7 [ 127 | 1.7

MOUNTING HOLE @4.0
THICKNESS 1.2~1.7

MOUNTING HOLE @4.0
THICKNESS 3.0

MOUNTING HOLE @4.0
THICKNESS 1.2~1.6

MOUNTING HOLE @5.5
THICKNESS 1.2~1.8

N\
i Part No. A | Package
Tl | RBS5 | 50
L < RBS-6 6.0
| o RBS-7 | 7.0
e e RBS-8 | 80
- 10 o0 RBS-10_ | 10.0
MOUNTING HOLE @55 MOUNTING HOLE @55 RBS-11 | 1.0 | 1000
THICKNESS 1.2~1.6 THICKNESS 1.2~1.6 RBS-12 12.0
RBS-14 14.0
Part No. A | Package Part No. A | B | Package RBS-18 | 18.0
RBT-19 19.0 1000 RBT-16L | 16.0 | 1.8 1000 RBS-20 | 20.0
RBT-28.2 | 28.2 RBT-25L | 25.0 | 2.0 RBS-23 | 23.0
- Material: Nylon 66 (UL) it ARNZRPCHR > EMEKRMZEE »
+ Flame Class: 94V-2/94V-0 FAE N BB R o
« Color: Natural/Black
« Unit: mm

MOUNTING HOLE @4.0
THICKNESS 1.6

MOUNTING HOLE @4.5
THICKNESS 1.6

i Part No. | Package
Sigis DRCB-18 1000

~ 9.5~

MOUNTING HOLE @5.0
THICKNESS 1.6




MOUNTING HOLE @2.0
THICKNESS 1.0

B!
0
Q

0

1.75

P

MOUNTING HOLE @4.0
THICKNESS 0.8~1.6

Part No. | Package

RCAB-4.58 | 1000

« Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
 Unit: mm

MOUNTING HOLE @2.0
THICKNESS 1.6

N

MOUNTING HOLE @4.0
THICKNESS 0.8~1.6

Part No. A | Package
RCAB-3 3.2
RCAB-4 4.0
RCAB-45 | 45 1000
RCAB-5 5.0
RCAB-5.5 | 55

MOUNTING HOLE @2.5
THICKNESS 1.6

isulin

/
S

MOUNTING HOLE @4.0
THICKNESS 0.8~1.6

Part No. A | Package
RCAC-3 3.0
RCAC-4 4.0
RCAC-4.5 | 45 1000
RCAC-5 5.0
RCAC-55 | 55

A&« B ZPCRMBEIRLE » T &R HH

I s SPER ©

MOUNTING HOLE @2.0
THICKNESS 1.6

@—5

- T

og ]
/-

MOUNTING HOLE @4.0
THICKNESS 0.8~1.6

1.74

Part No. A | Package
RCAB-6 6.0
RCAB-6.4 6.4
RCAB-7 7.0
RCAB-7.5 7.5
RCAB-8 8.0
RCAB-9 9.0
RCAB-9.5 9.5 | 1000
RCAB-10 10.0
RCAB-11.1 | 11.1
RCAB-12 12.0
RCAB-12.7 | 12.7
RCAB-14 14.0
RCAB-16 16.0

MOUNTING HOLE @2.5
THICKNESS 1.6

[i¥

1 0

|
1
IP_rt

MOUNTING HOLE @4.0
THICKNESS 0.8~1.6

Part No. A | Package
RCAC-6 6.0
RCAC-6.4 6.4
RCAC-7 7.0
RCAC-7.5 7.5
RCAC-8 8.0
RCAC-9 9.0
RCAC-9.5 9.5 | 1000
RCAC-10 | 10.0
RCAC-11.1 | 11.1
RCAC-12 | 12.0
RCAC-12.7 | 12.7
RCAC-14 | 14.0
RCAC-16 | 16.0




AR : PCREPCHRHIZ B E » FAEZEMH

- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0

+ Color: Natural/Black MOUNTING HOLE @15
+ Unit: mm THICKNESS 1.0

-

N

T

1

<

|

ok
o~ Part No. A | Package

f MASSD-14 |[14.0{ 2000

MOUNTING HOLE @1.5 -
THICKNESS 1.0 MASSD-18 [18.0) 1000

MOUNTING HOLE @1.6
THICKNESS 0.7

h—

~

<<

o]

MOUNTING HOLE @2.0
THICKNESS 1.6

Part No. A | Package

MADS-6.5 | 6.5| 2000

MADS-19.2 [19.2] 1000

MOUNTING HOLE @1.6
THICKNESS 1.0

MOUNTING HOLE @1.6
THICKNESS 1.6

Part No. | Package
MADSA-3 1000

MOUNTING HOLE @1.6
THICKNESS 1.5

h—

U—

MOUNTING HOLE @2.0
THICKNESS 1.6

Part No. | Package
MAS-9 1000

MOUNTING HOLE @2.0
THICKNESS 1.0

[l
1.8L«A+J1.8L

MOUNTING HOLE @2.0
THICKNESS 1.0

PartNo. | A | Package

MAD1-3 | 3.0] 2000

MAD1-19 [19.0] 1000

MOUNTING HOLE @1.6
THICKNESS 1.0

MOUNTING HOLE @1.6
THICKNESS 2.0

Part No. | Package
MADSB-3 2000

MOUNTING HOLE @1.7
THICKNESS 1.7

MOUNTING HOLE @1.7
THICKNESS 1.7

Part No. | Package

MAD1.7-9.8 | 1000

MOUNTING HOLE @2.0
THICKNESS 1.0~1.2

MOUNTING HOLE @2.0
THICKNESS 1.0~1.2

Part No. | Package

MAD1.2-12.9] 1000




AR : PCREPCHRHIZ B E » FAEZEMH

- Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm

MOUNTING HOLE @2.0
THICKNESS 1.6

2.55

Part No. | Package

MOUNTING HOLE @2.0 MADX-9.5 1000
THICKNESS 1.6

1.7M 95— uw

MOUNTING HOLE @2.0

MOUNTING HOLE @2.0 THICKNESS 1.2

THICKNESS 1.2
a— b
;
l ~

VAN

L

8
185

1.85

1.75

i
U—t U

MOUNTING HOLE @2.0 MOUNTING HOLE @2.0
THICKNESS 1.2 THICKNESS 1.2

Part No. | Package Part No. | Package
MAD1.2-6 1000 MAD1.2-8 | 1000

MOUNTING HOLE @2.0
THICKNESS 1.6

b

:

A s

PartNo. | A | B | C | T | Package
MADB-3.5 {3.5(2.0/2009 2000
MADB-6 [6.0(19]19(0.8

7

MOUNTING HOLE @2.0
THICKNESS: T

Part No. A | Package

MOUNTING HOLE @2.0 MOUNTING HOLE @2.0 | MAD-1.6 1.6
THICKNESS 1.6 THICKNESS 1.6 MAD-2.2 2.2

— MAD-3 3.0

-5 ﬁi MAD-35 | 35

- T = MAD-4 40

< < MAD-5 5.0

[@]f [@]* 2 MAD-6 60
& ﬁ MAD-6.5 6.5 | 2000

7 S MAD-7 7.0

MOUNTING HOLE @2.0 MOUNTING HOLE @2.0 | MAD-8 8.0

THICKNESS 1.6 THICKNESS 1.6 MAD-10S | 10.0

[ MAD-14 ] MAD-10 10.5

MAD-12.5 | 125

MAD-14 14.0

MAD-25 25.0




AR : PCREPCHRHIZ B E » FAEZEMH

- Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm

MOUNTING HOLE @2.0 Part No. A | Package
THICKNESS 1.0 ' MAMDA-1.6 16

MAMDA-25 | 25
MAMDA-32 | 32
MAMDA-4 40
MAMDA-48 | 48
MAMDA-55 | 55
MAMDA-64 | 64
MAMDA-7 7.0
MAMDA-7.9 | 79
MOUNTING HOLE @2.5 MAMDA-9.9 9.5
THICKNESS 16 MAMDA-10 | 10.0
MAMDA-12.7 | 12.7

1000

%PAA%%

MOUNTING HOLE @2.2
THICKNESS 1.6

Part No. | Package
MAHA-7 1000

ﬁpyqiz

MOUNTING HOLE @2.2
THICKNESS 1.6

MOUNTING HOLE @2.5
THICKNESS 1.0

1
N
T
T
©
i
Ty Part No. | Package
~ MADJ-6 2000
T
MOUNTING HOLE @2.5
THICKNESS 1.6
MOUNTING HOLE @25 MOUNTING HOLE @25
THICKNESS 0.6 THICKNESS 1.6
—
@*r —
&
T8
2 =
K
Ity o
U= A
MOUNTING HOLE @2.5 MOUNTING HOLE @2.5
THICKNESS 0.6 THICKNESS 1.6
Part No. | Package Part No. | Package

MADA-18S | 2000 MADAA-14 | 1000




AR : PCREPCHRHIZ B E » FAEZEMH

- Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm

MOUNTING HOLE @25 MOUNTING HOLE @2.5 PartNo. | A | Package PartNo. | A_| Package
THICKNESS 16 THICKNESS 16 MADA-2 |20 MADA9 | 9.0
MADA-3  |3.0 MADA-10 | 10.0
4}“ %\, MADA-3-1 |3.0 MADA-11 | 11.0
ﬁ\ /}j 1 MADA-3.5 |35 MADA-12 | 12.0
1 1 MADA-4 |4.0 MADA-12.7 | 12.7
< < 2000
] ) MADA-5 |5.0| 2000 MADA-14 | 14.0
w%\, JN MADA-6  |6.0 MADA-16 | 16.0
— L MADA-6.7 |6.7 MADA-18 | 18.0
MADA-7 |7.0 MADA-20 |20.0
MOUNTING HOLE @25
MOUNTING HOLE @2.5
[ MADA-3-1 ] MADA-8.5 |8.5

MOUNTING HOLE @2.5

MOUNTING HOLE @2.5 THICKNESS 156

THICKNESS 2.0

i

MOUNTING HOLE @2.5
THICKNESS 2.2

I —
1.85

1.85

i
1.85 1.85

@j MOUNTING HOLE @2.5
THICKNESS 1.6
MOUNTING HOLE @25  MOUNTING HOLE @25
THICKNESS 1.7 THICKNESS 1.2-1.7
PartNo. | A | Package
Part No. | Package Part No. | Package MADM-2.7S | 2.7 2000
MAMDF-7 | 1000 MAMDL-9 | 1000 MADM-3S |3.0
THICKNESS 16 MOUNTING HOLE @25  MOUNTING HOLE g25 | PartNo. | A | Package
THICKNESS 1.6 THICKNESS 1.6 MADM-2 | 2.0
e MADM-3 | 3.0
-t j [ MADM-4 40
B 3 °;- MADM-45 | 45
< @7 - y MADM5 | 5.0
B E@E 1 MADM-6 | 6.0
I - Z MADM-6.5 | 6.5| 2000
o~ | MADM-7.5 | 75
! MADM-8 | 8.0
mgmgses "1'%“5 @25 MOUNTING HOLE @25  MOUNTING HOLE @25 | MADM-95 | 95
: THICKNESS 1.6 THICKNESS 1.6 MADM-10A 110.0
Part No. | Package [ MADM-2~MADM-5 ] MADM-10 | 10.5
MADM-12.7 | 2000 MADM-27 | 27.0




- Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm

MOUNTING HOLE @2.5
THICKNESS 1.0

MOUNTING HOLE @2.5
THICKNESS 1.6

Part No. | Package

AR : PCREPCHRHIZ B E » FAEZEMH

MOUNTING HOLE @2.5
THICKNESS 1.6

S

@j 8K

MOUNTING HOLE @2.5
THICKNESS 1.0

MADE-2.8 1000

Part No. B | C | Package

MOUNTING HOLE @2.5
THICKNESS 2.0

MOUNTING HOLE @2.5
THICKNESS 2.0

MAC-40 |18 1.2 500

MAC-40S | 15]1.0

Part No. | Package

MOUNTING HOLE @2.6
THICKNESS 1.6

MOUNTING HOLE @2.6
THICKNESS 1.6

MAHC-14.3 | 1000

Part No. A | Package

MOUNTING HOLE @2.6
THICKNESS 1.0

T

4.3
25 2.23

I

MOUNTING HOLE @2.5
THICKNESS 1.6

MAHC-6.4S 6.4

MAHC-9.5S 9.5

MAHC-12.7S | 12.7 1000

MAHC-15.9S | 15.9

Part No. | Package

MADAB-4.3 | 1000

MOUNTING HOLE @2.6
THICKNESS 1.0

il

_t
N
o~

_ty

l

MOUNTING HOLE @2.6
THICKNESS 1.0

Part No. | Package

MADM1-2.2 | 2000




AR : PCREPCHRHIZ B E » FAEZEMH

BT - Material: Nylon 66 (UL)
R RE . Flame Class: 94V-2/94V-0
» Color: Natural/Black

* Unit: mm MOUNTING HOLE @3.0
THICKNESS 1.2

Part No. | Package
MADL-27.8 | 1000

MOUNTING HOLE @3.0
THICKNESS 1.6

MOUNTING HOLE @3.0
THICKNESS 1.2

4

0 s

™ Part No. | Package
4:[ MAMDC-12 | 1000
—

MOUNTING HOLE @3.0
THICKNESS 1.6

MOUNTING HOLE @3.1
THICKNESS 1.4~1.6

i
2

Part No. | Package
MADD-2 1000

2.5L

MOUNTING HOLE @3.0
THICKNESS 1.45~1.6

MOUNTING HOLE @3.2
THICKNESS 1.6

s
@7&3
N
Part No. | Package
U— MADN-24 | 1000
1

MOUNTING HOLE @3.2
THICKNESS 1.6



AR : PCREPCHRHIZ B E » FAEZEMH

- Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm

MOUNTING HOLE @3.5

THICKNESS 1.6 PartNo. | A | Package
— PartNo. | A | Package MAF-10 |10.0
_T MAF-2 |20 MAF-11 | 11.0
—T MAF-3 3.0 MAF-12 [12.0
< - -
7 MAF-4 4.0 MAF-14 [ 14.0 1000
. MAF-5 [5.0] 1000 MAF-16 |16.0
» MAF-6 |6.0 MAF-18 |18.0
MAF-7 7.0 MAF-20 |20.0
#”,38%'&“3% I]l%LE 235 MAF-8 |8.0 MAF-22 220

MOUNTING HOLE @3.5

THICKNESS 1.6 MOUNTING HOLE @3.5

THICKNESS 1.6

O

MOUNTING HOLE @3.5
THICKNESS 2.1

i

L4.5J L;J

s g s

SH=
3-
£

@
™
ZENN |

MOUNTING HOLE @3.5
THICKNESS 1.6

MOUNTING HOLE @3.5
THICKNESS 1.6

MOUNTING HOLE @3.5
THICKNESS 2.5

Part No. | Package Part No. | Package Part No. | Package
MAD3.5-12 | 1000 MDLS-4.5 1000 MAFA-6 1000
MOUNTING HOLE @5.0
THICKNESS 0.8
é Ej’
r
T <@ PartNo. | A | B | Package
cj) MAFB5-0.8 | 0.8 | 11.8 500
ZaEnE— MAFB5-9.7 | 9.7 | 20.7

MOUNTING HOLE @5.0
THICKNESS 4.0

MOUNTING HOLE @1.5

THICKNESS 0.8 MOUNTING HOLE @2.5

THICKNESS 1.0

295 J 3.2 H 2
2.05

35 L4.5J

MOUNTING HOLE @3.0
THICKNESS 1.6

MOUNTING HOLE @4.0
THICKNESS 1.6

Part No.
MAEB-3.2

Package
1000

Part No.
MAEE-4.5

Package
1000




- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm

MOUNTING HOLE @3.0

THICKNESS 1.0

~2.4

\ ©
o
—
T
o

any

MOUNTING HOLE @4.0

THICKNESS: T

[ MAEA-3.5M ]

AR : PCREPCHRHIZ B E » FAEZEMH

MOUNTING HOLE @3.0

THICKNESS 1.0

MOUNTING HOLE @4.8
THICKNESS: T

MOUNTING HOLE @1.5

THICKNESS 1.0

295~ 8 i

Part No. B | T | Package
MAEA-3.5M [3.5|1.6
MAEA-35 [6.0(1.2
MAEA-35L [6.0]1.6 1000
MAEA-3.5LS [4.1|1.6

Part No. | Package
LCMB-8 1000

MOUNTING HOLE @3.0

THICKNESS 1.6

MOUNTING HOLE @2.5

THICKNESS 1.6

1L

il

05‘*“*7442

!

MOUNTING HOLE @3.0

THICKNESS 1.6

MOUNTING HOLE @3.5
THICKNESS 2.4

i

L |
—=)
28 RGH‘ st

t
MOUNTING HOLE @3.5
THICKNESS 1.6

Part No.

Package

Part No. | Package

LCMC-7

MAMDD-6 | 1000

1000

MOUNTING HOLE @2.5

THICKNESS 1.6

MOUNTING HOLE @2.5

THICKNESS 1.6

@11 %2'8@%5

MOUNTING HOLE

Part No.

MADMK-5

Package




AR : PCREPCHRHIZ B E » FAEZEMH

- Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit: mm

55
i

MOUNTING HOLE

~14

THICKNESS: T
<X 0 5.32
]
L%ﬂ@? g PartNo. | A | B | T | Package
018 6.33 KVD-05 [ 35 |34[05|
~ 6-5; KVD-10 | 3.6 | 3.5 (1.0
=
o
j
MOUNTING HOLE
THICKNESS 1.0~15
MOUNTING HOLE @3.0 MOUNTING HOLE @3.0
THICKNESS 1.1 THICKNESS 1.7
@45, 05+ 045 o5
e lag :
& e
[3e) [S2) o
e |7 EREN
f F
MOUNTING HOLE @3.0 ) MOUNTING HOLE @3.0
THICKNESS 1.7~2.0 PIN THICKNESS 1.7 PIN
BODY BODY
Part No. Package Part No. A | Package
MSPC3-3.2L | 1000 MSPC332 | 16] o
MSPC3-3.2M | 3.0
MOUNTING HOLE @3.0
THICKNESS 1.6
©
~ @5 - - @57
SN
B ]
? Part No. A B | Package
< o MSPF3-6.4 | 6.35 [15.75
| MSPF3-8 79 [17.3
U 2 MSPF3-10 100 [19.4 | 2000
b : MSPF3-12.7 127 |22.1
MOUNTING HOLE @30 PN MSPF3-159 [159 |25.3

THICKNESS 1.6
BODY



R BB ZPCRAMEMKE » E TR

ol 18 =2 s F¥ 2 ak o
+ Material: Nylon 66 (UL) THE  SLEMIXR

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
 Unit: mm

- Patented (% #] &)

MOUNTING HOLE @3.2
THICKNESS 1.6

@5 @5+,
FHER
EE’%SS < o PartNo. | A | B | Package
ﬁﬁ) MSPP-3 |3.0 100
< MSPP-4 [4.0/11.0| 1000
e ;|
MOUNTING HOLE @3.2

PIN MSPP-5 | 5.0]12.0
THICKNESS 1.6

BODY

A PCREPCHRE Z B E » RAEERH -

« Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
« Color: Natural/Black

+ Unit: mm
MOUNTING HOLE @3.2
THICKNESS 0.9 <o
Wl = 6
| 4
»
o
MOUNﬂNG?OLE @32 PIN 7 Part No. Package
BODY
MOUNTING HOLE @3.3
MOUNTING HOLE @3.3 THICKNESS 1.6 .
THICKNESS 1.57 P o5 - 2
o g5 - @3.8 %J% H
BEL 1T I
| = o ® o o
YR w I
lpue J
AR 262 8 L
@62 - : - PIN
MOUNTING HOLE @32 PIN MOUNTING HOLE @3.2
THICKNESS 1.72 THICKNESS 1.8
BODY BODY
Part No. Package Part No. Package
MSPB-8 1000 MSPB-8L 1000

MOUNTING HOLE @3.3
THICKNESS 1.6

W Q)sicg

T Part No. Package
2 MSPF3.3-8L | 1000
T

MOUNTING HOLE @3.3
THICKNESS 2.44

BODY




AR : PCREPCHRHIZ B E » FAEZEMH

« Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm

MOUNTING HOLE @3.3
THICKNESS 1.6

"QS

Al

5 %

A
3

- |
© L Part No. A B | Package
MSPF3.3-8 8.0(17.35
MOUNTING HOLE @3.3 PIN 2000
THICKNESS 1.6 MSPF3.3-17.5 [17.5]26.3
BODY
MOUNTING HOLE @3.3 MOUNTING HOLE 3.3
MOUNTING HOLE @3.3 THICKNESS 2.2 THICKNESS 1.6 o
THICKNESS 1.6 42 ~05-, 4.2 @5
@5 1
_ ml e F[“’
= o 2 ~
o~ =
¥ 0 g L g
. = PIN « PIN
MOUNTING HOLE @3.3 PIN MOUNTING HOLE @3.3 MOUNTING HOLE @3.3
THICKNESS 1.6 THICKNESS 1.6 THICKNESS 1.6
BODY BODY BODY
Part No. Package Part No. Package Part No. Package
MSPCA-16 1000 MSPCA3.3-12 1000 MSPCA3.3-12S | 1000
« Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
- Color: Natural/Black
« Unit: mm
- Patented (& #| &%)
a5
MSPO-1216C %ﬁ MOUNTING HOLE @3.3
MSPO-12168s — || THICKNESS 1.6
MOUNTING HOLE 3.3 ©
THICKNESS 2.2 MOUNTING HOLE @3.3 =
@5 ﬂ@S THICKNESS 1.6 ' MOUNTING HOLE @3.3
42 gs =7 1 THICKNESS 2.2
3.8 o~
> ﬁ% MSPO-1216A — | L MOUNTING HOLE @33
& THICKNESS 1.6
~ «©
S =z
3.8 = ‘ Part No. Part No. Package
MOUNTING HOLE @3.3 *(—2*5:%4.2 MSPO-1216A
THICKNESS 1.6 < MSPO-1216S | MSPO-1216BS | 1000
[ MSPO-1216A ] [ MSPO-1216C ] [ MSPO-1216BS ] MSPO-1216C




AR : PCREPCHRHIZ B E » FAEZEMH

- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0

+ Color: Natural/Black MOUNTING HOLE @4.0

* Unit: mm THICKNESS 1.6
Q7+ ~
<«
©
PIN - Patented (& #] &)
MOUNTING HOLE @7.0
THICKNESS 0.8~1.6 222207' Pj%%aoge
BODY
£5
2 ~ MOUNTING HOLE @3.2
% J%j %gw&% H1%LE 232 % ﬁ | THICKNESS 16
T | -
<t
0
~ 9P — MOUNTING HOLE 232
N /| THICKNESS 05
%{ % /] MOUNTING HOLE 052 3
THICKNESS 1.0 -
L
= Part No. | A | Package
Part No. Package DMSB-5 |5.0 1000
MSPS3S-7.5 | 1000 DMSB-8 |8.0
<«
1 MOUNTING HOLE @32

THICKNESS 1.6

Part No. A | Package
DMSS-28 |28.6 1000

MOUNTING HOLE @3.2 DMSS-38 | 38.1
THICKNESS 1.6

=i

1.8u

MOUNTING HOLE @3.2
THICKNESS 1.6

1 LAGEL

MOUNTING HOLE @3.2 ronto. | A Padkage
: MSP3-14 | 14.3
: THICKNESS 1.6 MSP3159 159
- MSP3-16 16.0
Part No. A | Package MSP3-17 17.5
MSP3-3 3.2 MSP3-19 19.1
‘ MSP3-4 4.0 MSP3-20 20.6
% e MOUNTING HOLE @3.2 MSP3-5 48 MSP3-21  [21.0
3 THICKNESS 1.73 MSP3-58 | 5.8 MSP3-22  [222] o
ol MSP3-6 6.4 MSP3-25 254
T MSP3-8 79! 1000 MSP3-27  [27.0
— MSP3-8.5 8.5 MSP3-28 28.5
% %j MOUNTING HOLE @3.2 MSP3-95 | 95 MSP3-29.2 [29.2
& THICKNESS 16 MSP3-10 | 10.0 MSP3-31.7 |31.7
- MSP3-11 | 11.1 MSP3-31.8 [31.8
Part No. | Package MSP3-12S |12.0 MSP3-34 34.9
MSP3-8L 1000 MSP3-12 | 12.7 MSP3-38 38.1




AR : PCREPCHRHIZ B E » FAEZEMH

- Material: Nylon 66 (UL)

- Flame Class: 94V-2/94V-0 FEUI | (A L PG S

- Color: Natural/Black MSPS3-1.2 1.2 2000
- Unit: mm MSPS3-3S | 3.0
MSPS3-32 | 3.2
MSPS3-32S | 3.2
MOUNTING HOLE @32  MOUNTING HOLE @32 | MSPS3-4 | 4.0
THICKNESS 0.8 THICKNESS 1.6 MSPS3-48 | 4.8
~ — MSPS3-64 | 6.4
i il o MSPS3-8 | 7.9
- 2 MSPS3-87 | 87

<C <

= Ta MSPS3-95 | 9.5

8 MSPS3-11.1 [ 11.1] 1000

ih

S qE MSPS3-12.7 | 12.7

MOUNTING HOLE @32  MOUNTING HOLE @32 | MSPS3-14.3 143
THICKNESS 0.8 THICKNESS 1.6 MSPS3-15.9 |15.9

[ MSPS3-35, MSPS3-3.25 ] MSPS3-19.1 |19.1
MSPS3-20.6 | 20.6
MSPS3-222 |22.2
MSPS3-25.4 | 25.4
MSPS3-31.8 |31.8
MSPS3-34.9 |34.9

MOUNTING HOLE @3.2
THICKNESS 1.6

172

Lfﬂ—lSS

@ ‘_ Part No. | Package
i MSPL-11 1000

MOUNTING HOLE @3.2

THICKNESS 2.4

MOUNTING HOLE @3.2
THICKNESS 1.7

NP
195

1.9

Part No. | Package
J MSPMA-12 | 1000
7.1

MOUNTING HOLE @3.2
THICKNESS 2.7

MOUNTING HOLE @3.3
THICKNESS 0.8

4 b

1.5

45

% % Part No. | Package
~— 26— 2 DMSC-4.5 | 2000

~

MOUNTING HOLE @3.3
THICKNESS 0.8




At PCHREPCRMZEE » FAEZRH -

- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

 Unit: mm
MOUNTING HOLE @3.3 MOUNTING HOLE @3.3
THICKNESS 1.6 THICKNESS 1.6
] -
<C
b
% 4
[3)
48 S
MOUNTING HOLE MOUNTING HOLE
THICKNESS: T THICKNESS 2.7~3.3
Part No. A | B| C | T | Package Part No. A | Package
MSPD-79 | 79(4.11(26 |2.16 MSPN-9 9.0 1000
MSPD-7.9S| 79(4.1[255|1.6 MSPN-12 |12.0
MSPD-79L| 7.9|4.1]255]|2.34 1000
MSPD-12 [12.0| 4.1 |2.55]|2.16
A MSPD-12M [12.0| 4.0 | 2.55 | 2.7
MSPD-16 [16.0| 4.1 |2.55|2.16
MOUNTING HOLE @3.3
MOUNTING HOLE @4.3
THICKNESS 1.6~1.7 THICKNESS 1.6~1.7
©
p
L7.4a 3 ~T4 8
MOUNTING HOLE @3.2 MOUNTING HOLE @4.0
THICKNESS 1.7~2.1 THICKNESS 1.7~2.5
Part No. | Package Part No. | Package
MSPH-7.5 1000 MSPH-6.8L 1000

MOUNTING HOLE @3.3
THICKNESS 1.6

Part No. | Package

R—
L Tk MSPQ-16 | 1000
98— &

N

48
MOUNTING HOLE
THICKNESS 1.8~2.0




- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0

AR : PCREPCHRHIZ B E » FAEZEMH

MOUNTING HOLE @4.0
THICKNESS 1.6

MOUNTING HOLE @3.9
THICKNESS 1.6

1.95 L‘ *‘ 3.2i 35 L

MOUNTING HOLE @3.9
THICKNESS 1.6

« Color: Natural/Black Part No. A | Package
+ Unit: mm MSP-3 3.2
MSP-4 4.0
MOUNTING HOLE @3.9 MOUNTING HOLE @40 | MSP-4.5 45
THICKNESS 1.6 THICKNESS 1.6 MSP-5 5.0
o MSP-6 6.3
—1 o MSP-7 7.0
= T MSP-8 8.0
< < MSP-9 9.5 1000
e
. T MSP-10 10.5
— 7 [ MSP-12 12.7
1 MOUNTING HOLE @4.0 | MSP-14 14.0
MOUNTING HOLE @3.9 THICKNESS 1.6 MSP-15 15.9
THICKNESS 1.6 MSP-15.95 1159
[ MSP-15.9S ] MSP-19 19.0
MSP-22 22.0
MOUNTING HOLE @4.0
THICKNESS 1.6
]
Y Part No. A | Package
A DMSP48 | 48
® DMSP-64 | 64| 1000
i DMSP-11.1 | 11.1
MOUNTING HOLE @4.0
THICKNESS 1.6
MOUNTING HOLE @4.0
THICKNESS 1.6
B Part No. A | B | C | Package
< DMSPS-5 5.0 4.3 |46
ﬁ"; DMSPS-6.4 64|44 |46
I DMSPS-7.9 794346 1000
DMSPS-12.7 | 12743 |46
o DMSPS-175 |175|4.3 |46
R DMSPS-17.58 |17.5| 4.2 | 4.25

MOUNTING HOLE @3.96
THICKNESS 1.58

dh

S

N

f

™~
o
N

SR

MOUNTING HOLE @3.96
THICKNESS 1.58

Part No.

Package

MSPV-3

1000

+ Color: Green
Part No. Package
*MSPY-12.7| 1000




AR : PCREPCHRHIZ B E » FAEZEMH

- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

THICKNESS 1.6
MOUNTING HOLE @4.0
THICKNESS 1.57
'
<
<

L

24

A

up
24

<
i MOUNTING HOLE @4.0
MOUNTING HOLE @4.0 THICKNESS 1.6
THICKNESS 1.57 PartNo. | A | Package
Part No. | Package MSPM-5 4.8 1000
SP1-4.8 2000 MSPM-24 |23.8

MOUNTING HOLE @4.8
THICKNESS 1.6

MOUNTING HOLE @4.8
THICKNESS 1.6
MOUNTING HOLE @4.0

THICKNESS 1.6 MOUNTING HOLE @4.0

THICKNESS 1.6

MOUNTING HOLE @4.0
THICKNESS 1.6

— 8
A — — 18 :
o~ j g T o~ —t <
N
8 ; i p 8 i
fi=— S N ol
o MOUNTING HOLE @4.8 MOUNTING HOLE @4.8

MOUNTING HOLE @4.0
THICKNESS 1.6

MOUNTING HOLE @4.8
THICKNESS 1.6

MOUNTING HOLE @4.8
THICKNESS 1.6

THICKNESS 1.6
[ MSPK4.8-4.8 ]

THICKNESS 1.6

[ MSPK45-4.8 ]

Part No. A | Package Part No. A | Package

MSP1-6.4 6.4 Part No. A | Package MSPK4.8-4.8 4.8

MSP1-9.5 9.5 MSPK45-4.8 48 MSPK4.8-6.4 6.4 2000
MSP1-10 10.0 MSPK45-6.4 6.4| 2000 MSPK4.8-9.5 9.5

MSP1-12.7 |12.7 MSPK45-9.5 9.5 MSPK4.8-12.7 |12.7

MSP1-15.9 |15.9| 1000 MSPK45-12.7 | 12.7 MSPK4.8-159 |15.9

MSP1-17 17.0 MSPK45-15.9 |15.9 MSPK4.8-19.1 | 19.1

MSP1-19.1 |19.1 MSPK45-19.1 | 19.1| 1000 MSPK4.8-22.2 |22.2 1000
MSP1-22.2 |22.2 MSPK45-22.2 | 22.2 MSPK4.8-25.4 |25.4

MSP1-25.4 |25.4 MSPK45-254 | 25.4 MSPK4.8-31.7 |31.75

MOUNTING HOLE @4.0

MOUNTING HOLE @3.0 THICKNESS 1.6

THICKNESS 1.6 MOUNTING HOLE @4.0

THICKNESS 1.6

jl
1

N
-

MOUNTING HOLE @3.0

THICKNESS 1.6 MOUNTING HOLE @4.0

THICKNESS 1.6

MOUNTING HOLE @4.0
THICKNESS 1.6

Part No.
SSDUA-16.5

Part No.
DMSA-9

Part No.
SSDU1-3.5

Package
1000

Package
1000

Package
1000




AR : PCREPCHRHIZ B E » FAEZEMH

- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit: mm
MOUNTING HOLE @5.2
THICKNESS: T
i+
T r
G
<
| |
1 [ J PatNo. | A | B | C | T | Package
2 SSDU-9.2 | 9.2 |1.55/1.55]| 1.6 1000
‘463.2 SSDU-9.6 | 9.6 |1.85/1.85| 1.2
MOUNTING HOLE @5.2
THICKNESS: T
@2.5
|
3| T
N~
@ PartNo. | Package
Jh— MSPE-7 | 1000

MOUNTING HOLE @3.2
THICKNESS 1.6

x MOUNTING HOLE @3.0
THICKNESS: T

PartNo. | A | B | C T Package
LCVU-8 | 8.0(3.7 3.7 [1.2~1.8
LCVU-9 | 9.0/3.55|3.55| 2.0 1000

MOUNTING HOLE @3.0 LCVU-10 [10.0 (3.7 |3.7 |[1.2~1.8
THICKNESS: T

i
o MOUNTING HOLE @3.0 —t MOUNTING HOLE @3.0
mﬁ THICKNESS: E ' THICKNESS: E
- i
L= <
o T
w%r MOUNTING HOLE @3.0 7& MOUNTING HOLE @3.0
7(?1 THICKNESS: T THICKNESS: T
PartNo. | A | B E T Package PartNo. | A| B | C E T Package
LCVA2 |20(31| 16 |0.8~10 LCV-25 |25|34 |34 1.6 1.6
LCVA-25 | 25|3.0/08~1.0| 1.6 2000 LCV-3 |3.0]355|355| 16 1.6 1000
LCVA4 |40(31| 16 |0.8~10 LCV-5 |5.0(34 |34 1.8 1.8
LCVA5 |50(|31| 16 [08~10 LCV-6 |6.0/36 |36 |1.2~1.7|0.8~1.0

MOUNTING HOLE: @G
THICKNESS 1.2~1.7

PartNo. | A | G | Package
LCJ-14 | 140 3.0
LCJ-15 |15.0] 3.2
LCJ-19 [19.0] 3.0

MOUNTING HOLE: @G LCJ-21 |21.0] 3.0
THICKNESS 1.2~1.7

1000




AR : PCREPCHRHIZ B E » FAEZEMH

- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit: mm
[ce]
ﬁ‘\" #/Il_(ag%lé\lsesqom 035 Part No. A T Package
T LCL-6 6.0 | 1.2~17
< LCI-6.5 6.35 | 1.2~1.7
i J LCL7 70 | 1217
o — ¥|—%ELE\ISGS -I-"rOLE @3.5 LCI-8 80 |1.2~17
|| MOUNTING HOLE @30 S ' LCL9 90 |12~17
THICKNESS 1.2~1.6 LCI-10 100 | 1.2~1.7
j‘_ Part No. A T Package LCI-10L 10.0 2.38 1000
j LCI-2.5 25 | 1.2~17 LCI-11 1.0 |1.2~1.7
LCI-3 3.0 | 1.2~1.7 LCI-12 120 | 1.2~1.7
— MOUNTING HOLE @4.0 LCI-35 | 35 [12-17 LCI15  [150 [1.2~17
S THICKNESS 3.6~4.0 LCI-4 | 40 [12~17 | 2000 LCI-15(2) | 150 | 1.6~24
! LCI-4.5 45 | 1.2~1.7 LCI-20 200 | 1.2~1.7
Part No. | Package LCI-5 50 | 1.2~1.7 LCI-22 220 | 1.2~1.7
LCX-31 2000 LCI-5.5 55 | 1.2~17 LCI-30L |30.0 |1.6~24 500

MOUNTING HOLE @3.5
THICKNESS 1.6

MOUNTING HOLE @35 FEIULG, RO
THICKNESS 1.6 LDE-33 1000

MOUNTING HOLE @3.4
THICKNESS 1.2~1.7

Part No. | Package
LCIA-3.5 1000

MOUNTING HOLE @3.7
THICKNESS 1.2~1.7

MOUNTING HOLE @4.0
THICKNESS 1.2~1.6

Part No. | Package
MOUNTING HOLE @4.0 -
THICKNESS 0.8 LCK 1000




g : PCAREPCREZ B E » R4k 2R o
- Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
. Co!or: Natural/Black Ll?g_:\l;' 12A7 eichage
+ Unit: mm :
LCC-14 [14.0
LCC-15 [159
LCC-18  [18.0
LCC-19 [19.0
PartNo. | A | Package LCC-20 |20.0
LCC-3S | 3.0 LCC-25 [25.0| 1000
LCC-3 35 LCC-25.4 |25.4
MOUNTING HOLE @40 | LCC-4 4.0 LCC-27 |[27.0
THICKNESS 1.2~1.7 LCC-5 50| 200 LCC-30 |30.0
. LCC-6S | 6.0 LCC-3 | 340
— LCC-6 6.4 LCC-40 [40.0
T LCC-7 7.0 LCC-45 |45.0
< LCC-8 8.0 LCC-55 |[55.0
L LCC95 | 95 LCC69 |69.0
7; LCC-10S [10.0| 1000 LCC71 [712] oo
L LCC-10 |105 LCC-72 [720
MOUNTING HOLE gao | LCC-115 [ 115 LCC-74 |74.2
THICKNESS 1.2~1.7 LCC-12S [12.0 LCC-80 80.0
PartNo. | A | Package
E— LCBM-3 | 3.0
[ 5 TGRS YT 20 [ioama [ 40
S LCBM-6 | 6.0
=] < LCBM-8 | 8.0
— f LCBM-10 [10.0| 1000
&* ~ MOUNTING HOLE @4.8 LCBM-12 [12.0
V)3 THICKNESS 16 LCBM-14 1140
LCBM-16 | 16.0
LCBM-18 [18.0

3.1

| MOUNTING HOLE @4.0
— THICKNESS 1.6

19

Part No. | Package

MOUNTING HOLE @4.8 LCBM-19L 1000
THICKNESS 2.4

3.7 4=

MOUNTING HOLE @2.8
MOUNTING HOLE @2.6 THICKNESS 1.6

THICKNESS 1.0

"

B VE

L o g

o

B 1z

. !

o, 94

o o

N
MOUNTING HOLE @2.8 MOUNTING HOLE ©2.8

THICKNESS 1.6 THICKNESS 1.6
Part No. | Package Part No. | Package

MSPA-1.6 2000 MSPA-6.3L | 1000




AR : PCREPCHRHIZ B E » FAEZEMH

- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit: mm
MOUNTING HOLE @3.0 MOUNTING HOLE @3.2
THICKNESS 4.0 THICKNESS 1.6
@ "
T ]
| 3
1] & i
_
e o[t
—7 *
MOUNTING HOLE @3.2
mgw&% '}'%LE 230 THICKNESS 2.6
Part No. | Package Part No. | Package
LMSA-6 1000 *LMSE-4.8| 1000

« Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
 Unit: mm

MOUNTING HOLE @3.2
THICKNESS 1.6

: Part No. | Package
MOUNTING HOLE @3.2
THICKNESS 1.0~1.2 LMSB-4 1000

MOUNTING HOLE @3.2
THICKNESS 1.6~1.8

e T P

PartNo. | A | Package
LMSP-8 7.9

LMSP-9.5 | 95| 1000
MOUNTING HOLE @3.2
THICKNESS 1.6 LMSP-16 |15.9

- Material: Nylon 66 (UL)

» Flame Class: 94V-2/94V-0

+ Color: Natural/Black

 Unit: mm MOUNTING HOLE @3.5
MOUNTING HOLE @3.2 :
THICKNESS 1.6~17 THICKNESS 1.6

W

3 o

2 |

— 1

i =

< i

= T

N

J

MOUNTING HOLE @2.0 MOUNTING HOLE @2.6

THICKNESS 1.0~1.2 THICKNESS 1.6
Part No. | Package Part No. | Package

LCPL-6.4 1000 LCPLB-11 1000




AR : PCREPCHRHIZ B E » FAEZEMH

- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

 Unit: mm MOUNTING HOLE @33
THICKNESS 1.6-2.1

N

— 4.3

22

Part No. | Package

j LCOA-28.8 | 1000
3.2

MOUNTING HOLE @3.3
THICKNESS 1.6

s

25

- Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0

+ Color: Natural/Black

« Unit: mm MOUNTING HOLE @4.0
THICKNESS 1.6

Part No. | Package
LCSF-15 1000

EQAL 15 9.4

MOUNTING HOLE @4.0
THICKNESS 1.6

+ Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0

« Color: Natural/Black MOUNTING HOLE @3.0
+ Unit: mm THICKNESS 1.6 '

Part No. T Package
LCGA-14 |0.8~1.0
LCGA-14S | 0.6 1000

MOUNTING HOLE @3.0
THICKNESS: T

« Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0

« Color: Natural/Black MOUNTING HOLE @3.0
« Unit: mm THICKNESS 1.2~1.6

Part No. | Package
CBSA-13 1000

MOUNTING HOLE @3.0
THICKNESS 1.2~1.6



AR : PCREPCHRHIZ B E » FAEZEMH

- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0

+ Color: Natural/Black MOUNTING HOLE @3.0
 Unit: mm THICKNESS 1.2~2.0
S 1 S
I <
MOUNTING HOLE @3.0 J
THICKNESS 1.2~2.0 &

[Se)

OIO
N MOUNTING HOLE @3.5
% < THICKNESS 1.6~2.0

S o Part No. A | Package

! LCFO-3 3.0
LCFO-3.5 3.5
THICKNESS 1220 LCFo4 | 40
LCFO-4.8 4.8
Part No. A | Package Part No. A | Package LCFO-6 6.0
LCF-3 3.2 LCF-11 1.2 LCFO-6.4 6.4

LCF-4 4.0 LCF-12 12.0 LCFO-7 7.0 1000
LCF-5 5.0 LCF-144 | 144 LCFO-8 8.0
LCF-6S 6.0 LCF-15 15.0 LCFO-9 9.0
LCF-6 6.35| 1000 LCF-16 16.0 1000 LCFO-10 10.0
LCF-7 7.0 LCF-17 17.0 LCFO-115 | 115
LCF-8 8.0 LCF-20 20.2 LCFO-12.7 | 12.7
LCF-9 9.5 LCF-22 22.0 LCFO-14 14.0
LCF-10.6 |10.6 LCF-25 254 LCFO-16 16.0

©
SN
j MOUNTING HOLE @3.5
THICKNESS 1.0

Part No. | Package
CBCS-14 1000

MOUNTING HOLE @3.5
THICKNESS 1.6

Part No. A | Package
LCD-3 321 o000
L MOUNTING HOLE @35 LoD4 10
7 THICKNESS 16 LCD-5 4.8
LCD-6 6.4
LCD-7 7.0
< LCD-8 8.0
LCD-9 9.6
"0 MOUNTING HOLE @35 LeD-1_ | 1.2 150
! THICKNESS 0.8~2.0 LCD-12 | 127
0 LCD-14 | 14.0
LCD-16 | 16.0
LCD-18 | 18.0
LCD-19 | 19.1
LCD-27 | 275




AR : PCREPCHRHIZ B E » FAEZEMH

- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit: mm
MOUNTING HOLE @3.5
THICKNESS 2.0~2.5
]
MOUNTING HOLE @3.5 L
THICKNESS 1.6~2.0 M.ﬂgEL'ENS% "1'%%0@35 o
a1 i I
N[z = PCB A VR ﬂﬁ PCB 2 1"7%
r S= I =
=7 S DA
: 2 pep 7S | e 8 = MOUNTING HOLE @35
@ .C. N7 U PCB 4 42 THICKNESS 2.0~2.5
MOUNTING HOLE @35 MOUNTING HOLE @3.5
THICKNESS 1.6~2.0 THICKNESS 1.6~2.0
PartNo. | A | D | Package PartNo. | A | D | Package Part No. D | Package
LCO-5 50136 LCO-10 [10.0| 8.6 LCO-10L |10.1 1000
LCO-64 |64 |50 1000 LCO-11 [11.0] 9.6 1000 LCO-10.5L [10.5
LCO-8 8.0 |47 LCO-12.7 [12.7|11.3
LCO-15.9 [15.9/14.5

MOUNTING HOLE @4.0
THICKNESS 1.6

2
‘3.5

5‘«%8.1%*

Part No. | Package

£

LCFB-8 1000
MOUNTING HOLE @4.0
THICKNESS 1.6
MOUNTING HOLE @4.0 MOUNTING HOLE @4.0
THICKNESS 1.6 THICKNESS 0.8~1.7
'
i T
! 1
| <

J

f

MOUNTING HOLE @4.0
THICKNESS 1.6 MOUNTING HOLE @4.0

THICKNESS 0.8~1.7

Part No. | Package Part No. A | Package
LCBJ-9 1000 LCTA-4.8 | 48| 2000
LCTA-12.7 |12.7 | 1000




g : PCAREPCREZ B E » R4k 2R o
- Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0 MOUNTING HOLE @4.0
+ Color: Natural/Black THICKNESS 1.0
« Unit: mm

w2 MOUNTING HOLE @4.0
Y THICKNESS 0.8~2.0

T
>
|
O 4

o MOUNTING HOLE @4.5
> THICKNESS 0.8~2.0 MOUNTING HOLE @4.8
THICKNESS 1.6

Part No. | Package Part No. | Package
LCT-9 1000 LCBD-12.7 | 1000

MOUNTING HOLE @4.0
THICKNESS: T Part No. A T Package

LCEO-5 4.80.8~2.0
LCEO-6 6.41]0.8~2.0
LCEO-8 7.910.8~2.0
LCEO-9 9.5|0.8~2.0
LCEO-12 |12.7/0.8~2.0| 1000
LCEO-12L | 1.9 ]11.2~2.3
LCEO-15 [15.9]0.8~2.0
LCEO-19 [ 19.0]0.8~2.0

MOUNTING HOLE @4.0 LCEO-22 222 0.8~2.0
THICKNESS: T

MOUNTING HOLE @4.0
THICKNESS 1.6~2.0 MOUNTING HOLE @4.8
i THICKNESS 0.8~2.0

MOUNTING HOLE @4.8
THICKNESS 0.8~2.0

4
s
5 f Part No. A | Package
: f LCBY-4.8 4.8
MOUNTING HOL:E @4.8 1 LoB o o
THICKNESS 0.8~2.0 MOUNTING HOLE @4.8 — tgg??; 12? 1000
THICKNESS 0.8~2.0 o -1z, :
PartNo. | A | Package f LCBY-15.9 | 15.9
LCBZ-48 | 48| PartNo. | Package MOUNTING HOLE @48 | LCBY-19.1 | 19.1
LCBZ-6.4 | 6.4 LCBYR-4.8 | 1000 THICKNESS 0.8~2.0 LCBY-22.2 | 222

MOUNTING HOLE @2.0
THICKNESS 0.8~1.6

Part No. | Package
MADG-54 | 2000

MOUNTING HOLE @2.0
THICKNESS 0.8~1.6



MOUNTING HOLE @3.5
THICKNESS 0.8~2.0

MOUNTING HOLE @3.5
THICKNESS 0.8~2.0

[ cBSS-2S ]

AR : PCREPCHRHIZ B E » FAEZEMH

« Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit: mm
MOUNTING HOLE @3.0
THICKNESS 1.6
!
<
—
MOUNTING HOLE @3.0
THICKNESS 1.6
PartNo. | A | Package
LCA-6 6.3
LCA-8 8.0
LCA-10 | 10.0 | 1000
LCA-11 | 11.0
LCA-12 | 127

MOUNTING HOLE @3.0
THICKNESS 0.7~1.6

MOUNTING HOLE @4.0
THICKNESS 0.8~2.5

MOUNTING HOLE @3.5
THICKNESS 0.8~2.0

MOUNTING HOLE @3.5

E—
> THICKNESS 0.8~2.0

f

Part No. A | Package
CBSS-2 2.1
CBSS-2S 2.1
CBSS-2.2 2.2
CBSS-4.8 48
CBSS-7 7.0 | 2000
CBSS-10 10.0
CBSS-12.7 | 12.7
CBSS-14 14.0
CBSS-17 17.0

MOUNTING HOLE @3.0
THICKNESS 0.8~2.0

345~ A »2.8\’

f

MOUNTING HOLE @4.0
THICKNESS 1.2~2.6

PartNo. | A | Package
LCH-3 3.5
LCH-4 4.0
LCH-5 5.0
LCH-6 6.3
LCH-7 7.4
LCH-8 8.5 1000
LCH-10 | 10.0
LCH-11 | 11.0
LCH-12 | 12.7
LCH-15 | 15.9
PartNo. | A | Package
LCH-8S 8.0
LCH-10S | 10.0 | 1000
LCH-15S | 13.0

THICKNESS 1.6

THICKNESS 1.6

Part No. A | Package
CBLSS-6 4.2
CBLSS-8 6.2
CBLSS-10 8.2

CBLSS-12 | 10.2

CBLSS-13 1.2

CBLSS-14 | 122 | 1000

CBLSS-16 | 14.2

CBLSS-16.8 | 15.0

CBLSS-18 | 16.2

CBLSS-20 | 18.2

CBLSS-42 | 40.2

MOUNTING HOLE @4.0

MOUNTING HOLE @4.0




Ak BEPCRH#RE > £ THEGIF

- Material: Nylon 66 (UL) i
+ Flame Class: 94V-2/94V-0
« Color: Natural/Black
+ Unit: mm MOUNTING HOLE @4.0
MOUNTING HOLE @4.0 THICKNESS 0.8~1.7
THICKNESS 0.8~1.7
MOUNTING HOLE @4.8
MOUNTING HOLE @4.8 ~
THICKNESS 0.8~1.7 THICKNESS 18-2.7
Part No. | Package Part No. | Package
LCBSA-28.5 500 LCBSA-20L 500
« Material: Nylon 66 (UL) Rig : PCAREPCARMZ B E » FA4EZRH -

+ Flame Class: 94V-2/94V-0
« Color: Natural/Black

+ Unit: mm
&  MOUNTING HOLE @4.0
i THICKNESS 1.6
S Part No. | Package
LCL-3.2 2000
~—  MOUNTING HOLE @4.0
7‘;’ THICKNESS 0.8
- Material: Nylon 66 (UL) Rig : BRPCRA#AR L » 2 T A H3F
+ Flame Class: 94V-2/94V-0 & o
« Color: Natural/Black
+ Unit: mm
PartNo. | A | Package
MOUNTING HOLE @4.0 LCBS | 50
THICKNESS 1.6 LCB-6 6.3
LCB-8 8.0
LCB-10 |10.0
LCB-12 |12.7 1000
LCB-15 |15.9
MOUNTING HOLE @4.8 LCB-20 [20.0
THICKNESS 0.8~2.0 LCB25 |25.0

MOUNTING HOLE @4.0 MOUNTING HOLE @40 | artNo. | A | Package
THICKNESS 1.6 THICKNESS 1.6 CBS-38 | 38
CBS5 | 46
© CBS-6 6.3
CBS-8 7.93
CBS-9 9.2
CBS-12 | 125

cBs-15 |157 | 100

CBS-19 | 19.0
CBS22 |220
MOUNTING HOLE @4.0 MOUNTING HOLE @48 | CBS-25 | 254
THICKNESS 0.8~2.2 THICKNESS 0.8-2.2 oS08 1285
[ CBSB-45 ] CBSB-45 | 45.0




Rk B ZPCRAMMMK L » £ 1A HIF

- Material: Nylon 66 (UL) i
. - Flame Class: 94V-2/94V-0
_ . « Color: Natural/Black Part No. A | Package
B e - Unit: mm LCBS-4 4.0
LCBS-5 | 5.0
—'L MOUNTING HOLE @4.0 LCB3D | 8%
: LCBS-7 | 7.0
THICKNESS 1.6 cpsg 199 1000
LCBS-10 | 10.0
LCBS-12 | 125
LCBS-15 | 15.7
LCBS-19 | 19.0
LCBS-20 | 20.0
LCBS-22 | 22.0
LCBS-25 | 254
LCBS-28 | 286 500
MOUNTING HOLE @4.8 LCBS-30 | 30.0
THICKNESS 0.8~2.2 LCBS-35 | 35.0
LCBS-38 | 38.0
LCBS-45 | 45.0
& MOUNTING HOLE @4.0 Part No. A | Package
o THICKNESS 1.6 LCBB-6.35 | 635
LCBB-95 | 95
< LCBB-12.7 | 12.7
LCBB-15.9 | 15.87| o0
MOUNTING HOLE @4.8 LCBB-22.2 | 22.22
% THICKNESS 20 LCBB-254 | 254
MOUNTING HOLE @4.0 PartNo. | A | B | C | Package
THICKNESS 1.2~2.0 VCBS-9 59 9.8

VCBS-11 75| 114140
VCBS-14 | 105 | 144 | 4.0
1 VCBS-16 | 12.7 | 16.6 | 4.0
< m VCBS-17 | 13.8 | 17.7 | 4.0

| VCBS-20 | 17.0 | 20.9 | 40 | 1000
!

]

=N

VCBS-24 | 202 | 24.1 | 45
VCBS-27 | 233 | 27.2 [ 45
OUNTING HOLE 045 VCBS-30 | 265 | 304 | 45
THICKNESS 0820 VCBS-33 | 297 | 336 | 45
VCBS-39 | 36.0 | 399 | 45

MOUNTING HOLE @4.0 Part No. A B C | Package
THICKNESS 1.2~2.0 VCBSL-9 50| 98
| VCBSLAT | 66| 114 | 40
' VCBSL14 | 956 | 144 | 40
VCBSL6 | 1.6 | 166 | 4.0
VCBSLA7 | 12.9 | 17.7 | 40
VCBSL-24 | 19.3 | 241 | 45
VCBSL27 | 224 | 272 | 45
VCBSL-30 | 25,6 | 304 | 45

VCBSL-33 | 28.8 | 336 | 45
e VCBSL39 | 35.1| 39.9 | 45

1000




Ak BEPCRH#RE > £ THEGIF

- Material: Nylon 66 (UL) i

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
 Unit: mm

MOUNTING HOLE @4.0
THICKNESS 1.6~2.0

PLASTIC BODY

SPTE METAL

48— Part No. Part No. Package
' VCBA-14.4ST
MOUNTING HOLE @4.8 VCBA-14.4F 1000
THICKNESS 1.0-2.0 VCBA-144
MOUNTING HOLE @2.0 PartNo. | A | Package
THICKNESS 1.6 LCMA32 | 32
TN LCMA-4.8 | 4.8
LCMA-64 | 6.4
LCMA-79 | 7.9
LCMA-95 | 95
LoMAt1 [11.1] 100
LCMA-12.7 [12.7
LCMA-14.3 |14.3
MOUNTING HOLE 23.0~32 LCMA-15.9 | 15.9
THICKNESS 0.8~2.0 LCMA-17  [17.0
MOUNTING HOLE @25
THICKNESS 1.6 Part No. A | Package
LCMD-32 | 32
i@%—? LCMD-48 | 48
{ LCMD-64 | 6.4
- LCMD-79 | 79
LCMD-95 | 95|
~ LCMD-11.1 | 11.1
T LCMD-12.7 |12.7
LCMD-14.3 | 14.3
LCMD-15.9 | 15.9
MOUNTING HOLE @3.0~@3.2
THICKNESS 0.8~2.0 LCMD-17 _ [17.0
* Material: Nylon 66 (UL) A% : PCAREPCHRE X B E » FA4EZH -

+ Flame Class: 94V-2/94V-0
« Color: Natural/Black
« Unit: mm

MOUNTING HOLE @2.5
THICKNESS 1.0~1.7

I

PartNo. | A | Package
< LCAB-12 |12.0
LCAB-14 |14.0 1000

~O
w—}, MOUNTING HOLE @3.0
& THICKNESS 1.0~1.7



Rk B ZPCRAMMMK L » £ 1A HIF

- Material: Nylon 66 (UL) i
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
« Unit: mm PartNo. | A | Package
LCG-3 3.2
LCG-5 4.8
3 LCG6 | 64
—+ MOUNTING HOLE @3.0
1 - LCG-8 7.9
—" THICKNESS 1.2~1.7 LCG9 95
{ LCG-11 1.1
< LCG-12 | 12.7
\ LCG-14 | 14.3 1000
LCG-15 | 15.9
MOUNTING HOLE @3.0 LCG-17 | 170
i‘ THICKNESS 0.8~2.0 LCG-18 180
' LCG-19 | 19.0
LCG-20 | 20.0
LCG-26 | 26.0
MOUNTING HOLE @3.0 MOUNTING HOLE @3.5
THICKNESS 1.2~1.7 THICKNESS 1.2~1.7
S o
4IL 4?
1 o
<< <C
|
}
® S
MOUNTING HOLE @3.0 t
THICKNESS 14-1.6 MOUNTING HOLE @4.8 MOUNTING HOLE @4.8
c"‘,';- THICKNESS 0.8~2.2 THICKNESS 0.8~2.2
R
1 PartNo. | A | Package PartNo. | A | Package
f LCBT-3 3.2 LCBU-3 3.2
s LCBT-5 4.8 LCBU-5 5.0
N LCBT-6 6.3 LCBU-6 6.3
LCBT-8 8.0 LCBU-8 8.0
& LCBT-10 | 10.0 LCBU-10 | 10.0
J LCBT-12 | 12.0 1000 LCBU-12 | 12.0 1000
MOUNTING HOLE @4.8~@5.0 LCBT-14 | 14.0 LCBU-14 | 14.0
THICKNESS 0.8~2.0 LCBT-16 | 16.0 LCBU-16 | 16.0
Part No. Package LCBT-18 | 18.0 LCBU-18 | 18.0
LCBUA-13.9 1000 LCBT-25 | 25.0 LCBU-25 | 25.0

S
<2 MOUNTING HOLE @4.0
— 1 THICKNESS 1.6

|
|
175

Part No. | Package
LCGB-17.5| 1000

5\\

MOUNTING HOLE 4.0
@. THICKNESS 0.5~1.2

3




MOUNTING HOLE @3.0
THICKNESS 1.6

=
B
|

MOUNTING HOLE @4.8
THICKNESS 0.8~1.6

Part No. A | Package
KLCBS-9.5 9.5
KLCBS-12.7 | 12.7
KLCBS-15.9 | 15.9 1000
KLCBS-19.1 | 19.1

« Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
 Unit: mm

Rk B ZPCRAMMMK L » £ 1A HIF

Fp oo

MOUNTING HOLE @4.0
THICKNESS 1.6

Part No.
LCBC-8

Package
1000

MOUNTING HOLE @4.8
THICKNESS 0.8~2.0

- Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
« Color: Natural/Black

« Unit: mm

MOUNTING HOLE @3.5
THICKNESS 1.6

MOUNTING HOLE @4.8
THICKNESS 0.8~1.6

Part No. A | Package

KLCBM-9.5 9.5
KLCBM-12.7 | 12.7
KLCBM-15.9 | 15.9
KLCBM-19.1 | 19.1

1000

- Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm

MOUNTING HOLE @4.0

THICKNESS 1.0

o

15.8

MOUNTING HOLE
THICKNESS 0.6~1.0

AR PCREPCREIZ B » R4&ZH >
T AR LR o

MOUNTING HOLE @4.0
THICKNESS 1.6

MOUNTING HOLE @4.8
THICKNESS 0.8~1.6

Part No. A | Package
KLCBL-9.5 9.5
KLCBL-12.7 | 12.7
KLCBL-15.9 | 15.9 1000
KLCBL-19.1 | 19.1

7.2
ﬁ®18

FMJ
PartNo. | A | Package
LCBA-5.6 | 5.6
LCBA-7.6 | 76 1000




Rk B ZPCRAMMMK L » £ 1A HIF

- Material: Nylon 66 (UL) i
» Flame Class: 94V-2/94V-0
» Color: Natural/Black Part No A Package
« Unit: mm X
LCSE-3.2 3.2
LCSE-4.8 48
@ ~ MOUNTING HOLE @3.2 LCSE-64 | 64
% THICKNESS 1.6~1.7 [csE79 1 79
LCSE-9.5 95
<C
| LCSE-11.1 | 111 1000
MOUNTING HOLE @30~g32 | LCSE-127 |127
1 THICKNESS 0.8-2.0 LCSE-14.3 | 14.3
e LCSE-15.9 | 15.9
LCSE-17 17.0

MOUNTING HOLE @4.0
THICKNESS 2.4

ik

MOUNTING HOLE @4.0 Part No. | Package
THICKNESS 24 LCSJ-16 1000

MOUNTING HOLE @4.0
THICKNESS 1.6

Part No. | Package

MOUNTING HOLE @4.7 LCSH-9.5 | 1000
THICKNESS 0.4~2.0

*‘4.6L 9.5~--9.6—~

MOUNTING HOLE @4.0
THICKNESS 1.6

PartNo. | A | Package
LCSA6.4 | 6.4 1000

MOUNTING HOLE @4.8 LCSA95 | 95
THICKNESS 2.0~3.6

! MOUNTING HOLE @4.0
THICKNESS 1.6

‘
A=

& MOUNTING HOLE @4.0
|l 2 THICKNESS 1.6
- # PartNo. | A | Package
< LCS-11 | 1.1 —& MOUNTING HOLE @4.8
f LCS12 | 127 /.5 THICKNESS 0820
@ MOUNTING HOLE @48 [ [cS16 | 15.9
‘> THICKNESS 0.8~2.0 '
T LCS-19 191 Part No. A | Package
LCS-22 22.2 HLCS-4.8 4.8
PartNo. | A | Package LCS-24 | 240 1000 HLCS-6.4 6.4
LCS-3 35 LCS-25 25.4 HLCS-9.5 9.5 1000
LCS-5 4.8 LCS-275 | 275 HLCS-12.7 | 12.7
LCS-6 6.0 1000 LCS-28 28.6 HLCS-15.9 | 15.9
LCS-6A | 64 LCS-31.1 | 311 HLCS-25.4 | 254
LCS-8 7.9 LCS-31.7 | 31.7 HLCS-40 40.0 500
LCS-9 9.5 LCS-35 34.9 HLCS-49 49.0




Rk B ZPCRAMMMK L » £ 1A HIF

- Material: Nylon 66 (UL) i

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
 Unit: mm
MOUNTING HOLE @4.0

THICKNESS 2.4 MOUNTING HOLE @4.0

THICKNESS: T

[ ]
[ ]

=
Nz

MOUNTING HOLE @4.8
THICKNESS 2.0~3.2

5.5L«95*

f Part No. A T Package
MOUNTING HOLE @4.8 LCSD-4.8 4.8 1.6
THICKNESS 1.6 LCSD-95 95 16
Part No. | Package LCSD-12.7 |12.7| 16 1000
LCSLR-9.5 | 1000 LCSL-4.8 | 4.8]20~3.2
MOUNTING HOLE @4.0
MOUNTING HOLE @4.0 ~
@ S THICKNESS 1.2~1.7 THICKNESS 1.2-1.7
)
+ Lo«
~ MOUNTING HOLE @3.5
O ©  THICKNESS 1.6
CL «© MOUNTING HOLE @4.8
U 3 /5 THICKNESS 08-25
:
o MOUNTING HOLE @4.0 Part No. | A | Package
W S THICKNESS 0.8~1.6 LCP79 | 79 MOUNTING HOLE @4.8
! THICKNESS 0.8~2.0
LCP-9 9.5 1000
Part No. | Package LCP-12.7 |12.7 Part No. | Package
LCPA-8.2 1000 LCP-22 |222 LCY-4.8 1000

MOUNTING HOLE @4.0
THICKNESS 1.6

Part No. A | Package
LCPD-6.35 | 6.35 1000

MOUNTING HOLE @4.8 *LCPD-9.5 |9.52
THICKNESS 2.0

~74——A——102—

SR PartNo. | A | Package
g MOUNTING HOLE @4.0 UCBS-5 4.8
@ T THICKNESS 1.2-17 UCBS:6 | 64
H I UCBS-9 | 95
T UCBS-12 [12.7| 1000
UCBS-15 | 15.9
Y UCBS-19 [ 19.1
S THICKNESS 08520 UCBS-22 | 22.2

MOUNTING HOLE @3.8
THICKNESS 1.6

Part No. | Package
UCBS-5A 1000

MOUNTING HOLE @4.8
THICKNESS 0.8~2.0




Ak BEPCRH#RE > £ THEGIF

- Material: Nylon 66 (UL) i

+ Flame Class: 94V-2/94V-0

+ Color: Natural/Black

 Unit: mm
MOUNTING HOLE @4.0
THICKNESS 1.2~1.7

Part No. B | T | Package
UCBSL-9 |[11.7]1.6

UCBSL-10 | 120] 22| 00
MOUNTING HOLE @5.4
THICKNESS: T
MOUNTING HOLE @3.3
THICKNESS 1.6
4.8~ ISe)
MOUNTING HOLE Part No. A Package
THICKNESS 1.8~2.0 LMSD-12 |12.0 1000
0 LMSD-16 |16.0
98+ 2
MOUNTING HOLE @4.0
THICKNESS 1.6
7.1
.
! 0
[Te)
i
| MOUNTING HOLE Part No. | Package
Q H 2 © THICKNESS 0.8~1.6 LCSI-10 1000
©
+ Material: Nylon 66 (UL) At : B RPCRAHAR £ » — AR AR
+ Flame Class: 94V-2/94V-0 4 s AR o
+ Color: Natural/Black FRA - TR
 Unit: mm

Part No. A L | Package
LCDS3-3 30140
LCDS3-4 40140
LCDS3-5 50140
LCDS3-6 6.0 | 6.0
LCDS3-7 70| 6.0
LCDS3-8 8.0 6.0
LCDS3-9 9.0 6.0 | 1000
LCDS3-10 | 10.0 | 6.0
LCDS3-11 | 11.0 | 6.0
LCDS3-12 | 12.0 | 6.0
LCDS3-13 | 13.0 | 6.0

LCDS3-14 | 140 | 6.0
MOUNTING HOLE @4.8
[ LCDS3'3; LCDS3'4 ] TH|CKNESS 0.8~2.5 LCD83-15 150 60

M3X0.5P




Rig : BEPCRA#MR L » — 38 E &

+ Material: Nylon 66 (UL) FRRA 0 T

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
+ Unit: mm

Part No. A | L | Package
LCDS4-3 3040
LCDS4-4 40140
LCDS4-5 50 4.0
LCDS4-6 6.0 6.0
LCDS4-7 70 6.0
LCDS4-8 8.0 6.0
LCDS4-9 9.0 6.0| 1000
LCDS4-10 | 10.0 | 6.0

M4X0.7P
M4X0.7P i

- ! 048
L T 15 4 LCDS4-11 | 11.0 | 6.0
* : W LCDS4-12 | 12.0 | 6.0
© - i LCDS4-13 | 13.0 | 6.0
L3 ¥ 65 -~ LCDS4-14 | 14.0 | 60
[ LCDS4-3, LCDS4-4 ] MOUNTING HOLE LCDS415 | 150160

THICKNESS 0.8~2.5

- Material: Nylon 66 (UL) Mg« —sm B R ERE > 5 —m 7
+ Flame Class: 94V-2/94V-0 PCAR » B % Traik 4% » PCIK
« Color: Natural/Black B3 o
+ Unit: mm ;
PartNo. | A | Package
LBS-3 3.2
— 1 f LBS-5 4.8
LBS-6 6.4
< LBS-8 7.9
LBS-9 9.5
LBS-11 | 11.1
o LBS-12 | 12.7 | 1000
~ LBS-14 | 14.3
T LBS-15 | 15.9
MOUNTING HOLE @3.0 LBS-17 | 17.0
THICKNESS 0.8~2.0 LBS-19 | 19.0
LBS-20 | 20.0
LBS-26 | 26.0
T
,‘\_ &
f
3 0
< <
f
MOUNTING HOLE @4.0 MOUNTING HOLE @4.5
THICKNESS 1.0~2.0 THICKNESS 0.8~2.0
Part No. | Package Part No. | Package

LASB-3.7 1000 LASD-8.3 1000




%
[Te)
MOUNTING HOLE @4.8
THICKNESS 0.8~2.0

- Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
 Unit: mm

MOUNTING HOLE @4.8

R+ —ERA#ARE > 7 —3% 3
PCig » 8 %, T [ 3 42 % » PCAR

R

26 [

@6~
i<
9]

3

1T

M <

|

]
e)

[ LASE-45] MOUNTING HOLE @3.5
THICKNESS 1.2~1.6

THICKNESS: T
Part No. A|C T Package PartNo. | A | B | Package
LASY-4.6 46(4.6|0.8~2.5 LASE-45 | 45| 35
LASY-9.3 9.3145|05~23 1000 LASE-7 7.0/ 6.0/ 1000
LASY-12.6 |12.6/4.5|0.5~2.3 LASE-12 |{12.0{11.0
LASY-15.9 |15.9(4.5|0.5~2.3
—| @5 [
l N
gy \ o
Ay )
< |
MOUNTING HOLE @3.5 MOUNTING HOLE @3.5
THICKNESS 1.6 THICKNESS 0.8~1.8
PartNo. | A | B | Package Part No. | Package
LASJ-17 [17.0/15.9 LASH-22 1000
LASJ-18 [18.0/16.9| 1000
LASJ-20 |20.0|18.9
PartNo. | A | Package Part No. A | Package ][ LL
LAS-3 35 LAS-19 | 19.1 e
LAS-5 4.8 LAS-22 222
LAS-6 6.0 LAS-24 |24.0| 1000
LAS-6A | 6.4 LAS-25 |254 e
LAS-8 7.9| 1000 LAS-27.5 |27.5 MOUNTING HOLE 24.8-05.0
LAS-9 9.5 LAS-28 |28.6 THICKNESS 0820 '
LAS-11 | 11.1 LAS-31.1 |31.1 500
LAS-12 |12.7 LAS-31.7 |31.7 Part No. | Package
LAS-16 |15.9 LAS-35 |34.9 LASA-9.5 1000
- Material: Nylon 66 (UL) Rig : —mBE AR E > 5 — 3% F8
+ Flame Class: 94V-2/94V-0 PCAR I o
- Color: Natural/Black
« Unit: mm
] ar.1 s THICKNESS 1.6

'

©
<
t

PCB ! PartNo. | Package

MOUNTING HOLE @4.8 LASL-4.8 1000
THICKNESS 1.6




AR —BEEAERLE B — 3 X

+ Material: Nylon 66 (UL) PCH > BRT K& RS » POK
+ Flame Class: 94V-2/94V-0 M S
« Color: Natural/Black
« Unit: mm
‘——T®4.7
SR
~
;:\:‘ |
f
MOUNTING HOLE @4.0 MOUNTING HOLE @3.0
THICKNESS 1.2~1.6 THICKNESS 1.6
Part No. | Package PartNo. | A | B | Package
LASF-18 1000 MSA-14.1 [14.1]22.3 1000
MSA-24.3 |24.3]|32.5
- Material: Nylon 66 (UL) At AHPCR R PHARES » #
« Flame Class: 94V-2/94V-0 EmWEE L o
« Color: Natural/Black
+ Unit: mm
MOUNTING HOLE @1.5
mg%g& W%LE o1.8 THICKNESS 1.6
ﬁ—( S
M1 E
< |
\ | < }
f
‘r <
(s J
N
/[ 4 @3
PartNo. | A | C | Package Part No. A | Package
MASD-0.8| 0.8 | 4.0 2000 MASS-2 2.0
MASD-2 | 2.0 |5.2 MASS-2.5 | 2.5
MASS-3 3.0
MASS-3.5 | 3.5
MASS-4 4.0 2000
MASS-5 5.0
MASS-6 6.0
MASS-6.5 | 6.5
MOUNTING HOLE @2.0
THICKNESS 1.6 MOUNTING HOLE @2.0 MOUNTING HOLE @2.0
THICKNESS 2.4 THICKNESS: T
Y
™ — @5 — “—TQ'].S
B ANE K
] 0
[oe]
(— l ! <
-3k 5 B
@4.8
l - @56
~— @4 —
PartNo. | A | T | Package
Part No. | Package Part No. | Package MAST-6 | 55/1.0 1000
MAL-8 1000 MASL-5.4 1000 MAST-18 |18.3| 1.6




A% ABPCR > B THARES » #
+ Material: Nylon 66 (UL) MW R4 o

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

 Unit: mm
MOUNTING HOLE @2.0
MOUNTING HOLE @2.0
THICKNESS 1.4 THICKNESS 1.6 MOUNTING HOLE 2.0
‘4_ THICKNESS 1.0
- N -t
- T >
: -
© f
o~ ~ [Ce)
P J iy
@4.8 L®4.8 a‘ 5 —
Part No. | Package Part No. | Package Part No. | Package
MABA-2.6 2000 MAB-4 1000 MA-2.8S 2000

MOUNTING HOLE @2.0
THICKNESS 1.6

MOUNTING HOLE @2.0
THICKNESS 1.0

Part No. A B | Package
MA-2.7DL | 2.7 |19
MA-3.5DL |35 | 175

A 2.05L

~ 03— MA-3.85DL | 3.85|1.9 2000
PartNo. | A | Package MA-45DL |45 |19
MA-2.58 | 2.5 2000 MA-5DL 50 |19
MA-3S-1 | 3.0 MA-6.5DL |65 |1.9

MOUNTING HOLE @2.5
THICKNESS 1.0

MOUNTING HOLE @2.0 PartNo. | A | B | H | T | Package

THICKNESS:T+ MA18 |18 |19 |42|16

xidl

- MA2 |20 |19 |42]16
— MA2L |20 |2.05]|48]20
¥
1 MA25 |25 |19 |41]16
< MA-25L |25 |20 |48]16 45—
n MA3 |30 |19 |48]16
—oH MA3SA |30 |18 [42]16 Part No._ 1A | Package
MAMS-15 | 1.5
MA-3S |30 |18 |42]16
MAMS-1.7 | 1.7 | 2000
MA32 |32 |19 |48]16 VA 150
MA-3.2-1 |32 |21 |48]16 '
MA-35 |35 |19 |42]16
MA-3.5L |35 |20 [48]16] 2000 MOUNTING HOLE @2.5
MA-3.75 | 3.75 | 2.0 |4.8| 1.6 THICKNESS 1.0

MA-4 40 [1.9 |48]16
MA-45 |45 |19 42|16
MA-47 |47 |19 48|16

i

MA-5 50 |19 [48/16 LL
MA-56 |56 |20 |42]16 ~
MAS |60 [1.9 |50[16 !
MA65 |65 [19 |50/(1.6 ~ ga4 -

MA-6.75 | 6.75|19 |50][1.6
MA-8 80 [19 |50/16 Part No. | Package
MA-9 90 |19 |50]16 MAMS-7.5 | 1000




A% ABPCKR B PHARES » #

% g o
+ Material: Nylon 66 (UL) ERciu)ERs
+ Flame Class: 94V-2/94V-0

) Sﬁ:gr:ml\rlnaturall Black Part No. A | Package
MOUNTING HOLE @2.6 MOUNTING HOLE @25 MAM-6.35L | 6.39
THICKNESS 16 THICKNESS 16 | MAM-68 | 68

; 3 MAM-7 7.0
< Y MAM-8 8.0
F@ MAM-84 [ 84 |
i i MAVE9 | 90
< < MAM-9.5 | 95
B! | MAM-11 | 11.1
- @43 - - g44 - MAM-12.7 [ 12.7
[ MAM-6.35L ] MAM-159 |159
MOUNTING HOLE @2.5 MOUNTING HOLE @2.5 PartNo. | A | Package
THICKNESS 1.6~1.8 THICKNESS 1.4~1.6 MAMA 5 115
I MAM-15L | 1.5
—1 — MAM-2 2.0
- ﬁ @ MAM-25 |25
gred T j MAM-2.6 | 26
@45 MAM-2.7 | 2.7
[ MAM-1.5L ) [ MAM-2.6 ] mmg 5 gg
MAM35 | 35| 2000
MOUNTING HOLE @2.5 MOUNTING HOLE @2.5
THICKNESS 1.6 THICKNESS 1.6~1.8 MAM-4 4.0
¢ MAM-45 | 45
— 4 | MAM-4.8 | 4.8
f~— MAM-5 5.0
< T MAM5.7 | 5.7
— < MAM-6 | 6.0
~ @45+ l MAM-64 | 6.4
[ MAM-4.8, MAM-6.4 ] ~04.5+
MOUNTING HOLE @3.0
THICKNESS: T MOUNTING HOLE @3.0
- THICKNESS: T
o R
J%T 7
il ;
{ <
v i
4 OH L ~@H~
[ DCC-208 ]
Part No. A B | H T Package
DCC-2 20 [31[50] 12~16
DCC-25 | 25|31]50] 12~16 | 2000
T DCC-27 | 27[31]50] 1.2~16
THICKNESS 1.6 DCC-3 30[31[50]12~16
- DCC-32 | 32[31]50][ 1.2~16
e, HOLE @2.7 7 DCC35 | 353150 1.2-16
. DCC-4 40(31]50]| 1.2~16
‘ DCC-45 | 45|31|50] 1.2~16
) DCC-5 503150/ 12~16
m e DCC-5S 50|26 |50/ 08~1.2 1000
{ DCC-55 | 553150 1.2~16
Brras DCC6 6.0 [ 3.1]5.0 | 1.2~16
- g7 — J a5k DCC62 | 62 |3.150 | 1.2~16
DCC-6.5 6.5(31|50]| 12~16
PartNo. | Package PartNo. | Package DCC-95L | 953160/ 1.2~16
MAMA-3.5 1000 MAL-34 1000 DCC-20S | 20.0 | 3.1 | 5.0 0.8




A& THEPCHR > P FARES » &
h g o

 Material: Nylon 66 (UL) E e 45

+ Flame Class: 94V-2/94V-0

+ Color: Natural/Black

 Unit: mm
MOUNTING HOLE @3.0
THICKNESS 1.6

Part No. | Package
DCE-4 1000

MOUNTING HOLE @3.5
THICKNESS 0.8~1.6

‘ PartNo. | A | Package
MCM-8 8.0
<C
i MCM-14.5 | 14.5 1000

MOUNTING HOLE @4.0
THICKNESS 1.2~1.6

MOUNTING HOLE @3.7 ﬂ
THICKNESS 1.6 :

5~

)
1
o]

Part No. | Package Part No. | Package
DCCA-4.3 | 1000 MCO-16 1000

Part No. A | B | T | Package
TCBA-10.5S | 7.5/ 6.0 | 1.0
TCBA-10.5 [10.0/8.0 [ 1.0 | 1000
TCBA-10.5L |10.0/ 8.0 | 1.6

MOUNTING HOLE @3.0
THICKNESS: T

120°
'
-l @434

MOUNTING HOLE
THICKNESS 0.8

Part No. | Package

DCCB-4.1 1000

MOUNTING HOLE @3.0~@3.18
THICKNESS 1.6



A& THEPCHR > P FARES » &
h g o

 Material: Nylon 66 (UL) E e 45
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
 Unit: mm

MOUNTING HOLE @2.0

THICKNESS 1.2~1.8

T
9 PartNo. | A | Package
MS-4 4.0
I MS-5 50| 2000
< MS-10  |10.0
"
- 37

MOUNTING HOLE @2.2
THICKNESS 1.6

Part No. | Package
PCLS-25 1000

MOUNTING HOLE @2.3
THICKNESS 1.6

N Part No. | Package

+ 2
T o MSB-2.8 1000
N
T
45 -
- Material: PBT (UL)
» Flame Class: 94V-0 MOUNTING HOLE @2.5
+ Color: Natural THICKNESS 1.6
+ Unit: mm !
[re)
—
—+ PartNo. | Package
p MSM-2.5 | 1000
| T
~— @4.5 —

- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

. Unit: mm MOUNTING HOLE @39

THICKNESS 1.6

- g45-

Part No. | Package
MSMA-3.5 | 2000

354 g




Fig c PCHRIMAHEBARL » A —
A 2% K % E o
- Material: Nylon 66 (UL) EAMZRAS B 2RA AR

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm
MOUNTING HOLE @2.5
MOUNTING HOLE @2.5 THICKNESS 1.6
THICKNESS 1.6
i
e e
0
o
i |
1.7
‘(
/4
* MAE2.5-6.5T 2 2,30 F M2X0.4P
Part No. Package Part No. Package
MAE2.5-6.5 | 2000 MAE2.5-6.5T | 2000
- Material: Nylon 66 (UL) i : PCHRIGBEHEBANEE » 5 — 37
« Flame Class: 94V-2/94V-0 BAMIBRL R G L BLEKE T -
« Color: Natural/Black
« Unit: mm
MOUNTING HOLE @3.0
THICKNESS 1.6
| PartNo. | A | Package Part No. A | Package
@ 3 MAE4 | 40| 1000 MAE-14 | 140
Tt MAE-5 5.0 MAE-15 15.0
— ! MAE6 | 6.0 MAE-16_ | 16.0
g MAE-7 7.0 2000 MAE-17 17.0
@07 MAE-8 8.0 MAE-18 18.0 1000
T MAE-9 9.0 MAE-19 19.0
0 MAE-10 | 10.0 MAE-20 20.0
A MAE-11 | 11.0 MAE-22 22.0
MAE-12 | 12.0 | 1000 MAE-23.5 | 23.5
MAE-13 | 13.0 MAE-26 26.0
MOUNTING HOLE @3.0
THICKNESS 1.6 Part No. A | Package Part No. A | Package
MAE-5T 5.0 MAE-16T | 16.0
MAE-6T 6.0 MAE-17T | 17.0
MAE-7T 7.0 2000 MAE-18T | 18.0
MAE-8T 8.0 MAE-19T | 19.0
MAE-9T 9.0 MAE-20T | 20.0 1000
MAE-10T | 10.0 MAE-22T | 22.0
MAE-11T | 11.0 MAE-23.5T | 23.5
MAE-12T | 12.0 MAE-26T | 26.0
MAE-13T | 13.0 | 1000 MAE-26.5T | 26.5
MAE-14T | 14.0 MAE-27T | 27.0
* MAE-XT & & 3% F M3X0.5P MAE-15T | 15.0




MOUNTING HOLE @4.0

THICKNESS 1

.85

=

m—&-
crs
i

@

1
| ¥+ o
<
f

M3X0.5P

’J 6.35

L

- Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
« Color: Natural/Black

« Unit: mm

- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

Part No.

Package

MAE43-4.8LT

1000

At

- Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
 Unit: mm

'
v MOUNTING HOLE @4.0
v THICKNESS 1.2

t
ik
L] |
.y

A

¢
Part No. | Package
MAE4D-6 1000

2 MOUNTING HOLE @3.0

A

@2.35

/T
Part No. | Package
MAE-7-440 | 2000

Az

M &

P PCARIM BEHBANERE » A —37

BAMIBRHL X B HBRLE R -

MOUNTING HOLE @4.0
THICKNESS 1.2

- MAE4D-6T 2 &% % M3X0.5P

Part No. | Package
MAE4D-6T | 1000

P PCHRM% B HBANEIZ » 7 — 7T

BRABRGRBARLEEL -

MOUNTING HOLE @3.0
THICKNESS 1.6

'
[aN
*

+ MAE-7-440T & 2.5 & 4-40UNC

Part No. Package
MAE-7-440T | 2000

P PCHRIG BEHBANERE » A —37

BAMIBRL R B HBLE T -

+ Unit: mm << MOUNTING HOLE @4.0
= MOUNTING HOLE @4.0 —F THICKNESS 1.6

m THICKNESS 1.6 T

Tl L | =

17 11

L /)

o M3X0.5P

© ©
+-6.35-+ ‘

- MAE43-XT 2 € 5% & M3X0.5P

Part No. A | Package Part No. A | Package
MAE43-5 5.0 MAE43-5T 5.0
MAE43-6 6.0 MAE43-6T 6.0
MAE43-7 7.0 MAE43-7T 7.0
MAE43-8 8.0 MAE43-8T 8.0
MAE43-9 9.0 MAE43-9T 9.0
MAE43-10 | 10.0 MAE43-10T | 10.0
MAE43-11 10| 200 MAE43A1T | 10| 200
MAE43-12.7 | 12.7 MAE43-12.7T | 12.7
MAE43-14 | 14.0 MAE43-14T | 14.0
MAE43-15 | 15.0 MAE43-15T | 15.0
MAE43-15.9 | 15.9 MAE43-15.9T | 15.9
MAE43-20 | 20.0 MAE43-20T | 20.0




g PCRIGEHEBANE L » 5 —3

A N K E o
. Material: Nylon 66 (UL) AL M4 A B A RSB R

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
. Unit: mm MOUNTING HOLE @4.0

MOUNTING HOLE @4.0 THICKNESS 1.6

THICKNESS 1.6 M
o

]:31+

T <
< J
! M4X0.7P
@37 —
[Yo]
—
- F * MAE4-XT 2 &5 F M4X0.7P
Part No. A | Package Part No. A | Package
MAE4-5 5.0 MAE4-5T 5.0
MAE4-6 6.0 MAE4-6T 6.0
MAE4-7 7.0 MAE4-7T 7.0
MAE4-8 8.0 MAE4-8T 8.0
MAE4-9 9.0 MAE4-9T 9.0
MAE4-10 10.0 MAE4-10T 10.0
MAE4-11 11.0 2000 MAE4-11T 11.0 2000
MAE4-12.7 | 12.7 MAE4-12.7T | 12.7
MAE4-14 14.0 MAE4-14T 14.0
MAE4-15 15.0 MAE4-15T 15.0
MAE4-159 | 15.9 MAE4-15.9T | 15.9
MAE4-20 20.0 MAE4-20T 20.0
- Material: Nylon 66 (UL) g AR AR B X BELE T -
« Flame Class: 94V-2/94V-0 h — BB AFERAPCIR ©
« Color: Natural/Black
+ Unit: mm MOUNTING HOLE @4.0
THICKNESS 1.6
RiE:
- g24

N Part No. | Package
o MCI-4.7 1000
T

- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm
{
m 13
B D
e - PartNo. | Package
S0 MOUNTING HOLE MCSH-7.2 | 1000

Ll gis THICKNESS 1.6



Fig : AHFPCR > RYHIARED » &

2z g o
+ Material: Nylon 66 (UL) W 48

+ Flame Class: 94V-2/94V-0

: Sﬁ!?rwﬂat”ra” Black MOUNTING HOLE @3.0
: THICKNESS: T
MOUNTING HOLE @3.0

THICKNESS 1.6 A
_ 4
L

I

l
1 _r
- OH - - oH
PartNo. | A | H | Package PartNo. | A | H | T | Package
DCB-2 [20]6.5 2000 DCB-5 50| 6.0]16
DCB-2.5 |25]6.5 DCB-58 | 58| 69|16
DCB-3 [3.0]6.8 DCB-6 6.0| 6.8/16
DCB-3.5 |3.5]6.8| 1000 DCB-65 | 65| 6.0/1.6
DCB-4 |4.0(6.8 DCB-7 70| 6.0]16

DCB-8 | 8.0/ 68[16] 1000
DCB-8(2) | 8.0| 6.8]2.1
DCB-10 | 10.0| 6816
DCB-15 | 150 6.0]16
DCB-15L | 15.015.0 | 1.6

MOUNTING HOLE @3.0 MOUNTING HOLE @3.0 MOUNTING HOLE @3.0

THICKNESS: T THICKNESS: T THICKNESS: T DCB-15S [15.0] 6.0{16
I N
[aa]
Ah—= T
S - }
R
<C
- 269 E l
CT 10 —
«©
/4 -
f
[eo]
[ DCB-2D, CL
DCB-3D,
DCB-3.5D ] [ DCB-15D] [ DCB-16DL,
DCB-20DL ]
MOUNTING HOLE @3.0 Part No. A B T Package
THICKNESS: T * Part No. A | B T Package DCB-8D 8.013.85(1.2~1.7
- DCB2D | 20|35 |[1.2~17 DCB-85D | 8540 [12~17
— DCB-3D | 3.0(3.7 |[1.2~16| 2000 DCBOD | 9.0(40 |[1.2~16
j( DCB-35D | 35|40 |1.2~16 DCB-11D | 11.0(3.7 [12~16
| DCB4D | 4.0(36 [1.2~17 DCB-12D [12.0[4.0 [1.2~1.6] 1000
g DCB-45D | 45|36 |[12~17 DCB-13D |13.0 (40 [12~16
DCB5D | 50(36 |1.2~1.7| 1000 DCB-15D |15.0(3.7 |[12~16
@o DCB55D | 55|40 |1.2~16 DCB-16DL | 16.0 3.7 |1.2~16
ya DCB-7D | 7.0|40 |12~16 DCB-20DL [200 (3.7 [12~16
64.
MOUNTING HOLE @3.5 @
MOUNTING HOLE @3.0 MOUNTING HOLE @3.1 THICKNESS 1.6

THICKNESS 3.0 THICKNESS 1.6 t

MOUNTING HOLE @3.5
THICKNESS 1.6

4
L7
A dos

]
o) ~— @6 — .
© 0
- ges . o n PartNo. | A | Package M
%68 PDC3 |3.0
Part No. | Package Part No. | Package PDC-3.5|3.5| 2000 Part No. | Package
DCBA-3.5 1000 DCBA-8 1000 PDC-4 |4.0 PDC-4.5D | 2000




Fig : AHFPCR > RYHIARED » &

h g o
. Material: Nylon 66 (UL) T e a5 5%

» Flame Class: 94V-2/94V-0
+ Color: Natural/Black

» Unit: mm MOUNTING HOLE @3.5
THICKNESS: T

MOUNTING HOLE @3.5
THICKNESS: T 0
&L
©
N
¥
T
<C
\ !

PartNo. | A | B | T | Package Part No. A T Package
PDC-5 | 502816 PDC-55D | 55| 16
PDC-9 | 9.0[28[16| 2000 PDC-6D 60| 16
PDC-10 | 10.026(1.8 PDC-6.5D 6.5 1.6

PDC-7D 70| 16 2000
PDC-13D | 13.0 | 1.2~1.7
PDC-13.5D | 13.5| 1.6
PDC-26D | 260 | 1.6

MOUNTING HOLE @3.5
THICKNESS 1.6

Part No. | Package
MCN-10 1000

MOUNTING HOLE @4.0
THICKNESS: T

—_— PartNo. | A | B T Package
om ~
A MC-2 20 |31 [1.2~17 2000
4 MC-2-12 | 20 | 3.5 |0.8~1.0
< MC-25 |25 |365|12~1.7 | 1000

g5 T

MOUNTING HOLE @4.0
THICKNESS 1.6

T
MOUNTING HOLE @4.0 -
THICKNESS 1.2~1.6 r
; T
m © - 25
T
L:) Part No. A | Package
] 8 MC-3 | 3.0
g5 | MC-32 | 3.2
MC-3.5 | 35| 2000
Part No. | Package MC-4 4.0
MC-3.5-1 1000 MC-5 5.0




Rig : XPFPCKR > EFHFRRES > 8

% g o
- Material: Nylon 66 (UL) F i 0 [ 4 5%

+ Flame Class: 94V-2/94V-0

- Color: Natural/Black Part No. A | Package
+ Unit: mm MC-6 6.3
P.CB @4.0 R
THICKNESS 1.6 MC-7 70
T, MC-7.5 | 7.5
o MC-8 8.0 | 2000
- MC-8.5 8.5
7‘ MC-9 9.0
< MC-10 10.0
J MC-115 | 115
MC-12 12.7 | 1000
g5 MC-164 | 16.4
P.C.B @4.0
P.CB @4.0 THICKNESS 1.6~1.8

THICKNESS 1.6~1.9

@ g

28
1.5

|

1

o7 + Material: PC (UL)
Part No. | Package Part No. | Package
MCEA-1.9 | 1000 MCE-1.9 1000
P.CB @48

THICKNESS 1.6

il

T Part No. A | Package
< MCL-9 9.0
] [ L MCL-16 | 16.0 2000
- Material: Nylon 66 (UL) A s XHEPCR » B FPHAKRES » #
« Flame Class: 94V-2/94V-0 PCB 740 Emw G o HAR T 857U A 3R
+ Color: Natural/Black e ; WEE o
- Unit: mrm THICKNESS$ 16 B
IE,
H T PartNo. | A | Package
T MCH-6 | 6.35
P l MCH-10 | 9.7 1000
g2 MCH-12 [12.7
- @57 =~
- Material: Nylon 66 (UL) A% PCREFZERANER » % —E#H
+ Flame Class: 94V-2/94V-0 JEAMARE 0 BB o
« Color: Natural/Black
« Unit: mm

MOUNTING HOLE @3.7

‘f
(1

~7.1
155 Part No. | Package

KVLMA-10 | 1000

T

16595
55

MOUNTING HOLE
THICKNESS 0.8~1.6

=
B

f
4
ey

b



Rig : BEPCRA#MR L » — 38 E &
BAER » RHe# o

- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm
ﬁﬂS.Sr
~ T b
T<( )
L T LE
w ] MOUNTING HOLE
THICKNESS 1.0~1.8
Part No. A B C | Package Part No. A | B | C | Package
KVLM3-5 50 115 |30 KVLM3-12.7 | 12.7 | 19.2 | 8.0
KVLM3-6 6.0 [125 |40 KVLM3-15.9 |15.9|22.4|8.0
KVLM3-6.35 | 6.35|12.85|4.35 KVLM3-18 | 18.0|24.5|8.0 1000
KVLM3-8 80 [145 |6.0 1000 KVLM3-20 | 20.0|26.58.0
KVLM3-9.5 95 [16.0 |8.0 KVLM3-22 | 22.0|28.5]8.0
KVLM3-10 | 10.0 [16.5 |8.0 KVLM3-25.4 | 25.4|31.98.0
KVLM3-12 | 120 [185 |8.0

N\ T
M4X0.7P @_L

. f

T
°f’ MOUNTING HOLE
THICKNESS 0.8~1.6

i
(S
~
@
T
5.5

m]

AT
FUBIARIAIAY
10 —
16.5 —

=
B

Part No. | Package
KVLM4-10 | 1000

* Material: Nylon 66 (UL) it : B RPCRMEAR £ > —FEE AR
+ Flame Class: 94V-2/94V-0 A8 o
« Color: Natural/Black

+ Unit: mm

@zu 148 F 5
=/ MOUNTING HOLE

THICKNESS 1.85

PartNo. | A | B | Package
MCIA-12 [12.0(17.0

N MCIA-16 | 16.0]21.0] 'O0°

=
A;.
B

Part No. L | Package
TCBC-8.7 8.7
TCBC-13.7 | 13.7 1000

i

T TR e T

MOUNTING HOLE @4.0
THICKNESS 0.8~1.6



Rig : BEPCRA#MK E » — &S A

. Material: Nylon 66 (UL) HRHEA -
+ Flame Class: 94V-2/94V-0

+ Color: Natural/Black

 Unit: mm

MOUNTING HOLE
THICKNESS 0.8

MOUNTING HOLE @4.8~@5.0
THICKNESS 2.0

Part No. L | Package Part No. | Package
TCBE-8.7 8.7 1000 TCBD-4.8 1000
TCBE-13.7 |13.7

« Material: Nylon 66 (UL) Aig : B RPCRAEAR L » —SAA BB
« Flame Class: 94V-2/94V-0 WP FEPCKR » BREF o

« Foot Material: Silicon Rubber (UL)

« Foot Flame Class: 94V-0

« Color: Natural/Black

« Unit: mm S —
M~
T -
o ||
~ t@ &
/ | o
74‘?
@g - ( SPACER SUPPORT) (FOOT)
7 [ TCBH-17 ) [ TF-17521 ] w
MOUNTING HOLE @4.0
THICKNESS 1.6 PartNo. | PartNo. | Package
TCBH-17
TCBH-17F | TR-7521 | 0%
Lo BT BB AR
- Material: Nylon 66 (UL) A —HANEHMERE L -
+ Flame Class: 94V-2/94V-0
» Color: Natural/Black
+ Unit: mm
PCB @4.0
THICKNESS 1.6
i 06.1~26.4
= @3.2~93.3
|
—
ié MOUNTING HOLE
— 2.8 Part No. | Package
- @102 ACBR-6 | 1000

THICKNESS 1.6



P.C.B @4.0
THICKNESS: T

I

B

=

- Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
 Unit: mm

P.CB @4.0
THICKNESS 2.7

N T
L
_ T

] i
»QJ«
OH—

[ ACB-2.3 ]

6.5 5
\f @35

MOUNTING HOLE

OH —
PartNo. | A | B | F | H T Package
ACB-5 50(70(13|11.7| 16
ACB-6 637013 |1M6| 16 1000
ACB-8 80|70(14|1M6| 16
ACB-60 |60.0|7.3|28|11.3|1.2~1.7
ACB-68 |68.0|73]13|113| 1.6 250
ACB-74 |74.0|73 |13 |113]| 16
P.CB @4.5
THICKNESS 1.2~2.0
s
©
[
11t
TN
\ |
6.7
~— @19.6 —
P.CB @4.5~04.8

THICKNESS 0.8~2.5

T15H

L g
2194 —

26

8 | -86 Js.sL

Mg s — AR ERERE L -

P.C.B @4.0
THICKNESS 1.6~2.0

T @6.5- |5
1
< MOUNTING HOLE
EEmE
L .
oH

PartNo. | A | F | H | J | Package
ACB-2.3 [25/1.0(10.0/2.8
ACB-25 [25(14|11.5(28| 1000
ACB-3 32(1.2|11.6(3.2

P.C.B @4.0
THICKNESS 1.6

.774

6 —
| Q6.5\ 735

MOUNTING HOLE

L@H.Ga

Part No. | Package
MCB-6 500

012.2
L a1

022

MOUNTING HOLE

Part No. | Package
MBC-11 500

216.5
a1

Part No. | Package
MOUNTING HOLE MBD-10 500




g #ARSR i AR B SORE B Z >

+ Material: Nylon 66 (UL) % — A AEENPCIR ©

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit: mm

CB O P.CB @4.0 Part No. A | Package
P.C.B @4.0 THICKNESS 1.2~1.9 TCBS-5 5.0
THICKNESS 1.2~1.7 11:4 ?,_(ﬁgKﬁégs (27 TCBS-6A 6.0
@\ N - TCBS-6 6.35
S 108+ TCBS7 | 7.0
TCBS-9.5 9.5
. TCBS-10 | 10.0

TCBS-12.5 | 125
TCBS-15 [ 15.0 1000

a TCBS-20 |20.0

~l@o.g- TCBS-24.5 | 245

TR

FOR M3 SELF-TAPPING SCREW [ TCBS-385 ] TCBS-30 30.0
Part No. Package FOR M3 SELF-TAPPING SCREW TCBS-35 35.0
TCBS-18 | 1000 TCBS-38.5 | 38.5

THICKNESS 1.2~1.7

THICKNESS 1.2~1.7 - 108—
10.8 — @ T o
o 66+ d
i T
S 66—~ 3 D [@:{
i ) < 04
© “Tol © MOUNTING HOLE
o a4 ®C7
9 P
g7 MOUNTING HOLE FOR SCREW
Part No. | Package PartNo. | A | B | C Screw Package
TCBT-3.6 | 1000 TCBT-7 7.0(6.9 |24 | 4-40 UNC
TCBT-7.7 | 7.7/59 |26 M3 1000
TCBT-85 | 85(/6.9 |26 M3
TCBT-16 | 16.0|6.9 | 2.4 | 4-40 UNC
—105+
R
77': P.C.B THICKNESS 1.2~1.9
g
o ~
1 = < @45
%jg Part No. | Package
525 5.7 TCBT-19 | 1000
Jogo- MOUNTING HOLE

FOR M3 SCREW




Fig : AHFPCR > RYHIARED » &

2z g o
+ Material: Nylon 66 (UL) W 48

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit: mm
MOUNTING HOLE @4.0 PartNo. | A | D | H | Package
THICKNESS 1.2~1.7 MBS-6 641|114 | 118
-~ D MBS-8 80| 114|118
— MBS-8.95 | 89| 11.1| 80
m % MBS89 | 89 111 119 00
- MBS-9.5L | 9.5 | 11.4 | 20.0
j: MBS-10 | 10.0 | 11.4 | 12.0
| MBS-H1 | 1.0 114 ]120]
— MBS-14 | 14.0 | 11.4 [ 12,0
~—oH— MBS-74 | 740|104 | 13| 250

MOUNTING HOLE @4.5
THICKNESS 1.2~1.7

[ﬁ 12.6;7'\ ’*7.5*‘ “N°
3 R
%@L* Im

f
JN MOUNTING HOLE PartNo. | Package
k®13.5:]—F MTD-11 500
- Material: Nylon 66 (UL) g ARSI A M3.54AR B ZUE &
« Flame Class: 94V-2/94V-0 %o B —38HBEBEAPCIK °
+ Color: Natural/Black
+ Unit: mm
MOUNTING HOLE @4.0 PartNo. | A | B | C [ Package
THICKNESS 1.6 BS-6 6.4 48(10.2
N i m BS-9 95| 80]10.2
I l BS-12 12.7111.0110.2
e T—ﬁ [ 5 BS-14 14.0(12.7]10.2
e []]] BS-155 [15.0[13.0/10.4
I Rt BS-15 [15.9]13.0/10.2| 1000
~-g29 BS-19 19.1(16.2]10.2
@‘0‘2 BS-22 22.2(19.4110.2
[ 4 BS-25 254(24.0/10.2
FOR M3.5 BS-28 28.6(25.9/10.2
SELF-TAPPING SCREW BS-29 29012591102

MOUNTING HOLE @4.0 s Ao @40

THICKNESS 1.6

MOUNTING HOLE @4.0
THICKNESS 2.0

I %
79 ~ — 102
r—’\)

~—35.7—

ms

\
~-—@2.65

-

7* ! inf
& @
@ X@A\ FOR M3.5~M4
FOR M3XE ECE)E: '\T/lf\ 'F‘?p|NG “orem SELF-TAPPING SCREW
SELF-TAPPING SCREW - PartNo. | A | B | Package
Part No. | Package Part No. | Package BS-10-1 [10.0| 8.0 1000
BS-8 1000 *BS-35.7 500 BS-20-1 [20.0112.0




iR s AR MR B RSB E

+ Material: Nylon 66 (UL) A — R EHEBEANPCIR °

+ Flame Class: 94V-2/94V-0

« Color: Natural/Black MOUNTING HOLE @4.0
+ Unit: mm THICKNESS 1.2~1.7

o ,
O 2 Part No. | Package
L :;_L BSB-6 1000

8.6
- Material: Nylon 66 (UL) A% XBPCKR » B PHRRES » #
« Flame Class: 94V-2/94V-0 & W[4 T o
« Color: Natural/Black
+ Unit: mm MOUNTING HOLE @4.2
THICKNESS 1.6
23

f
0
Jils [0
Part No. | Package
O L BSB-8.5 | 1000
/[T

- Material: Nylon 66 (UL) A&« AR AM3. 58k B SR &
« Flame Class: 94V-2/94V-0 E o B —FAAEHEBRAPCIK ©

+ Color: Natural/Black

* Unit: mm MOUNTING HOLE @4.0

THICKNESS 1.6~2.0

1l

Part No. | Package
BSCL-9.5 1000

- Material: Nylon 66 (UL) A& — % B A SRAK 714047 B S R AR
+ Flame Class: 94V-2/94V-0 + oo =3Bl APCR L

« Color: Natural/Black

+ Unit: mm MOUNTING HOLE @4.0

THICKNESS 1.6

ﬂ N )
= (
@ i ; Part No. A | Package

[ SRLCB-9 95
SRLCB-11 | 11.1

= — SRLCB-12 | 127
T64- w0 SRLCB-15 [159| 1000
@41 . SRLCB-19.1 | 19.1
@ - SRLCB-22 | 222
ﬁ SRLCB-25 |25.4

~10.2~




R 0 — 3B ASRA A 7 44T Bl & AR
 — = > o
- Material: Nylon 66 (UL) + o W ERRPCR
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm
910-2 ﬁ@m
14
6.4
s
©
<
<C
Part No. A | Package
s SRLA-29.5 |29.5
[Te)
@— SRLA-31.5 |31.5 1000
P.C.B @4.75~04.8
THICKNESS 0.8~2.0
b
M3X0.5P M3X0.5P M4X0.7P N
B 1 T
< — <
b s T
6.4 I~
FOR SNAP RIVET FOR SNAP RIVET
Part No. A | Package Part No. A | Package Part No. A | Package
TCEB3-95 | 95 1000 TCEB3-12.7 |12.7 TCEB4-95 | 95 1000
TCEB3-11.1 | 11.1 TCEB3-15.9 |15.9 TCEB4-11.1 | 11.1

TCEB4-19.1 [19.1] 1000
TCEB4-22.2 |22.2
TCEB3-25.4 | 254

4 b T
M4X0.7P ~ c N 6-32 UNC =
. 6-32 UN ~ -
T B - T !
' <C ~ <C W—‘L <C
| I L? : H L? J - I L?
6.4 ~16.4 5~ ~6.4 -

FOR SNAP RIVET FOR SNAP RIVET

7.1

Part No. A | Package Part No. A | Package Part No. A | Package
TCEB4-12.7 |12.7 TCEB632-9.5 | 9.5 1000 TCEB632-12.7 | 12.7
TCEB4-15.9 |15.9 TCEB632-11.1 | 111 TCEB632-15.9 | 15.9
TCEB4-19.1 [19.1| 1000 TCEB632-19.1 [ 19.1| 1000
TCEB4-22.2 |22.2 TCEB632-22.2 | 22.2
TCEB4-25.4 | 254 TCEB632-25.4 | 25.4




g AR RBHE L » 5 —HAE

 Material: Nylon 66 (UL) HENPCHR

+ Flame Class: 94V-2/94V-0

+ Color: Natural/Black MOUNTING HOLE @4.0
- Unit: mm MOUNTING HOLE @4.0 THICKNESS 1.8

THICKNESS 1.6

e
Part No. A | B | Package Part No. | Package
BSCB-10 |10.0| 8.0 BSCB-20 1000

BSCB-12 [12.0] 8.0
BSCB-15 |15.0|10.0
BSCB-25 |25.0|10.0

1000

MOUNTING HOLE @4.0
THICKNESS 1.6

MOUNTING HOLE @4.0
THICKNESS 2.0

| ]
i
'

o = M4X0.7P
R Ik
M3X0.5P LJ

f

SJ
AL b )
S

LA#*Q.

L6» Part No. A | B | Package
BSCB4-6 6.0]4.0
Part No. | Package BSCB4-8 8.0/6.0| 1000
BSCB-6 1000 BSCB4-10 [10.0| 8.0
- Material: Nylon 66 (UL) A& AR A 6-324R B ZUR &
+ Flame Class: 94V-2/94V-0 T B — A HEBRAPCK °
« Color: Natural/Black
+ Unit: mm
o~ ﬂ MOUNTING HOLE @4.0
= THICKNESS 1.6
T
3
|
b Part No. Package
= BSB632-15.9 | 1000
—r
+ Material: Nylon 66 (UL) AR BRI ABLER » H—FAL
- Flame Class: 94V-2/94V-0 HBRAPCIR °
« Color: Natural/Black
« Unit: mm
MOUNTING HOLE @4.0
THICKNESS 1.57 e lZIARS
125
S Part No. A | Package
H BSC632-9.5 9.5
BSC632-12.7 |12.7
BSC632-15.9 |15.9
][ BSC632-19.1 | 19.1 1000
%5 BSC632-22.2 | 22.2
: BSC632-25.4 |25.4

6-32 UNC



g AR RBHE L » 5 —HE

. Material: Nylon 66 (UL) HENPCHR ©
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
+ Unit: mm
PCB @4.0
THickNEss 16 1271
N Part No. A | Package
BSCM4-95 | 95
BSCM4-12.7 |12.7
][ BSCM4-15.9 | 15.9
‘ BSCM4-19.4 |19.4] 100
i BSCM4-222 | 22.2
MAX0.7P BSCM4-25.4 |25.4
PCB @4.0 PCB @4.0
THICKNESS 1.6 THICKNESS 1.6
@71 -7 A~

il
11 [ I

dgs k" /l\%iw dga 6-32 UNC

Part No. A | Package Part No. A | Package
BSDM4-9.5 9.5 BSD632-9.5 9.5
BSDM4-12.7 | 12.7 BSD632-12.7 | 12.7
BSDM4-15.9 |15.9 BSD632-15.9 [15.9
BSDM4-19.1 | 19.1 1000 BSD632-19.1 | 19.1 1000
BSDM4-22.2 |22.2 BSD632-22.2 |22.2
BSDM4-25.4 | 254 BSD632-254 |25.4

- Material: Nylon 66 (UL) Aig: —mBEERARARETHE 5 —
« Flame Class: 94V-2/94V-0 B EAPCHR L o
« Color: Natural/Black
+ Unit: mm
P.CB @4.0 HOLE IN CHASSIS @4.0
THICKNESS 0.8~2.0 THICKNESS 1.2~1.6

'
[
~

f

! =T } I+ ©
® ~
| I
‘ %4 261~ | ©
84 —14.7—
—11.1— :
HOLE IN PANEL ©7.9 HOLE IN WOODENWARE 6.0
THICKNESS 6.4 THICKNESS 7.0
Part No. | Package Part No. | Package

WBHC-6.4 | 1000 ACBW-6.8 | 1000




- Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
 Unit: mm

P.CB @4.0

A& BN ARBERTHLE 5 —
3B APCAR L

THICKNESS 1.2+1.7 PartNo. | A | Package
WBH-5 | 4.8
o WBH-6 | 6.4
= WBH-9 | 95
, < WBH-11 | 11.1
% o ! WBH-12 [12.7] 1000
[ce]
WBH-16 | 15.9
j
Vaal WBH-19 | 19.1
Hmﬁmg&ng WBH-22 | 22.2
THICKNESS 6.4 WBH-25 | 25.4
T?.sa ’»7.87 @75
llll!lllll!llllIlIlI_'lI.ll_llIlb
Y Part No. | Package
MOUNTING HOLE @4.0 WBHB-1.8 | 1000

THICKNESS 2.6~6.3

« Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
« Color: Natural/Black

« Unit: mm

i 35.85
o

~
~

126 @
i

©
7t
MOUNTING HOLE

« Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
« Color: Natural/Black
 Unit: mm

P.CB @4.0
THICKNESS 0.8~1.7

<
1
P -
—t

126+ @ M
4 - 7.7
7t
MOUNTING HOLE
Part No. | Package
PCC-6 2000

R s =B E > B —3% 3
PCHx » 8 %, T[4 3% M 4% » PCIR
R8I o

At

%5.85
- 7.7

Part No.
PAA-11

Package
1000

A : BERPCRWHRE » AR D%
RIESE » SR ERE o

P.CB @4.0
THICKNESS 1.2~1.7
4
o
D
f
- T
f
~126+ @ 585
N - 7.7~
©
47
MOUNTING HOLE
Part No. | Package
PCC-11 1000




Fig : AHFPCR > RYHIARED » &

= s 9 = )
. Material: Nylon 66 (UL) ERUGREE RN %

+ Flame Class: 94V-2/94V-0

+ Color: Natural/Black ~—11.3
+ Unit: mm A hSﬂ 1%841
5 2 4] [
I {
i ””” [ ]

, —

MOUNTING HOLE @3.0
MOUNTING HOLE @2.5 THICKNESS 1.6
THICKNESS 1.0 o | I |t

Part No. | Package LIO-10 [10.0 2000
LIJ-4 2000 LIO-10.5 | 10.5

ﬂﬁ:
1.85

10.3 H‘

T g ]

8
— 12.8—1

Part No. | Package

N
MOUNTING HOLE @3.0 LIO-8 2000
THICKNESS 1.1~1.6
- Material: Nylon 66 (UL) A BARGEEERBRAEELE
+ Flame Class: 94V-2/94V-0 TERRKE o
+ Color: Natural/Black
+ Unit: mm
©12.5—~
9.8+ * - 08 |-

—| 585 |

MOUNTING HOLE
THICKNESS 3.0

MOUNTING HOLE

THICKNESS 3.0 A | Package
0.8
Part No. | Package 3.2 500
YES-3 500 4.8
+ Material: Nylon 66 (UL) Rig : THE BT BREARPCIRZ
+ Flame Class: 94V-2/94V-0 % o
« Color: Natural/Black
+ Unit: mm
~ 095 - ~|06.8}- 197

@

¢ MOUNTING HOLE
MOUNTING HOLE THICKNESS 2.0

THICKNESS 0.8~2.0

‘ i
< 0
3] E)
Hp I~ Il
Part No. | Package Part No. | Package
ES-1 2000 ES-2 1000




iR GBS & A APCIR X Bl 2 R EH
% = Rk o
. Material: Nylon 66 (UL) HE R
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
 Unit: mm

@12.7
@8.5—~ o4
~— @2.55 i
o7 {247} @ e
©
) -
< }
-+ o —
T MOUNTING HOLE
MOUNTING HOLE i MOUNTING HOLE -
THICKNESS 0.4~1.6 j THICKNESS 1.6 | o THICKNESS 0.8~3.0
I -~ 7.85 -
Package Part No. | Package Part No. | Package
1000 ESS-3 1000 ESS-4 1000
« Material: Nylon 66 (UL) A& : RAFSEANRPCRIBERE ©
« Flame Class: 94V-2/94V-0
« Color: Natural/Black
+ Unit: mm
~09.3+
@2.5
© .
2631
t——7] «© Part No. | Package
Y+ |~ MOUNTING HOLE
U ©S  THICKNESS 24 ESS-7.6 | 1000
I\
— 012 —
r @27 232
-~ 072 |~ L *‘ 09.6 r‘
8 5| == O
@
? MOUNTING HOLE s T

THICKNESS 0.8~3.2 MOUNTING HOLE

+- ¥ L MOUNTING HOLE
L i T THICKNESS 15
©  THICKNESS 2.8~3.2

B

Part No.

Package

ESS-2

1000

it

Fa

3.2

42~

Part No. | Package
ESS-5 1000
- @6.7 ~lo4.5
@3.4 P49
O
MOUNTING HOLE
THICKNESS 1.0
i
3

Part No. | Package
ESS6-2.5 1000
Part No. | Package
ETSA-3.5 1000




-~ 6.7 +®3.4 oo
4
s (87
R
488 o045

MOUNTING HOLE
THICKNESS 2.3

[ ETS-3.2-2 ]

- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0

AR : BABERANPCRZ B ©

+ Color: Natural/Black

« Unit: mm 6.7
41034 ~OCH
T T PartNo. | A | B | C | Package
T ] ETS-3 3.0[54[44
e = ETS-3-1 | 3.0[54]50
M\j i u ETS-32 | 32[5444
a9 045 ETS-3.2-1] 3.2[54]50
ETS-3.2-2| 3.2[4.0[50] 2000
OUNTING HOLE ETS-34 | 34|5444
THICKNESS 2.0 ETS-36 | 36/5450
ETS-46 | 46|5444
ETS-48 | 48|54|44
6.8 55 @65~ 02
Gt . P05 1028 "ET563 | 63]54 )44
u < < ETSS-6.5 | 6.5/4.0 |44
il BT
i - FoT ETS-7M [ 7.0]4.0
i \ﬁﬁ“ 18 @%ﬁ o ETS7 | 7.0/50
52 046 5 045 ETS-8 8.0]54[44] 1000
[ ] ETS-10 [10.0[54[44
MOUNTING HOLE MOUNTING HoLE | ETS-12 |127]54]44
THICKNESS 3.0 THICKNESS 2.38 ETS-16  [15.9]5.4 |44
[ ETS-TM ) [ ETS-7 ] ETS-19  [19.1]54]44
MOUNTING HOLE @3.7 _ @73
FOR M2.5~M2.6 SCREW % lﬁ
| |
- |
F? J LHJ
" Wi ‘:’ ﬁ
42 - @2.9
st glidy

MOUNTING HOLE
THICKNESS 1.6

MOUNTING HOLE
THICKNESS 2.0

Part No. | Package Part No. | Package
ETSB-6 1000 ESS-19 1000
o @3.5 o
= =
(j 1.7 42 é
= e E
o P if B i | RS
= L] e <L ¢
s A
MOUNTING HOLE @3.0
THICKNESS: T
Part No. A|B|C T Package
BSE-2.2 [2.16]25|1.6|1.6~25 1000
BSE-2.2L 2.2 |3.3]2.0|1.7~3.05




A« B EPCHRAMHER E » PCHR A HF &

‘ b o
. Material: Nylon 66 (UL) S R
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit: mm
Tmza‘ | 8.7*1Jv
1T ©
I [} j
7& B MOUNTING HOLE
LS.SJ L6J THICKNESS 0.8~2.0
PartNo. | A | B | Package
LHC-8 8.4110.8
LHC-12 [12.5]14.9 1000
- Material: Nylon 66 (UL) A& iR B RPCRWHEAR £ > defied
+ Flame Class: 94V-2/94V-0 W T HPCHE ENAKE o
« Color: Natural/Black
« Unit: mm
—
((‘)) <2 PartNo. | A | B T Package
— | SS1-28 20]0.5]0.8~1.0
S§1-25S8 | 25]0.5(0.8~1.0
RCBa + §51-35 | 3.0 05| 0810
S§1-3.5S |3.5]0.5]0.8~1.0
AN SS1-4S 40/05)0.8~1.0
H et SS1-4.58 | 4.5 0.5 0.8~1.0
< SS1-58 [ 5.0/0.50.8~1.0
PCB OO . ool T $S1-655 |55 0.5 08~1.0
T, FOR M2 SCREW SS1-6S 6.0/0.5]0.8~1.0
= SS1-2L 20(1.0| 16 2000
1O PartNo. | A | B T Package SS1-25L |25]10] 1.6
} }T S§S1-2 | 20|12 0.8~1.0 SS1-3L 30[10| 16
o ™~ S§S1-25 | 25| 1.2 0.8~1.0 SS1-35L |35]1.0] 1.6
I S§S1-3 | 3.0]1.2]0.8~1.0 SS1-4L 40/10| 16
g1 S§S1-35 | 35| 1.2 0.8~1.0 SS1-45L |45]10] 1.6
@4+ SS1-4 [40[12]08~1.0] 2000 SS1-5L 50[10] 1.6
FOR M2 SCREW SS1-45 | 45| 1.2 0.8~1.0 SS1-55L |55(1.0] 1.6
SS1-5 | 5.0]1.2]0.8~1.0 SS1-6L 6.0[1.0] 16
Part No. | Package SS1-55 | 55(1.2] 0.8~1.0 SS1-8L 80[10| 1.6
§S3-7(1.3) | 1000 SS1-6  |6.0/1.2]0.8~1.0 SS1-9L 90[1.0] 16

PartNo. | A | C T Screw | Package
SS2-25U | 2521 ]1.6~1.8| M2
S§S2-25S8 |25 |27 | 16 | M26

5

$S2-3S |30 27| 16 | M26
= SS24S |40 27| 16 | M26
R e T SS2-58 |50 |27 16 | M26
SS2-65 |60 | 27| 16 | M26

0 $52:25 | 2528 [16-18| M26| 0o
—t $S2-3 | 30|28 | 1.6~1.8| M26
— SS24 | 40|28 | 1.6~18 | M26
i T SS25 |50 | 2.8 | 1.6~1.8 | M26
T SS2-54 | 54 |28 | 1.6~1.8 | M26
~lac - SS26 | 60|28 |16~18| M26
FOR SCREW SS2-8 | 80|28 | 1.6~1.8 | M26

58295 19528 ]1.6~1.8] M26




- Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
 Unit: mm

B

P.CB @48

At

Heig Bl R PCHR IR £ > 4o fe &
BT HEPCIRE £ AR E o

. i i THICKNESS 1.2~1.7 | PartNo. | A | B | D | Package
T Ss-7 70 [15]65
NSOy < Ss74 | 74 [17]65
- SS8 | 79 |15/64
L @3.2 SS10 | 95 [15]64
o SE;CREW SS-10A | 95 |1.7/65
PCB 248 PCB 048 SS-11 | 111 |1.5]64
THICKNESS 1.0~12  THICKNESS 1.2~1.7 PartNo. [ A [ B | D [Package | | SS-12A [ 120 [15]64]
*SS-2S [20[15[64 SS-12 [127 [15]64
. SS24 241564 SS-14 [142 [15]64
@T‘F SS3  |32/15]64 SS-145 | 1455 |15 |64
< SS-35 |35|15]64 SS15 | 150 | 15|64
‘4—@3.2 Ss-4  |40[15/64| 1000 SS-16 | 159 |15]6.4
~ @D SS-45 |45[15[64 SS-17.2 [17.2 |15|6.4
SS5 |48|15/64 SS-19 (191 [15]64
FOR M3 SCREW FOR M3 SCREW SS-5A |5.0(15|64 SS-22 222 |15|64 500
[ 55-25 ] [ $S-10A ) SS6 |64]15|64 SS-25 |254 | 15|64
1 PCB @59
71 .5 THICKNESS: T
PCB 48 Z -
THICKNESS 1.6 PCB 058
: THICKNESS 1.6 ‘*‘ gﬁ o
mI .
|2 FOR M4 SCREW
™~ : I
S vl Part No. A [ C] T [ Package
o | SSU46.3 | 6.35]3.91.2~1.7
3.1 tm.zL SSU4-6.3L | 6.354.3[16
- Q74— SSU4-95 | 95 [39[1.2~17
SSU4-95L (953 [4.3]16 1000
FOR M3 SCREW FOR M3.5 or M4 SCREW ss0a127 127 139 1217
Part No. | Package Part No. | Package K SSU4-12.7L(12.7 | 43|16
SSA-12.7 | 1000 SSA4-55 | 1000 SSU4-15.9 [159 [3.9[1.2~17
PCB @59 ?ﬁ&ﬁgé’s 18
PCB @59 THICKNESS 1.2~1.7 )
THICKNESS 1.8 %iF PC.B 6.0
— R THICKNESS 1.6
| | ~
Ule < o
b, - ﬁ e
Ll - e
7.1 242 @43 - <
@8 - L @43
FOR M3.5 or M4 SCREW FOR M4 SCREW o979~
FOR M3.5 SCREW [ 5S4-16L ] FOR M4 SCREW
Part No. A | Package PartNo. | A | Package PartNo. | A | Package Part No. Package
SS356.3 | 6.3 SS4-3 | 3.0 SS4-12S [12.0 SSUA4-6.3L | 1000
$83595 | 95| 0 SS4-4 | 40 Ss4-12 [12.7
SS3.5-12.7 [12.7 SS4-4.6 | 4.6 S84-16_[159]
SS35-15 [15.9 Ss45 | 50| oo SS4-16L [ 15.9
SS4-6 | 6.4 SS4-17 [17.0
SS4-8 | 79 SS4-19 [ 19.1
SS49 | 95 SS4-22 222
SS4-11 [ 111 SS4-25 [254| 500
SS4-30 |30.0




R : BHEBARAREZ °
- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit: mm fﬁ
e

N Part No. | Package
g CUS-5 2000

CHASSIS @5.0
THICKENSS 0.8

- Material: Nylon 66 (UL) Rig: —SAAEHEBAMKREZ » A — 3
+ Flame Class: 94V-2/94V-0

HBGE F B iR » —A&RA
- goor: Natural/Black ADVD R ¥ 2 PCHE &

R EBAR R A 83 4 KON ETL

(Hole must be based on the size of your screw)
o> —

" ‘i‘
0 » T
MOUNTING HOLE

PartNo. | A | B | Package
DVDS-5 50| 7.8
DVDS-9 9.4[14.7] 500
DVDS-12 [12.7]18.1

- Material: Nylon 66 (UL) Bk AAHE 2 @RE R 0 B
+ Flame Class: 94V-2/94V-0

%R o
« Color: Natural/Black

 Unit: mm
@5.8 -
@4.8 11
@2.95

/ ©  CHASSIS 4.0
/i THICKNESS 2.3~2.5
53]

13
N~
N

Part No. | Package
SOR-2 2000

<1215
e 3 -
f
(o))
|
Lzl

CHASSIS @55 @
THICKNESS 2.3~2.5 ‘

THICKNESS 2.8

I MOUNTING HOLE
S

FOR M2.5 or M2.6 SCREW

Part No. | Package
SOR-1 2000

Part No. | Package
SOR-3 2000




R Bl ZPCHRAMEE TR 5

. Material: Nylon 66 (UL) iy o
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
 Unit: mm — 08—+
r—ﬁf®3.5
S
| | | ©
I {
@l
Il
| | Part No. | Package
J‘? SSUL-8 1000
CHASSIS @3.5

THICKNESS 5.5

- Material: Nylon 66 (UL) B : ARPCREZ A X -
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
 Unit: mm
hwa
Ej
©
|
i
©
‘F
@ é:{ Part No. | Package
N 35 LIES-1 1000
P.CB @3.8
THICKNESS 2.5
- Material: Nylon 66 (UL) A& AR EERRIPCIRE E ©
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
« Unit: mm
i iy
R Rl s d
'T t L ‘ Fo [] oo
e f@##ﬁ_L
L 10 —
@35 18 PartNo. | B | C | Package
' UBD-1 1.7 |45
%% UBD-2 | 2.0 [4.15 1000
~8.4-—+ 9.5 —

PartNo. | A | B | C | Package

s UB-6A | 10426 5.1
S [ UB-BA | 11.9]24 ] 7.0

| | UB-10A [14.1/25] 9.1] 1000
/ - 15— UBMA (15025100
3M DOUBLE ADHESIVE TAPE UB12A 1164125 111
AR F & HBEA
—14.6 —-
-86+ | < 10
T | JJC“W ®
T ~ N
| @ : e —'\ﬁ j% Part No. | Package
H LL @J MOUNTING HOLE UB-6E 1000




—13.5
9.5+ | & 95
] ! I
7# -
T,
w0
@3- 1
6 -
@3.5ﬁ -4
MOUNTING HOLE
THICKNESS 1.0
Part No. | Package
UB-6 1000

- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

MOUNTING HOLE

THICKNESS 1.6

Part No.

Package

UB-6D

1000

« Material: Nylon 66 (UL)

i AN IR KPCREZ o

MOUNTING HOLE
THICKNESS 1.6

+ Unit: mm
~—135— — 08
4 2 =95+, S8 < 8y
& [ee) [ ;:{ 0
W4 O T4 ]
@3- g —t @34 © —
© S <
@35~ 6 o4 ¥ @35~ 67 g >
RS \@,
b &
MOUNTING HOLE MOUNTING HOLE
THICKNESS 0.8 THICKNESS 0.8
Part No. | Package Part No. | Package
UB-3S 1000 UB-4 1000
15— <9
- 148+ 13 ~
“Merg e, 2. 1
NGk il
<~ I = <
m ir = N e £
026~ & ﬁ_v; o6 - U=
@3\2}?&?@4.5 ‘33{6‘: {&@4-5

Part No.

Package

UB-14D

1000

R : LHPCHR > RPHFRBRES > &

« Flame Class: 94V-2/94V-0 EFm WL o
« Color: Natural/Black
« Unit: mm
127~ ,—THICKNESS 1.6~2.0
" (=
T L/ﬁ @25 o475 Part No. A | B | Package
o <f WLCF-6 6.3/16.8
1 10 WLCF-8 | 80]185
L104 T MOUNTING HOLE WLCF-9 9.5(20.0| 1000
CHASSIS 248 WLCF-12 |12.7|23.2
THICKNESS 0.8~2.0 WLCF-16 |15.9]26.4
THICKNESS 1.6~2.0 .
q 127 - T\ \
C D i
el THE <
T :
‘i <
[ ULCF-6~ULCF-8S ]
! PartNo. | A | B | C | D | Package
CHASSIS @4.8 ULCF-6 6.3/11.0/9.0 8.0
THICKNESS 0.8~2.0 ULCF-8 | 8.0(127]9.0]80
ULCF-8S | 8.0(12.7| 7.6 |6.0 1000
ULCF-9 951421 9.0 8.0
ULCF-12 [12.7(17.4] 9.0 | 8.0
ULCF-16 [15.9/20.6| 9.0 | 8.0




R+ B RPCARAM IR £ » 15T 1EF

7e o
. Material: Nylon 66 (UL) 1 2 F
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

; 6
+ Unit: mm 024 rﬁ @6
12— ~— 13—

Fg.e 11

———1-+  MOUNTING HOLE
|2
T

]

r
106

THICKNESS: T

Part No. T Package
LDD-10 1.6~1.8

a‘ 74 ‘«

Il
=

| |
,,,,,,,,,,,,,

LDD-10(2) | 1.8~2.0 500
+ Material: Nylon 66 (UL) AR FBX > AR FEEHIL 2 HikE
« Flame Class: 94V-2/94V-0 PCHRE = E & » BB &R -
+ Color: Natural/Black Pk H 1R o
+ Unit: mm
Part No. A | Package
ASR-5 4.2
ASR-6 5.6
ASR-7 6.2
ASR-8 7.2
ASR-9 8.2
ASR-11 10.0 500
ASR-12.7 | 11.9
X ASR-145 | 136
= B ASR-159 | 15.1
/3M DOUBLE ADHESIVE TAPE ASR-17.5 | 16.3
ART R EFBHAE ASR-19.1 | 18.3
- Material: Nylon 66 (UL) Rk FE K ARSIl i
+ Flame Class: 94V-2/94V-0 PCHR M = B & o
« Color: Natural/Black 0178
+ Unit: mm

O

- @71
i ~ Part No. | Package
~ AST-7.2 500
T
3M DOUBLE ADHESIVE TAPE

mBERTFEHE &K
(Yo}
«©

P.CB @25

—+ PCB @20 7 THICKNESS 1.6

1 THICKNESS 16

j@%

o @<
= 7] + |
i 0127 —
) 3M DOUBLE ADHESIVE TAPE
3M DOUBLE ADHESIVE TAPE AR REFREE
ARTAREFB&HA
Part No. A | Package
PartNo. | A | Package (GSS-4.8 4.0
1SS-4.8 4.0 GSS-6.4 5.6
1SS-6.4 5.6 GSS-8 7.2
1SS-8 7.2 (GSS-9.5 8.7
1SS-9.5 8.7 1000 GSS-11.1 | 10.3 | 1000
ISS-11.1 1 10.3 GSS-12.7 | 11.9
ISS-12.7 | 11.9 GSS-14.3 | 135
ISS-15.9 | 15.1 GSS-15.9 | 15.1
ISS-19.1 | 18.3 GSS-19.1 | 18.3




Rk FBX > AN FRAEESHIL 2 ik

[~ o
. Material: Nylon 66 (UL) PCAR ] 2 Bl %

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit: mm
a7
o PCB @3.0
j; %i ©  THICKNESS 1.2~1.7 . Patented (& #| &)

f PartNo. | A | Package

g7§;iigj BSS6 | 56
AV BSS9 | 80| 1000

3M DOUBLE ADHESIVE TAPE BSS-12 |19
ARTFREFBZE
PCB @3.0 -
THICKNESS 1.6 054 PCE 230 PartNo. | A | Package
THICKNESS 1.2~1.6 CSS-35 | 2.7
T CSS-5 40
< CSS-6.4 5.6
3 DOUBLE AIZiI\-IEbSIa\a/Ii TAPE | 0SS8 721 1000
SMERTARETEZE 5144.‘ CSS-10 9.2
PartNo. | Package 3M DOUBLE ADHESIVE TAPE css11 | 97
CSSA-2 1000 AR FAEFBZE CSS-12.7 |11.9
o5~ @
PC.B 235
{ THICKNESS 1.2~1.6 PartNo. | A | Package
ﬁ FSS-3.5 2.7
< FSS-5 4.0
ﬁi FSS-64 | 56| o0
| o4 FSS-8 72
3M DOUBLE ADHESIVE TAPE FSS10 | 9.2
ARTF&HE S FSS-12.7 [ 119
@55
PCB @35
JHy 1 THICKNESS 1.2~1.6
1 o‘o ‘
N
<
N Part No. | Package
J FSL-25 1000
D14—J
E 3M DOUBLE ADHESIVE TAPE
BARS A HBEA
P84 pop g5

mfj THICKNESS 2.4

Part No. | Package
FSSA-15 1000

L5




Rk FBX > AN FRAEESHIL 2 ik

[~ o
. Material: Nylon 66 (UL) PCAR ] 2 Bl %

+ Flame Class: 94V-2/94V-0

o e

+ Color: Natural/Black
PC.B @32 Part No A Package
THICKNESS 1.6 -
JSS-4.8 4.0

« Unit: mm
JSS-6.4 5.6

w 043 JSS79 | 68
- JSs84 | 75
< Q 5595 | 85 0
: S ‘ JSs11 [ 106
/3M DOUBLE ADHESIVE TAPE JSS-12.7 | 1.7
AR REHBEHE JSS-15.9 | 15.0
- AR E A N09% 42 %

Part No. A|B|C|D|F T Package
ASS-5 46(10.0(200| 55|7.0|1.2~1.7
ASS-6 55(10.0(20.0| 6.4|7.0|1.2~1.7

LD12.5<—‘

i

RC B e o ASS-6L | 55/102[17.8] 64]69 1216
ASS8 | 7.2/10.0/20.0] 81]7.0 |1.21.7
1 ( *ASSO5L | 86102[17.8] 95]7.0 |1.2-16

ASS0 | 90[10.0/200] 99[70[12-17| o
. é ASS-12.7L[11.8/10.2[18.0[12.7]6.9 [ 1.2~16
—ot T — ASS12  |120[10.0]20.0[12.9]7.0]1.2-1.7
VAR ASSA5 | 15.4]100]20.0]163]7.0 1217
3M DOUBLE ADHESIVE TAPE ASS-15.35|15.3| 8.0(17.8(16.2|7.1]1.2~1.6
AR FEHBEE ASS-15.9L [15.0|10.2|18.0[15.9| 6.9 | 1.2-1.6

ASS-18.5 118.5]10.0/18.0/19.416.8 |1.2~2.0

~—17.8 —

~—17.8 —

i ) B PartNo. | Package
i,_i ULCK-6.4 1000
BART A FEEA
- Material: Nylon 66 (UL) A& : PCREHERANERZ » 7 —AARK

+ Flame Class: 94V-2/94V-0 HBEE o K o
« Color: Natural/Black
 Unit: mm PCB 225
THICKNESS 1.0
45 )

Part No. Package
ULCI-11 1000




iz :PCHRABEBANEE » 7 —AH
s>, sk

. Material: Nylon 66 (UL) HER - 4B H e o
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
« Unit: mm

PCB @25

THICKNESS 1.0

Part No. | Package
ULCIJ-4 1000

P.CB @3.3
THICKNESS 1.0

il
M3X0.5P

Part No. | Package
ULCD-7.8 1000

PCB @33
THICKNESS 1.6 -0

& +-6.35-6
in
e @ « Color: Natural/Black/Green
O
N

PartNo. | A| T | Package
ULCH-2 |2.1|2.16

T ULCH2S [15[16 | %

MOUNTING HOLE
THICKNESS: T

- Material: Nylon 66 (UL) A% PCAREPCHRZEE » iz EEFH
« Ground Terminal Material: SPTE BhiEH, 0 AL o

« Flame Class: 94V-2/94V-0

« Color: Natural/Black/Blue

+ Unit; mm
621
PCB @4.0 o4
THICKNESS 3.0 <
SPACER
SUPPORT—— 508
BODY

GROUND
TERMINAL

6-32 UNC@ 6.
MOUNTING HOLE

THICKNESS 1.2~2.0

Part No. | Package
ULCH-1 1000




Rig : PCARABERANERZ » 5 —BARAR

% T s Bk o
+ Material: Nylon 66 (UL) HEIZ > GBI
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm S
o4
P.C.B @4.0

THICKNESS 1.2~1.6

PartNo. | A | B| C |E| F |Package
ULCC-6 | 6.3 [1.73]14.8 |1.3]5.25
ULCC-8 | 8.0 |1.7 |16.5 |1.3/5.25

m
@ <
! ULCC-10 [10.0 |2.24{19.0 [1.4/5.25| 500
M3 2 @46 | ULCC-12[12.0 [1.75[19.8 |1.4[5.25
; 28 ULCC-19 [18.55|1.9 |27.05]/1.3|5.5

(o]
N
()]

- Material: Nylon 66 (UL) Rt : PCIRAEHEBANERZ > 5 —37Th
+ Flame Class: 94V-2/94V-0 BB RETF o
« Color: Natural/Black
* Unit: mm /\Lﬁﬁm
MOUNTING HOLE {y
THICKNESS 1.6 — ]
-7 ‘———76.35

Part No. Package
ULCBM4-9.5 1000

J7.6*

- Material: Nylon 66 (UL) A% PCRABBRANRBE » 3 —#HEE

+ Flame Class: 94V-2/94V-0 BAMKE T » Z8HIFE -
+ Color: Natural/Black
« Unit: mm

M4X0.7P

P.CB @3.3
THICKNESS 1.57

Part No. C |D| T | Package
ULCSA-8 [17.45]|2.3|2.13 1000
ULCSA-8S |16.5 |1.9/1.57

MOUNTING HOLE

THICKNESS: T
+3.7
—@3.3
PCB @3.3
THICKNESS 1.57
[Te]
A o [39
,7ﬁé
o ©
H H Part No. C | D| T | Package
L a ULCSA-16 [25.45(2.3(2.13 1000
i j ULCSA-16S [245 |1.9|157
48~ o

MOUNTING HOLE
THICKNESS: T



HOLE IN P.C.B
THICKNESS: E

HOLE IN P.C.B
THICKNESS: T

- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

g : PClRAZEBRANER » 5 —BEHE

BAMAARE T » FEHIFEK -

~=3.7
+ Unit: mm —~@3.3
P.C.B @3.3 o g
THICKNESS 1.57 S .39
34
[eo]
&
=)
Part No. Package
48 o ULCSA-28.8S 500
MOUNTING HOLE
THICKNESS 1.57
~—3.5
P.CB @2.35 3235
THICKNESS 1.0 ]
~ 4 -—345
™ 4
%
<
© Part No. | Package
Tl ULCBA-5 | 1000
3¢}
<
CHASSIS @4.0
THICKNESS 2.4
~—+2.9
HOLE IN P.C.B @24
THICKNESS 1.3 ;@( -
i S A%
nllin 4
10 w0 Part No. | Package
- ULCSD-5 1000
@ J: ~@1.5
2
MOUNTING HOLE N4
THICKNESS 1.7 zz.sj > 1215
Part No. E T Package
ULCSF-6.6 1.6 1.93
ULCSF-6.6L 1.4~1.8| 2.3~2.7 1000
ULCSF-6.6XL | 1.4~1.8| 2.52~3.08
ULCSF-6.6XXL |1.4~1.8| 2.83~3.47




g : PClRAZEBRANER » 5 —BEHE

- 3 =4 N s nE I °
» Material: Nylon 66 (UL) BB > 45 BT
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black/Blue 5.3 |-
« Unit: mm |
HOLE IN P.C.B @/ 032
THICKNESS 1.6

]

Part No. | Package

MOUNTING HOLE 4.8 2 ULCSE-7 1000
THICKNESS 2.0 @
& Jagh
53 -

THICKNESS 1.6

-@3.2
HOLE IN PCB @/
53

@ Part No. A | B| T | Package
A ULCSE-7S [4.35/1.8|1.6

[ ULCSE-7S ] ULCSE-7L |50 |1.9]2.34| 1000
ULCSE-7L1 |545| 19|24

MOUNTING HOLE | —~ 48
THICKNESS: T o ®/®2
Yy
r2.75
P.CB @26 2.6
THICKNESS 0.8~1.0
5 —
Part No. | Package
O
< LCUE-3.3 2000

MOUNTING HOLE ~ @3.2~[: 51+ &
THICKNESS 1.4~1.6
-~ 5 ‘+
~—3.15 PCB @4.0 @4
PCB 234 @gu THICKNESS 0.8~1.6
. 5.3

THICKNESS 1.2

3.55

3.25

~ 785

MOUNTING HOLE 4.8

THICKNESS 1.6 I CHASSIS @4.0
Q\:ﬁ THICKNESS 0.8~2.0

Part No. | Package Part No. | Package
ULCBA-7.8 | 1000 ULCE-9 1000




- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

 Unit: mm

THICKNESS 1.6

=69 ~ *

©

— ;

@
ﬁ (o-
[Te]

CHASSIS @4.8
THICKNESS 0.8~2.0

Part No. | Package
ULCBB-7.9| 1000

- Material: Nylon 66 (UL)
 Flame Class: 94V-2/94V-0
+ Color: Natural/Black/Blue
« Unit: mm

=10 5"
|

- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black/Green

gkl 8
]Q[ ' éﬁv
b

AR AR FAESILZ MR EPCHR M 2
Bl & o

~6.851

|
[Po)
T

5.6

MOUNTING HOLE @4.8
THICKNESS 0.8~2.0

Part No. Package
ULCBB-12.7L | 1000

Bk s XWPCHR B PHIRRES >
EmMEE I o

o @34
mj ©
<

MOUNTING HOLE
THICKNESS 2.4

Part No. | Package
LCUA-11 1000

Fig : PClRAZEBRANBER » 5 —BEHE
BAMBE T » H0HIK -

. 75
« Unit: mm I
PCB 3.2 ?%B
THICKNESS 1.6 ~ e
% o 7.7+
N

MOUNTING HOLE
THICKNESS 1.0

- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm
P.CB @4.0
THICKNESS 1.6

- 10 ~

.

[}

MOUNTING HOLE
THICKNESS 0.8~2.4

o441 33.6[‘ WZ.Q
@34

~ 6

@

Part No. | Package
LCUAD-1 1000

a4

Part No. | Package
KES-15 500




Rig :PCRAZEBRANBER » 5 —BEHE

+ Material: Nylon 66 (UL) BAMBEE > ERHHFE -

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

MOUNTING HOLE 48
THICKNESS 1.8~2.2

+ Unit: mm P.CB @4.0
PC.B @4.0 THICKNESS 1.6
THICKNESS 1.6 T'T 635
»‘ 6.9 h g
T,
CHASSIS 4.8
CHASSIS @4.8 THICKNESS 1.6
THICKNESS 1.6~2.2
Part No. A | Package
Part No. Package ULCB-15 |15.9 500
ULCB-9S 500 ULCB-38 | 38.1
6~6.3
gm Part No. A | Package
PC.B 040 ULCB-6 6.3
THICKNESS 1.6~1.8 ULCBS 20
151 . )83 ULCB-9 | 95
© ULCB-10 | 10.0
ULCB-12 [12.7 1000
< ULCB-16 | 15.9
ULCB-19.1 | 19.1
CHASSIS @48 ULCB-23 |23.0
THICKNESS 0.5~2.0
Soh
N THICKNESS 1.6
[e o]
THICKNESS 1.6 % ) =4 _g3o 6.05
[sp]
@32 -4 6.05 T
o [oe]
: ,
T

2

MOUNTING HOLE 48— o
THICKNESS 1.8~2.2

« Color: Natural/Black/Green/Gary

Part No.

Package

LCUAC-2L

1000

Part No.

Package

LCUAC-2R

1000

THCKNESS 16 42T

g3,2\j4‘+ © ~——6.05 .‘4r 232

Sth
% F—G.OS
i

< U M_chn

MOUNTING HOLE 4.8 p
THICKNESS 2.2~2.5 %

THICKNESS 1.6

i

MOUNTING HOLE
THICKNESS 2.2~2.5

Part No.
LCUAC-3L

Part No.
LCUAC-3R

Package
1000

Package
1000




&
T

THICKNESS 1.6

73.2 \T‘ 4 h + 6.05

~--2.55

MOUNTING HOLE 48~
THICKNESS 1.8~2.2

&

Part No. Package
LCUAC-9L 1000

S -t
yo
-4 F 231 2 6.05

THICKNESS 1.6

[Se)

!

55

#

MOUNTING HOLE

487
THICKNESS 2.16~2.64 T@ﬁi{

Part No. Package
LCUAC-11R 1000

Rig :PCRAZEBRANBER » 5 —BEHE

- Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
 Unit: mm

THICKNESS 1.6

@3\*‘ ' T8
r
1l =l J

MOUNTING HOLE ;121 &
THICKNESS 2.9

1
b
=

Part No.
LCUAC-7L 1000

THICKNESS 1.6

@324
o
¥
MOUNTING HOLE 48~ o
THICKNESS 1.6 %
Part No. Package

LCUAC-8L 1000

THICKNESS 1.6

4032

7
MOUNTING HOLE 483
THICKNESS 1.8~2.2 |
Part No.
LCUAC-9R | 1000

4L'5|
THICKNESS 1.6 NindlIN I
@3.1K+4\* © ~6.05~
[ee} [Tp)
w0
N

MOUNTING HOLE
THICKNESS 1.81

~4.81 5

Part No. Package
LCUAE-8L 1000

BAMBEZ » 8K -

THICKNESS 1.6
-4 - «© ~—F6.05
5;/ @
I
i

1.
MOUNTING HOLE 3
THICKNESS 2.9

Part No. Package
LCUAC-7R 1000

THICKNESS 1.6

T4 @32 6.05
T
e
|

MOUNTING HOLE ~4.8~ o3
THICKNESS 1.6
Part No. Package

LCUAC-8R 1000

THICKNESS 1.6

@314 @ 6.05~
i
(o) Yo}
0
N
——
MOUNTING HOLE 481 o
THICKNESS 2.16~2.64 !
Part No. Package

LCUAC-11L 1000

THICKNESS 1.6

-4 h’/g3.1 © —~6.05
°° 2
| o
i
MOUNTING HOLE 48 3
THICKNESS 1.81 ‘«E@
Part No. Package

LCUAE-8R 1000




THICKNESS 1.6

Ly

MOUNTING HOLE 8 &
THICKNESS 2.5~2.8
Part No. Package
LCUAE-12L 1000

- Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
 Unit: mm

THICKNESS 1.6

4rogs @

SV

MOUNTING HOLE
THICKNESS 2.5~2.8

TME P

6.05

o || .
***** i

Part No.

Package

LCUAE-12R

1000

- Material: Nylon 66 (UL)
Flame Class: 94V-2/94V-0
Color: Natural/Black

« Unit: mm

MOUNTING HOLE
THICKNESS 0.8~1.8

Rig :PClRAZERBRANER » 5 —BEHE
BAMBEZ » 8K -

THICKNESS 1.6
@28 141

MOUNTING HOLE 4.8 @
THICKNESS 2.6~2.8

Part No. Package
LCUAE-16LA 1000

A% ANPCHREZ ARG » HFrep 18 o

P.C.B HOLE @4.0

Part No. A | B | Package
LCMM-8 [14.0] 8.0
LCMM-12 |18.0 [ 12.0 1000
LCMM-18 |24.0 | 18.0

59 -~ PCB HOLE @4.0

&

-

16.3—

]

S

MOUNTING HOLE

" T THICKNESS 0.8~2.0

Part No. Package
LCMM-4 1000




R : BPCHREZ A L » PCART AT

+ Material: Nylon 66 (UL) #%30°H % o

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

 Unit: mm
MOUNTING HOLE
THICKNESS 1.6
Part No. | Package
PS-16 500
- Material: Nylon 66 (UL) Aig : ARPCARE R B3 » FrEpHAE -
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
« Unit: mm
~-10.2+ 55 r
T F @3.3
I I <
(o))
A 2 i+
i i IN = ™ P.CB @3.3
i i T THICKNESS 1.6
I
W s
o L
9.8 —
-7 Part No. | Package
J{ 5.5L KEMS-11.3 500
CHASSIS HOLE

THICKNESS 0.8~1.2 Dﬁ

106
~~—@3.3
14.3 5
r10.6j | o4
) — B
<t -~
o o <
@ | 4
D
= = —T P.C.B @4.0 MOUNTING HOLE
© THICKNESS 1.6 @ P.C.B THICKNESS 1.6
/N ]
10—

7.1
JER
MOUNTING HOLE B P

CHASSIS HOLE

THICKNESS 1.0~1.8 THICKNESS 1.0~1.8 w

Part No. A | B | Package
Part No. | Package KEML-10 |25.6|10.0 500
KEML-4 500 KEML-12 [27.6/12.0] 1000




AR ARPCIREMKZ B o

- Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0

+ Color: Natural/Black

 Unit: mm 9.8

1.6 \
o
o
<
3
]
2 PartNo. | Package
w S LCU-18 | 2000
CHASSIS 94.3
THICKNESS 4.0
- Material: Nylon 66 (UL) Ak FE KX AAPCHKM E#ERAR
+ Flame Class: 94V-2/94V-0 T o
« Color: Natural/Black
« Unit: mm
~14.9 -

— 7
IRk
E

P.C.B THICKNESS 1.6

Part No. Package
~ ULCKA-15.6 | 1000

3M DOUBLE ADHESIVE TAPE
MERTAREHFE&HA

- Material: PC+ABS it ARNPCBEIZ B33 » HEFAE -
« Color: Natural/Gray
« Unit: mm

—j®3.3

j Part No. | Package
j KESS-19 | 500
775+
- Material: Nylon 66 (UL) R BRI ARKE R » 7 —FRA
+ Flame Class: 94V-2/94V-0 HBRAPCIR ©
+ Color: Natural/Black
 Unit: mm
|1 PCB @40
j THICKNESS 1.6~1.8
\‘ H HE ] ?
B[/ B -
- 041 Part No. | Package
© LCBL-8 1000

i
Lizs—i



Rig : ARPCAREMRZ B L °
+ Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm
- 176 156 —
- T
m% %Dﬂ S mmm S
4 A
~i4.9 8.8+ =15 10~
! T
© 0
0, [z NI
o o i
15+ 1 L1.5 - f
~—13 10.8
Part No. | Package Part No. | Package
LIH-8 2000 MOU-01 2000
- Material: Nylon 66 (UL) it : ARPCHREBRME S » H8FH
+ Flame Class: 94V-2/94V-0 1% o
« Color: Natural/Black
+ Unit: mm
- 24 - CHASSIS 1.8
18 THICKNESS 1.0~1.2
H :
/N o
t © wEREE
\ ] =
o35 0 t PartNo. | #8% 7% & | Package
SRMA-2 R
[ SRMA-2A ] [ SRMA-2B ] SRMA-2A
SRMA-2F | SRma-28 | 2%
i
1@ il
L /V AN { /3/ PartNo. | A | Package
@4 g SRMA-3 | 3.0
3 3 10 J SRMA-35 | 3.5
i — SRMA4 [40] 00
;3} mERERE SRMA-5 | 5.0
CHASSIS 2.0 SRMA-6 | 6.5
~ gug THICKNESS 0.8~1.6 SRMA-9 9.0
- Clip Material: PC (UL)/94V-2 At s ARPCREMRMZEZ 5K o
- Pin Material: Nylon 66 (UL)/94V-2
« Color: Black
+ Unit: mm
1
™
j
PN~ 11
i Part No. A B | Package
ap L] 8 SCMB4.8 | 48 [166
YO+ . SCMB-63 | 6.35]18.3
; SCMB-95 | 95 |2145|
SCMB-12.7 [12.7 |24.65
10— SCMB-15.9 [15.9 |27.85
CHASSIS 26.3~@6.4  CHASSIS @6.4~g65 | SCMB-19.1 [19.1 |31.05

THICKNESS 14~24  THICKNESS 0.8~1.6
[ SCMB-4.8 ]



Mg AREHZERZ -

« Material: PC (UL)
+ Flame Class: 94V-2
+ Color: Natural/Black
« Unit: mm @12j N
[
©
1 &
=
U Part No. | Package
o6 *62-6 SMHC-1 1000

AR PCAREPCAR M Z B & » RAEZEH -

- Material: Nylon 66 (UL)/PC (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm P.C.B @4.0
THICKNESS 1.6~1.9

=1 4
~]3
| Part No. | Package
MSPR-3 1000
P.C.B @4.0
THICKNESS 1.6~1.9
- Material: Nylon 66 (UL) Rig : MAPCRMBZEE o
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
+ Unit: mm
P.C.B @3.2
THICKNESS 1.6
‘ [gz @3.2
3 &
o 5
— | 3

MOUNTING HOLE

v gjg N
®1 ‘8 | 4
~——95 Part No. | Package

PCB 232
THICKNESS 1.6 LUCE-1 1000

MOUNTING HOLE @2.0
THICKNESS 1.6

© L lg35
L =N Part No. | Package

‘ ;t EM-682 2000

MOUNTING HOLE @2.0
THICKNESS 1.6




R ARPCIRE T » £ PCR AR A&,

o I—d °
. Material: Nylon 66 (UL) 0° B <
+ Flame Class: 94V-2/94V-0
* Color: Natural/Black TYPICAL APPLICATIONS
* Unit: mm TYPE 1 TYPE 2
PCB
16 _
9026
©/ PCB
TYPE 3 TYPE 4 PCB
PCB
5= . -
-6 @26 9 " ! ;
‘ F———a7T *‘ ’ \‘;‘/ \'L/
Te I PCB/PANEL PCB/PANEL
7 L
— PartNo. | Package
PMB-1 500
Part No. | Package
Ll PMB-2 | 500
<
T
- Material: Nylon 66 (UL) & R E RPCARDHAR £ o
+ Flame Class: 94V-2/94V-0
- Color: Natural/Black
« Unit: mm
o5
[Te)
=
@4 Part No. | Package
- 6 TCEA-1 | 1000
] ]
i) =
T

- Material: PC (UL) A& AR BZPCRAMEARE ©
+ Flame Class: 94V-2/94V-0

- Color: Transparent

« Unit: mm
19
@3.2
1
0
e
|
Ry Part No. | Package
< 1 HW2839 1000
|
~7.5+ =




A& s — B ERHBARRPCIRE > 5 —
L A  aN° o
+ Material: Nylon 66 (UL) S Bl & A PCAR L 290
+ Flame Class: 94V-2/94V-0
« Color: Natural/Black

+ Unit: mm
© 2
= » b —
—1 ©
® ¢ U W
PCB @40 PCB @4.0 o
THICKNESS 1.6~1.8 THICKNESS 2.36
25 234 —
7 18— *
@ T )~ oGRS
y {
Part No. | Package Part No. | Package
LPZ-1 1000 LPZ-9 1000
o 75 < =
Ve ) nk T2
W W il o
P.C.B @4.0 P.CB @4.0 P.CB @3.8
THICKNESS 1.6 THICKNESS 3.0 THICKNESS 1.4
25.3 %5
h”'zﬂ i 20
¥ Ve i
= [[]3 s o194
T e -
—
Part No. | Package Part No. | Package
LPZ-6 1000 LPZ-2 1000
R : BB RPCRI AR £ o
- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
+ Unit: mm [0.8(X3) @21~ 25+
o Y

*‘2.5*

T
B [

@21+

i

@2.1 w |
N

%}’T T

Part No. | Package
DELT-25 1000

Part No.
DELT-19

- Material: PC (UL)

» Flame Class: 94V-2 T m

+ Color: Transparent

« Unit: mm S + @3
0
(o)}
i

Part No. | Package
LPZA-1 1000




Fig : ARH R 2 8% -

« Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

 Unit: mm
T Ei—
2 [Te)
= 5 o B—H
1
27 | < - 65+ 2
L PR 1y
$ o5 B L ©
- I |
MOUNTING HOLE @2.5 MOUNTING HOLE @2.5
THICKNESS 3.0 THICKNESS 2.5
Part No. Package Part No. Package
CGLF-32 1000 CGLE-18 1000
- Material: Nylon 66 (UL) B APCRERRZ B -
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
+ Unit: mm
141
' P = o L
N T [ PartNo. | Package
R TT - -—105— JYCE-1 1000
A ARPCREMRM 2 B E -
- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
« Unit: mm
- @99
S
-+ @38 W 295 -
min {
i i 1 ™~ Part N Pack
il 5 8 4 NCE2 | 500
i I R W
L 23,75 L g375
[ JYCE-2A ] [ JYCE-2B ]

AR BAPCIREMR M 2 S HBK

+ Material: POM (UL) A e
+ Flame Class: 94HB
. Co!or: Natural/Black
+ Unit: mm rQ)S*
- @55
28+ i
T T =
} } 2 I 1 PartNo. | Package
n R RXS-1
L 3 500
- o14— Lo RXS-13.5

[ RXS-13.5 ] [ RXS-1)



Rt : ARNEB 844 A » RSUA-1A

- Material: POM (UL) SARSUA-IBF AL &R A ©
« Flame Class: 94HB ~—@8.8—
- Color: Black 4.9
« Unit: mm ?8.8
@4.88
=gy a
029 = @
T ©
ﬂi—fi =1
f
Part No. Package Part No. Package
RSUA-1A 1000 RSUA-1B 1000
- Material: PC (UL) A MAPCIREMRE 2 #HE®E T -
« Flame Class: 94V-0
« Color: Natural @19.8
« Unit: mm
@10.5
76.2
i o
\ |~
f
Part No. Package Part No. Package
RLA-1 500 RLA-12.7 500
- Material: Nylon 66 (UL) Mg ARPCREBREZ B RBE -

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

 Unit: mm
@12
- @6.9 — PCB @72
Cr— T
P =
< { ‘ — |
LQS.SJ
Part No. Package Part No. Package
RML-1 1000 RML-25 1000
- Material: ABS (UL) « Material: Nylon 66 (UL)
+ Flame Class: 94HB + Flame Class: 94V-2/94V-0
+ Color: Natural + Color: Natural
« Unit: mm + Unit: mm
- L= F::Z;M PR
T F | 7‘I7 i L «6.9ﬁj34+
S~ T; 5 | = P+ 11 1
(SIS S () S~ = =
| ij»j —L | ss| || 8 %% &
| I S L ,J
P.C.B @6.5
CHASSIS @4.0 P.C.B @6.5
[ RMM- ] [ RMM-1 ] THICKESS @24
[ RMM- ] [ RMM-3 ]
Part No. L | Package
RMM-75 | 7.5 Part No. L | Package
RMM-1 | RMM-100 | 10.0 1000 RMM-57 | 5.7
RMM-150 | 15.0 RMM-3 RMM-200 | 20.0 1000




Fig : ARPCIREMRARE X B JREEHK o

- Material: ABS (UL)
+ Flame Class: 94HB
+ Color: Natural

* Unit: mm  Material: Nylon 66 (UL)
* Flame Class: 94V-2/94V-0
L F%H § Part No. L | Package
R T T RSS-60 | 6.0
= e e RSS-78 | 7.8] 1000
s | |87 ——— 3 RSS-105 | 105
T = -7 l L | - :
PCE 250 RSS-1 | RSS-150 | 15.0
CHASSIS @3.5 RSS-180 |18.0]
RSS-200 |20.0
L — - .
L [ RSS- ] [ RSS-1] RSS-250 | 25.0
© N o —
) S 88
I ' P
L 12.8 —~
~— L — 4.1~
PC.B 29.0 ——— p1 1 T
CHASSIS 6.0 AN =1 | < Part No. L | Package
[ RXL-] [ RXL ] s s |8 RLL-57 | 57
e =t RLL75 | 75| 1000
Part No. L | Package PCB @75 RLL-1 RLL-100 |10.3
RXL-5 5.0 CHASSIS @4.5 RLL-150 |15.0 500
RXL-1 | RXL-7 75| 500 [ RLL- ] [ RLL-1] RLL-200 |20.0 1000
RXL-10 [10.0 RLL-254 (254
Aig : MAPCREMRIR 2 B
- Material: ABS (UL) - Material: POM - Material: N6T (UL)
+ Flame Class: 94HB » Color: Black « Flame Class: 94V-0
+ Color: Natural/Black « Unit: mm « Color: Black
+ Unit: mm  Unit: mm
@3.05
@24 - 5
gg | ~@4.8-
T 17 1 128
I + ‘ | !
=T ‘ lios ; {gﬁ
B | . e | i
~ @43 LL%J -5
~—@5— a7.5 — ~—@75—
Part No. Package Part No. Package Part No. Package
LASK-4 1000 LASK-5 1000 LASK-6 1000
« Material: PC+ABS (UL)
+ Flame Class: 94V-0 - @129 —
+ Color: Natural SR @6.1
+ Unit: mm — j
919.2 | o
H@B.Z r L 38
‘ © © l ‘
‘ 5 2135
— 4 5L
- @212 L g7
Part No. Package Part No. Package
RCXL-1 1000 RCXL-14 1000




A& MARMEEBRHMZEZHERE -

- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm
@11.6 —
jﬂ@?.ﬁS
@5.4
[ \
S1s
\ 777777 \3 !
f
Part No. Package
RCSL5-10 500

- Material: Nylon 6T (UL)
+ Flame Class: 94V-0

« Color: Black

« Unit: mm

@11.6 —
@7.65
%Aﬁ
[ \ f
dds
| 297
f
Part No. Package
RCSL6-8.5 500

Rt ARG IR BER -

Part No.

Package

R7-13

1000

Bt FB X > MAPCRZES -

« Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm

~- Q147
KT*@GJ
Pt
| | Q
RN

AM DOUBLE ADHESIVE TAPE

Part No.

Package

6-13A

1000

A% MAPCHREMEZBER -

- Material: Nylon 66 (UL)
« Flame Class: 94V-2/94V-0

+ Color: Natural/Black

+ Unit: mm
~— @21 —

199
-
| |

s
17

Part No.
9-15

Package
1000

]

]

PartNo. | A | B Package
KE3.5-2 |2.0]3.5|6.3] 2000
KE4.1-8 |8.0/4.116.0] 1000




+ Material: Nylon 66 (UL)
« Flame Class: 94V-2

P APCHREBKRRZBEA o

@4 06
+ Color: Red
 Unit: mm 92.92
‘B Part No. | Package
j EM-733 2000
- Material: PC (UL)
+ Flame Class: 94V-2/94V-0 @9.2
« Color: Natural @6.2
« Unit: mm
o Part No. | Package
] & DELTA-3 | 1000
J—
« Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
« Unit: mm
Part No. | Package
RR-1 1000
« Material: Nylon 6T (UL)
+ Flame Class: 94V-0
« Unit: mm 6.6 —
fe43n g PartNo. | A | B | Package
0321 @ LUS-27 |27 |15
LUS-29 (29 |07
< LUS-3 30 |07 1000
— LUS-3.85 [3.85[1.4
MOUNTING HOLE @4.5
- Material: ABS (UL) - Material: Nylon 66 (UL)
+ Flame Class: 94HB + Flame Class: 94V-2/94V-0
+ Color: Natural + Color: Natural/Black
+ Unit: mm « Unit: mm
- @6.5 |- ™ QE R
+ 0511 ~ @D}t | @
@3.2%{ @ i
f
I [ <
I - 0
I 1] « ‘T ‘ ‘ T l
LY
bt [
PartNo. | A | B| D | E | F | Package
Part No. | Package LUS-10 [10.0/1.5/3.2|55| 7.5] 1000
LUS-9.1 1000 LUS-745 [745/1.0(6.5/8.0(10.0 500




R ANPCHREMR 2 BY% o

+ Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
 Unit: mm

Part No. | Package
LUS2-8.2 1000

MOUNTING HOLE @3.5

« Material: PBT (UL)
+ Flame Class: 94V-0
+ Color: Natural/Black

« Unit: mm
@\
2.3 Part No. A B | Package
AT ] - LUSS-62 | 62 |10
[ ] q LUSS-64 | 64 |14
< . LUSS-74 | 7.07 |14
{ | LUSS-9 90 |14] 1000
o L ona LUSS-04 | 943 |14
4.5 2. LUSS-10.1 | 10.06 | 14

[ LUSS-6.2, LUSS-9 ]

A% PCREPCHRE 2 B E » R4EZERH -

- Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm

a7

P.C.B @5.0
THICKNESS 1.6~1.8

a T PartNo. | Package

[Ye)
P LUSA-11 | 1000

1 - Part No. | Package
Sw LUSB-10 1000

5.4+ -5.1 *‘




Rig : MAPCIRZ#& » RI KA -

+ Material: Nylon 66 (UL)/POM/TPE/PE/
PC (UL)/ABS (UL)/PPS

+ Flame Class: 94HB/94V-2/94V-0

+ Color: Natural/Black

Unit: mm —0C— - oC - ac
o8 08 ﬁ @Bﬂ
I ' | |
D T
I } } < } }
L J SoA ]| I J
[23-5,23-55] [ 4.9-45 49-115 4913 ]
Part No. A(L) B(ID) | C(OD) | Package Part No. A(L) B(ID) | C(OD) | Package
0.7-16 16 |07 | 20 355318 | 318 | 355 | 6.5
0.7-3 30 | 071 | 22 356476 | 476 | 356 | 7.94
1.2-2.5 25 1.2 4.0 1000 3.56-9.53 9.53 | 3.56 6.35 1000
123 30 |12 | 32 3.6-2 20 136 | 70
125 50 |12 | 40 3.6-19 190 | 36 | 80
1.2-6.35 6.35 | 1.2 | 32 2000 3.76.1 6.1 |37 | 64 | 000
12-7.6 76 |12 | 40 3.795 95 | 373 | 6.35
143 30 | 14 | 35 1000 3.7-10 100 | 373 | 6.35 | 1000
16-2 20 |16 | 40 3805 05 138 | 53 | 00
16-4 40 |16 | 40 3855 55 | 38 | 53
16-5.9 580 | 1.63 | 3.18 | 2000 3.95.3 53 139 | 80 | oo
17-13 | 13 | 17 | 30 1000 3.95-3.8 38 | 395 | 6.1
2-3-1.9 19 | 2.02 | 30 2000 4438 48 | 40 | 75 | 2000
2.05-3.5 3.5 2.05 3.0 1000 4.1-25 25 41 8.0 1000
2121 21 |24 | 24 4224 24 42 [ 75 | 00
2225 15 | 22 | 25 2000 4248 48 | 42 | 55
2.5 50 | 22 | 40 4285 85 | 42 | 100 | 1000
235 50 | 23 | 50 4315 15 [ 43 | 58 | o0
2355 55 | 23 | 50 4355 55 | 43 | 58
2494 04 | 24 | 48 43105 | 105 | 43 | 58
25215 215 | 25 | 40 43155 | 155 | 43 | 58 | 1000
251655 | 160 | 25 | 55 1000 446 60 | 44 | 743
2.72.8 284 | 27 | 6.35 4464 64 | 44 | 95 | 2000
2.76.7 671 | 27 | 6.35 4532 318 | 445 | 6.35
27323 23 | 273 | 43 45275 275 |45 | 60 | o0
2838 38 | 28 | 43 4511 10 | 45 | 70
2.95-8 80 | 295 | 355 45115 M5 | 45 | 70
3-25-6 250 | 30 | 6.0 45199 | 199 | 45 | 61 250
3.1-2 20 |31 | 60 4735 35 | 47 | 60
3122 22 | 31 | 80 2000 493 30 | 49 | 794
3135 35 | 31 | 57 4945 45 | 49 | 7.94
*3.1-3.7 3.7 3.15 5.0 4.9-11.5 1.5 49 7.94 1000
3.1-4-6 40 |31 | 60 4913 130 | 49 | 7.94
315 50 | 34 | 60 535 35 | 50 | 90
316 60 | 31 | 60 1000 54 40 |50 | 120
*63175 | 75 | 34 | 6.0 542 42 |50 | 70
3175 75 34 | 80 5650 65 |50 | 95 | 2000
3.1-8 80 | 31 | 60 2000 5790 79 |50 | 95
3138 385 | 315 | 50 1000 5-38.1 381 |50 | 79 | 1000
314 40 | 345 | 50 540 400 |50 | 90 500
3222 22 |32 | 55 2000 514127 | 127 | 51 | 95
3225 25 | 32 | 42 522 20 |52 | 68
323 30 |32 | 58 5223 23 |52 | 68
3.0-4.45 445 | 32 | 64 523 30 |52 | 68
3538 585 | 32 | 50 5.0-4.1 41 |52 | 68 | 1000
3264 64 | 32 | 58 5.26 60 | 52 | 100
6432-6.4 64 | 32 | 64 1000 5275 75 |52 | 76
3.06.8 68 | 32 | 45 5.2-11 M0 |52 | 76
3.2-10 100 | 32 | 80 5.2-13 130 | 52 | 68
3.35.5 50 | 335 | 80 *53-2.8 28 | 53 | 85 | 2000
3555 55 | 35 | 63 54122 | 1220 | 54 | 953 | 250
3.55-10 10.0 3.55 6.0 5.5-4 4.0 55 15.0 1000




Rk MAPCHZ &% > RTER -

+ Material: Nylon 66 (UL)/POM/TPE/PE/
PC (UL)/ABS (UL)/PPS

+ Flame Class: 94HB/94V-2/94V-0

+ Color: Natural/Black

« Unit: mm
Nkl
T
| |
T
i
Part No. A(L) B(ID) | C(OD) | Package Part No. A(L) B(ID) | C(OD) | Package
5.55-11.8] 11.8 5.55 7.0 6-4.8 4.8 6.6 91
5-5 5.0 5.6 8.6 6-16 15.7 6.6 91
5-6 6.0 5.6 8.6 6.8-5 5.0 6.8 10.0
5-7.9 7.9 5.6 8.6 6.9-12.7 | 127 6.9 12.7 1000
5-8 8.0 5.6 8.6 7-5.5 5.5 7.0 13.0
5-8.8 8.8 5.6 8.6 1000 7-8.7 8.7 7.0 10.0
5-11.8 11.8 5.6 8.6 7.5-8.9 8.9 7.5 10.0
5-14 14.0 5.6 8.6 7.5-29 29.0 7.5 11.0 250
5-16.5 16.5 5.6 8.6 8-16 15.7 8.1 10.7 1000
5-16.7 16.7 5.6 8.6 8.2-5.5 5.5 8.2 12.0
5-17 17.0 5.6 8.6 #*8.2-80 80.0 8.2 10.0 250
5-20 20.0 5.6 8.6 250 8.4-5 5.0 8.4 16.0
5.7-12.9 12.9 5.7 7.7 1000 8.5-4.6 4.6 8.5 10.3
5.7-141 14.1 5.7 7.7 8.5-612 6.0 8.5 12.0
5.8-4.9 4.9 5.8 7.3 8.5-8 7.9 8.5 11.0
5.8-14.4 14.4 5.8 7.3 2000 *9-2.5 2.5 9.0 15.0 1000
6-6 6.0 6.0 10.0 %*9-4 4.0 9.0 15.0
6-22 22.0 6.0 15.0 250 *9-10.5 10.5 9.0 15.0
6.2-6S 6.0 6.2 10.0 9.1-7.5 7.5 9.1 17.9
%6.2-10 10.0 6.2 10.4 1000 9.25-4 4.0 9.25 | 1225
6.2-12 12.0 6.2 10.4 9.5-34 34.0 9.5 19.0
6.3-5 5.0 6.3 15.0 10-6 6.0 | 10.0 12.0 250
6.3-20 20.0 6.3 12.7 250 1012-26 | 26.0 | 10.0 12.0
%6.35-3.2 3.2 6.35 9.1 12-19 19.0 | 120 14.0 1000
6.35-7.1 7.1 6.35 8.0 1000 12.4-5 50 | 124 22.0
6.4-3 3.0 6.4 12.0 12.8-35 350 | 128 22.0 250
6.4-10 10.0 6.4 20.0 500 13-5 50 | 13.0 24.0
6.5-3 3.0 6.5 9.2 1000 20.5-9.5 95 | 205 25.5 500
6-4.2 4.2 6.6 10.6 29-16 16.0 | 29.5 335 250

- Material: Nylon 66 (UL)/PBT (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit: mm
7| @37 - PartNo.| A(L) | Package | |[PartNo.| A(L) | Package
192211 218 | 18 28 | 80
- 22 | 20 2-9 9.0
| T( 225 | 25 295 | 95
i 23 | 30 2-10 | 10.0
] 232 | 32 241 | 110
24 | 40 | 2000 212 | 120 2%
243 | 43 213 | 13.0
25 | 50 214 | 140
253 | 53 215 | 15.0
26 | 60 2-16 | 16.0
27 | 70




g MAPCRZ %5 » RTHA -

+ Material: Nylon 66 (UL)/PBT (UL)
+ Flame Class: 94V-2/94V-0

« Color: Natural/Black Part No. | A(L) | Package
+ Unit: mm 2.6-2 20
2.6-3 3.0
2.6-4 40
2.6-5 5.0
- @45 2.6-6 6.0
TQZ.G T 2.6-7 7.0
! ! 2.6-8 8.0

] 269 | 90| 2000

} } < 2.6-10 10.0
| | 2.6-11 11.0
L J 2612 | 12.0
2.6-13 13.0
2.6-14 14.0
2.6-15 15.0
2.6-16 16.0

+ Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
« Color: Natural/Black

« Unit: mm @

j@B.Zr
| | T
L
1| T
| |
L J
Part No. | A(L) | Package
Part No. | A(L) | Package 3-13 13.0
315 15 3-136 | 13.6
3-2 2.0 314 [ 14.0
3-25 25 315 | 15.0
3-3 3.0 3155 | 15.5
333 33 316 | 16.0
3-35 35 3-165 | 165
34 4.0 3-16.8 | 16.8
3-4.2 42 3-17 17.0
3-45 45 3175 | 175
@ 35 5.0 3-18 18.0
3-5.1 5.05 3-19 19.0
355 | 55 | 2000 320 | 200 1000
~C 3-6 6.0 3-21 21.0
9B 3635 | 6.35 322 | 220
| ;T 37 7.0 323 | 23.0
o 375 75 324 | 24.0
< 38 8.0 325 | 25.0
| ;J 39 9.0 326 | 26.0
L 3-95 95 327 | 27.0
310 | 10.0 328 | 28.0
Part No. | A(L) | B(ID) | C(OD) | Package 3105 | 105 329 | 29.0
3-20L [200]32 | 6.0 1000 3-11 11.0 3-30 | 30.0
3-38.1 |38.1]3.05] 6.35 312 120 3-35 | 35.0




R MAPCHRZ#E » RI KA -

- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm @

- QC —~

i QB L

P

| |

] <

]
PartNo. | A(L) | B(ID) [ C(OD) | Package PartNo. | A(L) | B(ID) | C(OD) | Package
3.5-1.6 1.6 35 6.3 4-2 2.0 42 6.3
3.5-2 2.0 35 6.3 4-3 3.0 42 6.3
3.5-3 3.0 35 6.3 4-34 34 4.2 6.3
3.5-35 35 35 6.3 4-35 35 4.2 6.3
3.5-4 4.0 35 6.3 4-4 40 42 6.3
3.5-45 45 35 6.3 4-4.83 4.83 4.2 6.3
3.5-5 5.0 3.5 6.3 4-5 5.0 4.2 6.3
3.5-6 6.0 35 6.3 2000 4-6 6.0 42 6.3
3.5-6.4 6.4 3.5 6.3 4-7 7.0 42 6.3 2000
3.5-7 7.0 3.5 6.3 4-75 7.5 4.2 6.3
3.5-75 7.5 35 6.3 4-8 8.0 4.2 6.3
3.5-8 8.0 35 6.3 4-8.5 8.5 4.2 6.3
3.5-9 9.0 35 6.3 4-9 9.0 4.2 6.3
3.5-95 95 35 6.3 495 95 4.2 6.3
3.5-10 10.0 35 6.3 4-10 10.0 4.2 6.3
3.5-11 11.0 35 6.3 4-11 11.0 4.2 6.3
3.5-12 12.0 35 6.3 4-12 12.0 4.2 6.3
3.5-12.7 12.7 35 6.3 4-12.7 12.7 4.2 6.3
3.5-13 13.0 35 6.3 4-13 13.0 42 6.3
3.5-14 14.0 35 6.3 4-14 14.0 4.2 6.3
3.5-15 15.0 35 6.3 4-15 15.0 4.2 6.3
3.5-15.5 15.5 35 6.3 4-16 16.0 42 6.3
3.5-16 16.0 35 6.3 417 17.0 42 6.3
3.5-17 17.0 35 6.3 4-18 18.0 42 6.3
3.5-17.7 17.7 35 6.3 4-19 19.0 42 6.3
3.5-18 18.0 35 6.3 4-20 20.0 42 6.3
3.5-19 19.0 35 6.3 4-21 21.0 4.2 6.3
3.5-20 20.0 35 6.3 4-22 22.0 4.2 6.3
3.5-21 21.0 3.7 6.3 1000 4-23 23.0 4.2 6.3 1000
3.5-22 22.0 3.7 6.3 4-24 24.0 4.2 6.3
3.5-23 23.0 3.7 6.3 4-25 25.0 4.2 6.3
3.5-24 24.0 3.7 6.3 4-26 26.0 4.2 6.3
3.5-25 25.0 3.7 6.3 4-27 27.0 4.2 6.3
3.5-26 26.0 3.7 6.3 4-28 28.0 42 6.3
3.5-27 27.0 3.7 6.3 4-28.7 28.7 4.2 6.3
3.5-28 28.0 3.7 6.3 4-29 29.0 4.2 6.3
3.5-28.5 28.57 3.55 6.35 4-30 30.0 4.2 6.3
3.5-29 29.0 3.7 6.3 4-40 40.0 4.2 6.3
3.5-30 30.0 3.7 6.3 4-45 45.0 4.2 6.3
3.5-35 35.0 3.7 6.3




i BAPCIREPCAR R A = Bl &

- Material: Nylon 66 (UL) Ok
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit: mm
Part No. A Package Part No. A Package
KWH2-1.6 1.57 KWH2-15 15.0
B T KWH2-2 2.0 KWH2-15.9 | 15.9
= D;D - KWH2-3 3.0 KWH2-16 160 | o0
E C J KWH2-3.5 35 KWH2-17 17.0
M2 KWH2-4 4.0 KWH2-18 18.0
M2 KWH2-5 50 KWH2-19 19.0
KWH2-6 6.0 KWH2-20 | 20.0
229 KWH2-6.3 6.3 KWH2-21 21.0
@5 ol KWH2-7 7.0 KWH2-22 | 22,0
[ KWH2-16 ] ' KWH2-8 8.0 2000 KWH2-23 | 23.0
KWH2-9 9.0 KWH2-24 | 24.0
KWH2-9.5 95 KWH2-25 | 250 | 000
KWH2-10 | 10.0 KWH2-25.4 | 25.4
KWH2-11 11.0 KWH2-26 | 26.0
KWH2-115 | 115 KWH2-27 | 27.0
KWH2-12 | 12.0 KWH2-28 | 28.0
KWH2-12.7 | 12.7 KWH2-29 | 29.0
KWH2-13 | 13.0 KWH2-30 | 30.0
KWH2-14 | 14.0
Part No. A | Package Part No. A | Package
1 KWH3-1.5 15 KWH3-14 14.0
} } KWH3-2 2.0 KWH3-14.3L | 14.3
< ] < KWH3-3 3.0 KWH3-15 15.0
| KWH3-32L | 3.2 KWH3-15.9 | 15.9
J . KWH3-3.5 35 KWH3-16 16.0
B — KWH3-4 40 KWH3-17 17.0
M3 M3 KWH3-5 50 KWH3-18 18.0
@ @ KWH3-6 6.0 KWH3-19 19.0
N N KWH3-6.3 6.3 KWH3-20 | 20.0
- o4 - ~@3.6- KWH3-7 7.0 | 2000 KWH3-21 21.0
- 06.4 955 KWH3-8 8.0 KWH322 | 220 1°%0
[ KWH3-3.2L, KWH3-14.3L ) m:gg 5 gg m:ggi gig
KWH3-10 10.0 KWH3-25 | 25.0
KWH3-11 11.0 KWH3-254 | 25.4
KWH3-11.5 | 115 KWH3-26 | 26.0
KWH3-12 12.0 KWH3-27 | 27.0
KWH3-12.7 | 12.7 KWH3-28 | 28.0
KWH3-13 13.0 KWH3-29 | 29.0
KWH3-30 | 30.0




i BAPCIREPCAR R A = Bl &

: - . Material: Nylon 66 (UL) AR o
. + Flame Class: 94V-2/94V-0
« Color: Natural/Black

 Unit: mm
Part No. A | Package Part No. A | Package
KWH3.5-2 2.0 KWH3.5-16 | 16.0
KWH3.5-3 3.0 KWH3.547 [ 170 | 5000
KWH3.5-4 40 KWH3.5-18 | 18.0
KWH3.5-5 5.0 KWH3.5-19 | 19.0
KWH3.5-6 6.0 KWH3.5-20 | 20.0
— KWH3.5-6.3 | 6.3 KWH3.5-21 | 21.0
} } KWH3.5-7 7.0 KWH3.5-22 | 22.0
] < KWH3.5-8 8.0 KWH3.5-23 | 23.0
L ; KWH3.5-9 9.0 | 2000 KWH3.5-24 | 24.0
KWH3.5-10 | 10.0 KWH35-25 | 250 | 000
M35~ KWH3.5-11 | 11.0 KWH3.5-25.4 | 25.4
R KWH3.5-12 | 12.0 KWH3.5-26 | 26.0
=1 gaq KWH3.5-12.7 | 12.7 KWH3.5-27 | 27.0
g3 b KWH3.5-13 | 13.0 KWH3.5-28 | 28.0
KWH3.5-14 | 14.0 KWH3.5-29 | 29.0
KWH3.5-15 | 15.0 KWH3.5-30 | 30.0
KWH3.5-15.9 | 15.9
1 L Part No. A | Package Part No. A | Package
11 g L KWH4-2 2.0 KWH4-15 15.0
T KWH4-3 3.0 KWH4-159 | 15.9
M4@ Ler oo KWH4-32L | 32 KWHA-16 | 16.0 | 00
KWH4-4 40 KWH4-17 17.0
~—1 M47@ KWH4-4.8L | 4.8 KWH4-18 | 18.0
05+ KWH4-5 5.0 KWH4-19 19.0
o719 et P KWH4-6 6.0 KWH4-20 | 20.0
[ KWH4-3.2L, KWH4-4.8L ] - g7 KWH4-63 | 63 KWH4-21 | 21.0
KWH4-7 70| 000 KWH4-22 | 22.0
; ;j KWH4-8 8.0 KWH4-23 | 23.0
A KWH4-9 9.0 KWH4-24 | 24.0
L KWH4-95L | 95 KWH4-25 | 25.0
o ed || KWH4-10 | 10.0 KWHa254 | 254 | 1000
" KWH4-11 11.0 KWH4-26 | 26.0
KWH4-12 | 12.0 KWH4-27 | 27.0
KWH4-12.7 | 12.7 KWH4-28 | 28.0
o KWH4-13 | 13.0 KWH4-29 | 29.0
79 - KWH4-14 | 14.0 KWH4-30 | 30.0
[ KWH4-9.5L ]
P
f
<
: Part No. A | Package Ej
M5 KWH5-3.2| 3.2 M6
m KWH5-4.8| 4.8 | 2000
N KWH5-6.4] 6.4
N~
g6 S gs 55| ™ P No. | Package
- @9.5 @12.7 =




i BAPCIREPCAR R A = Bl &

- Material: Nylon 66 (UL) Ok
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit: mm
Part No. A | Package Part No. A | Package

KWH4402 | 2.0 KWH440-15.9 | 159
KWH240-3 | 3.0 KWH440-16 | 16.0

KWH4404 | 4.0 KWH440-17 | 17.0 | 2000
KWH2405 | 50 KWH440-18 | 18.0
KWH4406 | 60 KWH440-19 | 19.0
KWH44063 | 63 KWH44020 | 200
T KWH420-7 | 7.0 KWH440-21 | 21.0
KWH4208 | 80 KWH44022 | 220
< KWH4209 | 90| 2000 KWH44023 | 23.0
J KWH440-95 | 95 KWH440-24 | 240

ikl KWH440-10 | 10.0 KWH440-25 | 250 |
440 UNG KWH440-11 | 1.0 KWH440-254 | 254
N KWH440-12 | 12.0 KWH440-26 | 26.0
= KWH440-12.7 | 12.7 KWH240-27 | 27.0
Ligs 6 KWH440-13 | 13.0 KWH44028 | 28.0
g5 - KWH440-14 | 14.0 KWH240-29 | 29.0
KWH240-15 | 15.0 KWH440:30 | 30.0

Rig : APCREKRZE L » XA

- Material: Brass RO
« Finish: Nickel Plated
+ Unit: mm
<
/[
B
- J Part No. | Package
M2X0.4P BHP2-6 1000
it : MAPCREBRMZERZ » <A
. Material: Nylon 66 (UL) BARS
« Flame Class: 94V-2/94V-0
- Color: Natural/Black
« Unit: mm
Part No. A | Package
HPS2-13 | 13.0
Part No. A | Package HPS2-14 | 14.0
HPS2-4 40 Tr HPS2-15 | 15.0
T HPS2-4.5 45 anny HPS2-16 | 16.0
| HPS2-5 5.0 B HPS2-17 | 17.0
_ HPS2-6 6.0 T HPS2-18 | 18.0
\ HPS27 | 7.0 B HPS2-19 | 19.0 | 1000
< HPS2-8 8.0 | 1000 ] < HPS2-20 | 20.0
J HPS2-9 9.0 jr HPS2-21 | 21.0
- HPS2-10 10.0 ! HPS2-22 | 22.0
M2X0.4P HPS2-11 1.0 M2X0.4P HPS2-23 | 23.0
HPS2-12 12.0 HPS2-24 | 24.0
HPS2-12.7 | 12.7 HPS2-25 | 25.0




AR MAPCREMKHMZBEE » ~A

. Material: Nylon 66 (UL) AARED
« Flame Class: 94V-2/94V-0
« Color: Natural/Black Part No. A | Package
+ Unit: mm L HP2-4 4.0
© HP2-5 5.0
— HP2-6 6.0
B HP2-7 7.0
< HP2-8 8.0 | 1000
| HP2-9 9.0
/ - HP2-10 [10.0
M2x0.4P HP2-11 [ 11.0
HP2-12 [12.0
L PartNo. | A [ Package
~ PartNo. | A | Package HP2-20 |20.0 /
! HP2-13_ [13.0 HP221 |21.0 B
% i HP2-14_| 140 HP2-22 |22.0 =1l
‘ ;J HP2-15 |15.0 HP2-23 [23.0 = | =
D < HP2-16  |16.0 HP2-24 |24.0| 1000 =
?I HP2-17 |17.0 1000 HP2-25 [25.0 N i
; HP2-18 | 18.0 HP2-26 | 26.0 M2.5X0.45P
Z|\/|2xo,4P HP2-18.8 |18.8 HP2-27 |27.0 Part No. | Package
HP2-19  [19.0 HP2-28 |28.0 HPS2.5-11 1000
- Material: Nylon 6 (UL)
« Flame Class: 94HB
« Color: Black
+ Unit: mm
Part No. Package
HPS2.5-16.5| 1000
|
M2.5X0.45P
- Material: Nylon 66 (UL) A% APCREMRMZ B E -
« Flame Class: 94V-2/94V-0
« Color: Natural/Black
+ Unit: mm
Part No. A | B | Package
HPP25-14.5 [14.5| 6.0 1000
HPP25-20 20.0| 9.0
M2.5X0.45P
- Material: Nylon 66 (UL) Rt MAPCRERKMZEZ » ~ A
« Flame Class: 94V-2/94V-0 AREEH o
« Color: Natural/Black 4
+ Unit: mm ‘ m
N -
T
T
<t
il | | al
M2.5X0.45P M2.5X0.45P
PartNo. | A | Package Part No. A | B | Package
HP2.5-8 | 8.0 1000 *HP2.5-15 [15.0| 55
HP2.5-10 [10.0 *HP2.5-155[15.0| 4.0

*HP2.5-25 |25.0/55| 1000
% HP2.5-255|25.0 | 4.0
HP2.5-31 |31.0]55




AR APCKREAMKEIZE L » A
U S °

+ Material: Nylon 66 (UL) L

+ Flame Class: 94V-2/94V-0

+ Color: Natural/Black
« Unit: mm L4
©F; B
i <

i

—— < PartNo. | A | Package
L Part No. A | Package HPS-6 6.0
1P HPS26-18 | 18.0 HPS8 | 80| o
L HPS26-19 (190 | 1000 | | HPS-10 100
M26X045P | HPS26-31.75 | 31.75 HPS-12_| 12.0

Part No. A | Package
HPS-15 15.0
HPS-17.4 |17.4
HPS-18 18.0| 1000
HPS-20 |20.0
HPS-25 |25.0

‘55
ATV YY)

AT R

-t 7 f
<< m
4 | R
/ Maxosp M3X0.5P M3X0.5P
R B @ E AR T TR [HP-34 ]
PartNo. | A | Package Part No. A B | Package Part No. A B | Package
HP-4 4.0 HP-13.5 | 135 | 6.0 HP-24 240| 6.0
HP-5 5.0 HP-14 14.0 | 6.0 HP-25 250 6.0
HP-6 6.0 HP-145 | 145 | 6.0 HP-26 26.0| 6.0
HP-6.3 | 6.35 HP-15 15.0 | 6.0 HP-27 27.0| 6.0
HP-7 7.0 HP-155 | 155 | 6.0 HP-28 28.0| 6.0 1000
HP-8 8.0 HP-16 16.0 | 6.0 HP-28.6 | 286 | 6.0
HP-85 | 85 HP-16.5 | 16.5 | 6.0 HP-30 300 | 6.0
HP-9 9.0 1000 HP-17 17.0 | 6.0 1000 HP-30.8 | 308 | 6.0
HP-95 | 95 HP-175 | 175 | 6.0 HP-32 320 | 6.0
HP-10  |10.0 HP-18 18.0 | 6.0 HP-34 340 | 80
HP-10.5 |10.5 HP-19 19.0 | 6.0 HP-35 35.0 | 6.0
HP-11  [11.0 HP-20 20.0 | 6.0 HP-37 370 | 6.0
HP-12A [12.0 HP-21.5 | 215 | 6.0 HP-38 380 | 6.0
HP-12  [12.7 HP-22 220 | 6.0 HP-40 400 | 6.0
HP-42 420 | 6.0
HP-45 450 | 6.0
HP-47 470 | 6.0
HP-49 490 | 6.0 500
HP-50 50.0 | 6.0
HP-52 520 | 6.0
HP-54 540 | 6.0
Part No. | A | Package HP-55.5 | 55.5 | 8.0
HPH-10 |10.0 HP-60.2 | 60.2 | 6.0
HPH-12 |12.0| 1000 HP-70 70.0 | 10.0
HPH-15 |15.0 HP-76.7 | 76.7 | 85




Rig : MAPCREMKREZEZ » <A
'J N o
. Material: Nylon 66 (UL) BAHE 5
+ Flame Class: 94V-2/94V-0 N !
- Color: Natural/Black ‘@’ ©
- Unit: mm !
b z T
Z | o
= oo == .
) i
o <<
& L
-~ IR
§\ r §
L M3X0.5P
M3X0.5P
PartNo. | A | Package
Part No. | Package HPL-30 |30.0 500
HPH-34 1000 HPL-40 |40.0
@)%
VAN 4
0
r (8
=5 | o t
=3 | |
' <
1@} um) d ©
8 T ! =1 8
= = N =
i s =S =N
- = A . L maxo.5p LZ l
M3X0.5P M3X0.5P
M3X0.5P PartNo. | A | B | Package 3X05
Part No. | Package Part No. | Package HPR-20 |20.0| 8.0 1000 Part No. | Package
HPL-100 500 HPR3-7 1000 HPR3-30 [30.0[10.0 HPA3-22.6 | 1000
« Material: Nylon 6 (UL)+GF 1
+ Flame Class: 94HB ‘@
« Color: Black -
@)t
N/ 1 3 <
T
[ee] R
L M3X0.5P
M3x0.5P Part No. A | Package
Part No. | Package *HPR3-11 | 11.0 1000
HPR-8 1000 HPR3-22 | 22.0
- Material: Nylon 66 (UL) A& MAPCREERRM X B E o
+ Flame Class: 94V-2/94V-0
- Color: Natural/Black 26 -
+ Unit: mm oo
~{ @6 - B2 | ~ 6.3 -
= '
- i
1B & i
< t 0
o <
P -
M3X0.5P 5 | M4X0.7P
PartNo. | A | Package M3X0.5P
HPP3-9 9.0 1000 Part No. | Package Part No. | Package
HPP3-95 | 9.5 HPP3-25 1000 HPP4-4.5 1000




At BMAPCREERMZEZ » N A
A o
- Material: Nylon 66 (UL) BA R
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit: mm
M4X0.7P
PartNo. | A | Package
HP4-14 | 14.0
PartNo. | A | Package HP4-16 | 16.0
6+ PartNo. | A | Package HP4-6 6.0 HP4-20 | 20.0
@ HPS4-6 6.0 HP4-7 7.0 HP4-25 | 25.0
ZW HPS4-8 8.0 HP4-8 8.0 HP4-26 | 26.0 1000
M4x0.7P HPS4-10 | 10.0 HP4-9 90 | 1000 HP4-30 | 30.0
T HPS4-12 | 12.0 | 1000 HP4-10 |10.0 HP4-35 | 35.0
< HPS4-15 | 15.0 HP4-11 | 11.0 HP4-40 | 40.0
i HPS4-18 | 18.0 HP4-12 | 12.0 HP4-45S | 45.0
HPS4-20 | 20.0 HP4-12.7 | 12.7 HP4-45 | 455
O T
N\ {
OF;
079 ﬂ@7.9\+ﬂ
T I
o 2
|3 - b
M4X0.7P M4X0.7P
Part No. | Package Part No. | Package
HPR4-10 1000 HPR4-15 1000
) o N &
/4 \ J T
b f
B év
- 3§ -
o o
Tl ~
- 1
L z
[ N
M4X0.7P M4X0.7P
PartNo. | A | Package
Part No. | Package Part No. | Package HPR5-25 [25.0| 1000
HPL4-37 1000 HPR4-70L 500 HPR5-45 |45.0 500

Part No. | Package
HP6-25 500




Rid : AT H QMBI -

+ Material: PC+ABS (UL)
+ Flame Class: 94V-0 @28
+ Color: Black
 Unit: mm

‘ H H ‘ © g Part No. Package
T HP2050 1000
~
M20X1.5P
- Material: Nylon 66 (UL) i A BT R - BB o

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm
Part No. Package
M-3/8-27 1000
 Material: Nylon 66 (UL) Rig - BAPCHERIEE 2 B R > A
+ Flame Class: 94V-2/94V-0 AREE o
« Color: Natural/Black
« Unit: mm
S N f
q ) o ( ) 2
N 71 N '
= =13
= T
=1 I -
= =2 | &
= =V J
/ 440uNC  ga0unc
Part No. A B Package Part No. Package
HP440-7.9S 79 [475 HP440-18 1000
HP440-9.5 95 |48 1000
HP440-15.9S | 15.88 | 4.75
- Material: Nylon 66 (UL) A& MAPCREKRRMZ B E -

+ Flame Class: 94V-2/94V-0
« Color: Natural/Black
 Unit: mm

4-40 UNC

Part No. A | Package

Part No. Package HPP440-6.35 | 6.35 1000 Part No. Package
HP256-16 1000 HPP440-11.2 | 11.2 HPP440-17.4 | 1000




AR MAPCREMKHMZBEE » ~A

. Material: Nylon 66 (UL) AARED
+ Flame Class: 94V-2/94V-0 ;
« Color: Natural/Black RN
+ Unit: mm ‘@' <
Ve 4{ f
<@> g '
|\ © m
T !
7] 1 <
| = @
2 l |
4-40 UNC £ 440 UNC
Part No. A | Package Part No. A | B | Package
HP44L-6.35 | 6.35 HP44L-22 | 22.2 | 9.0
HP44L-8 8.0 HP441-23.8 | 23.8 | 6.4 1000
HP44L-9.5 9.5 1000 HP44L-25.4 | 25.4 | 9.0
HP44L-12.7 [12.7 HP44L-28.6 | 28.6 | 6.4
HP44L-15.9 [15.9
HP44L-19.1 [19.1

4
o) =
2 /
T s
- [Br]
o =1 3
N é |
6-32UNC 6-32 UNC 6-32 UNC
Part No. Package Part No. Package Part No. Package
HPS632-12 1000 HPS632-19.1 1000 HP632-64 250
Part No. A B | Package
HP632-6.4 6.46.35
HP632-9.5 95635
HP632-12.7 | 12.7 | 6.35
HP632-15.9 | 1569 | 6.35| 1000 < Part No. A Package
HP632-19.1 | 19.1 | 6.35 HP632-28.5 | 28.5
HP632-22.2 | 22.2 | 6.35 HP632-31.8 | 31.8 1000
HP632-25.4 | 254 | 6.4 HP632-38.1 | 38.1

« Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0

AR M APCAR MK 2 B & -

+ Color: Natural/Black - @127
+ Unit: mm
26.35 @
%) N
— e
R
=
=% |
: T
6-32 UNC
Part No. Package Part No. Package
HPP632-14 1000 HPP632-51 200




A% MAPCHREMKMZE L -

- Material: POM (UL)
+ Flame Class: 94HB

+ Color: Natural ~ @98
+ Unit: mm /\
N\,
=&
=12
3
?74“2 { PartNo. | Package
f HPP10-64 250
8-32 UNC
* Material: Nylon 66 (UL) A MAPCREBRKRMZIEZ » N A
+ Flame Class: 94V-2/94V-0 AREEH o
« Color: Natural/Black
+ Unit: mm
O ot
© i AN\ 0
O «s
= | © . 8-32 UNC i
— [Te)
= \ 2
= 8-32 UNC L T
B32UNC -\ = 1 h &
= | » J - Material: Nylon 46 (UL)
=i i + Flame Class: 94V-2
- Color: Black
Part No. Package Part No. | Package Part No. | Package
% HP832-25.4| 1000 HP832-19.1 1000 HP832-6.35 | 1000
- 48 |~
‘FT @2.63
1]
! T PartNo. | A | Package
: i 807 o
s . :
CLEAR WITHOUT TAPPING
:
/4
=1
= :
<
5 t
= ©
= |
M3X0.5P
BRASS NUT BRASS NUT BRASS NUT
PartNo. | A | B | Package PartNo.| A | Package Part No. | Package
HPC-11.9 | 11.9 4.0 1000 HPC-19 [19.0 HPC-21 1000
HPC-15 [15.0 4.5 HPC-30 [30.0| 1000
HPC-45 |45.0




73

M3X0.5P
BRASS NUT

+ Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

 Unit: mm

Part No.

Package

HPC-73

1000

i : S APCREBARF Z B E » KA

WRIFE o
4
:
T
T
0
K
by Part No. Package
% P! HPCA-21 | 1000
N~
]
M3X0.5P
BRASS NUT
f
o
]
]
=)
'
<
5
1
M4X0.7P 4-40 UNC
BRASS NUT BRASS NUT
Part No. A | Package Part No. Package
HPC4-30 | 30.0 HPC44-21 1000
HPC4-35 | 35.0 250
HPC4-40 | 40.0

+ Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
« Color: Natural/Black
« Unit: mm

M3X0.5P

- Material: Nylon 66 (UL)

« Flame Class: 94V-2/94V-0
« Color: Natural/Black

« Unit: mm

Mg MARERZ G o

Part No.
TPA-4

Package
1000

it : MAPCIREMRE Z B E » —i
BoadR k- 7 —mBECAIRIERA o

Part No.
TP2L-4

Package
1000




A& s MAPCRERRM X EE » —3%

DIB L s Py Ea A YE R o
+ Material: Nylon 66 (UL) oS S R e R A

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm
PartNo. | A | B | C | Package | | PartNo. | A | B | C | Package
TP2-58 50]3.0 |40 TP2-13 |13.0] 5.0 | 5.0
TP2-6.5S| 6.5|4.0 4.0 TP2-14 |14.0| 5.0 | 5.0
TP2-8S 8.0]4.0|40 TP2-15 |15.0| 5.0 | 5.0
TP2-10S |10.0| 4.0 | 4.0 TP2-16 |16.0| 5.0 | 5.0
TP2-15S |15.0| 4.0 | 4.0 TP2-17 |17.0| 5.0 | 5.0
TP2-4 40125|5.0 TP2-18 |18.0| 5.0 | 5.0
TP2-5 50]3.0|50 TP2-19 [19.0| 5.0 | 5.0
TP2-55 | 55|3.0 (5.0 TP2-20 |20.0| 5.0 | 5.0
TP2-6 6.0/4.0|5.0 1000 TP2-21 |21.0| 5.0 | 5.0 1000
TP2-65 | 65/4.0|5.0 TP2-22 |22.0| 5.0 | 5.0
TP2-7 704050 TP2-23 |23.0| 5.0 | 5.0
TP2-8 8.0]50 50 TP2-24 |24.0| 5.0 | 5.0
TP2-9 9.0/505.0 TP2-25 |25.0| 5.0 | 5.0
TP2-10 |10.0/ 5.0 | 5.0 TP2-26 |26.0| 5.0 | 5.0
TP2-11 | 11.0/ 5.0 | 5.0 TP2-27 |27.0| 5.0 | 5.0
TP2-12 |12.0/ 5.0 | 5.0 TP2-28 128.0| 5.0 | 5.0

PartNo. | A | B | Package

- PartNo. | A | B | Package | | TP2.5-17 |17.0] 5.0
T Tr TP25-5 | 5.0] 3.0 TP25-18 |18.0] 5.0
=/ 4 - TP25-6 | 6.0] 4 TP25-19 |19.0] 5.0
TP25-7 | 7.0/ 5.0 TP25-20 |20.0] 5.0
M2.6X0.45P M2.5X0.45P TP25-8 | 8.0] 5.0 TP25-21 |21.0] 5.0
S TP25-9 | 9.0/ 5.0 TP25-22 |22.0] 5.0
=2 T TP25-10 [10.0[ 50| 0 | [TP25:23 [230[60] 1000
L L TP2.5-11 |11.0] 5.0 TP2.5-24 |24.0] 5.0
N TP2.5-12 |12.0] 5.0 TP2.5-24.5|24.5| 5.0
szo4|; | TP2.5-13 [13.0] 5.0 TP2.5-25 [25.0] 5.0
' F=2 TP2.5-14 |14.0] 5.0 TP2.5-26 |26.0] 5.0
PartNo. | Package M2.5X045P | TP2.5-15 |15.0] 5.0 TP25-27 |27.0] 5.0
TP2.5-26 | 1000 TP2.5-16 |16.0] 5.0 TP25-28 |28.0] 5.0
1
AN
4
[Te)
V2. 6X0.45P 4 PartNo. | A | B | Package

TP2.6-13 |13.0| 5.5
TP2.6-14 |14.0| 5.5

@ TP2.6-15 [15.0 | 5.5

N M2.6X0.45P TP2.6-16 | 16.0| 5.5
‘i’ TP2.6-17 |17.0| 55

A ——

Part No. A | B | Package | | TP2.6-18 [18.0| 5.5

M2.5X0.45P TP2.6-4 40|20 TP2.6-19 | 19.0| 5.5
TP2.6-5 501 3.0 TP2.6-20 |1 20.0| 5.5 1000

TP2.6-6 6.0 4.0 TP2.6-21|21.0| 5.5

T TP2.6-7 70| 5.0 TP2.6-22 |22.0| 5.5

© TP2.6-8 80|55 1000 TP2.6-23 |23.0| 5.5

| TP2.6-9 9.0]55 TP2.6-24 |24.0| 5.5

TP2.6-10 [10.0| 5.5 TP2.6-25 |25.0| 5.5

M2.5X0.45P TP26-11 | 11.0| 55 TP2.6-26 |1 26.0| 5.5

Part No. | Package TP2.6-12 [12.0| 55 TP2.6-27 |27.0| 5.5

TP2.5-6L 1000 TP2.6-12.7 |12.7] 5.5 TP2.6-28 | 28.0 | 5.5




A& s MAPCRERRM X EE » —3%

AAE Ly P A3 4 .
+ Material: Nylon 66 (UL) oS S R e R A

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
 Unit: mm

M3X0.5P

PartNo. | A | B | Package
PartNo. | Package *TP3-6 |6.05.0 1000
TP3-2.5-6 | 1000 TP3-75[75|6.25

Part No. A | C | Package
TPS-10S | 10.0 | 5.0
TPS-10 10.0 | 8.0
TPS-12 12.0 | 8.0
TPS-13 13.0 | 8.0
TPS-15 15.0 | 8.0
TPS-18 18.0 | 8.0
TPS-20 20.0 | 8.0
TPS-25 25.0 | 8.0

1000

Part No. | Package
TP-32.7L 1000

Part No. A | B | Package
TP-14 14.0 | 6.0
TP-15 15.0 | 6.0
TP-155 | 155 |6.0
TP-16 16.0 | 6.0
TP-16.5 | 16.5 6.0
TP-17 17.0 | 6.0
TP-18 18.0 | 6.0
TP-185 | 185(6.0
TP-19 19.0 | 6.0
TP-20 20.0 | 8.0

M3X0.5P

M3X0.5P

ﬂ Part No. A B | Package TP-21 21.0 | 6.0
- TP-4 4.0 1]3.0 TP-22 22.0 6.0
m TP-5 50 (3.0 TP-245 |245)6.0

: i;t TP-6 6.0 4.0 TP-25 25.0|6.0 1000
M3X0.5P TP-7 7.0 (5.0 TP-27 27.0 1 6.0
TP-7.5 75|50 TP-28 28.0 |1 6.0
Part No. A | B | C | Package TP-8 8.0 (6.0 TP-285 | 28.5 6.0
TP-5S 5014035 TP-8.5 85 6.0 TP-30 30.0 | 8.0
TP-5SM 5014050 TP-9 9.0 6.0 TP-33 33.0 (6.0
TP6S | 604050 P95 | 9560 000 TP-345 | 345 | 6.0
TP-7-4 7.015.014.0 TP-10 10.0 | 6.0 TP-35 35.0 6.0
TP-9-4 9.01(6.0]4.0 1000 TP-10.5 10.5 | 6.0 TP-36 36.0 | 6.0
TP-10.8 | 10.8 |6.0| 3.5 TP-10.8L | 10.8 | 6.0 TP-37 37.0 6.0
TP-11.2 1126035 TP-11 11.0 | 6.0 TP-40 40.0 | 6.0
TP-16S 16.0 | 6.0 | 4.0 TP-12A 12.0 | 6.0 TP-45 45.0 | 6.0
TP-18S 18.0 | 6.0 | 5.0 TP-12 12.7 | 6.0 TP-535 |535 (6.0
TP-20S 20.0 [ 8.0 5.0 TP-13 13.0 | 6.0 TP-555 | 555 8.0




it MAPCIREMAARMZBEIE » —

- Material: POM Ao ¥R %k » 5 — 3B OBIEER o

+ Color: Black
« Unit: mm

M3X0.5P

o Part No. | Package
TPD-19 1000

« Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

 Unit: mm PartNo. | A | B | C | D | Package
TP3-6L | 6.0| 40/8.0(6.0
*TP3-8L | 8.0 6.0/8.0/6.0
TP3-10L | 10.0| 8.0/ 8.0 | 6.0
TP3-10.4{104| 70|50 (7.0
TP3-11L [ 11.0| 9.0/ 8.0 | 6.0
TP3-12L | 12.0/10.0| 8.0 | 6.0
*TP3-15L | 15.0 [ 10.0| 8.0 | 6.0
TP3-18L | 18.0 | 10.0 | 8.0 | 6.0
% TP3-50L | 50.0 | 10.0 | 8.0 | 6.0 500

M3X0.5P

1000

Msxo.spé ? —
= ‘ M3X0.5P ©
B 3
= | { =i
Z 440 UNC 6-32 UNC
Part No. | Package Part No. | Package Part No. | Package
TP-8L 1000 TPS44-11 1000 TPS632-6 1000

M4X0.7P

Part No. | Package
TPR4-15 1000

/4 Part No. A | B | C | Package

- TPS4-10L | 10.0 | 8.0] 95
MAX0.7P é o TPS4-12L | 120 | 8.0] 95

= TPS4-13 | 130 6.0] 65
TPS4-15L | 15.0 | 12.0 | 95
*TPS4-20L | 20.0 | 12.0| 95
TPS4-25L | 25.0 | 12.0 | 95
TPS4-30 | 30.0 | 10.0] 6.5
TPS4-55 | 55.0 | 10.0| 6.5

1000

f
[RLLALARRRRRARYY
ARLALLLLRARARRAY

—B —

£ M4X0.

~

P



A& s MAPCRERRM X EE » —3%

DIB L s Py Ea A YE R o
+ Material: Nylon 66 (UL) oS S R e R A

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
 Unit: mm

Part No. A | B | C | D | Package
TP4-12 12.0(6.0|6.5(7.0
TP4-13 13.0(6.0|65(7.0
TP4-14 14.0(6.0|65(7.0
TP4-15 150(6.0|65|7.0
TP4-16 16.0(7.0|65|7.0
F TP4-17 17.0{7.0(65(7.0
TP4-19 190(70|65(70

.L l TP4-20 [20.0/8.06.5]7.0
TP4-25 250(801(65(7.0 1000

TP4-27 270(801(65(7.0

ST T T T B 1TE

M4X0.7P

‘f TP4-30 |30.0]80|65|7.0

w Part No. A | B | C | D | Package TP4-34 1340|180 |65|7.0

T < TP4-6 6.0[4.0(65]7.0 TP4-35 [35.0/8.0(65 7.0

j“ | TP4-8 80[6.0[65]7.0 TP4-37 [37.0/8.0[65]7.0

TP4-10 [10.0|6.0[65[7.0| 1000 TP4-40 [40.0/8.0[65 | 7.0

M4X0.7P TP4-10LS [10.0]7.0[8.0]7.0 TP4-45 [455(8.0(65]7.0

[ TP4-10LS ] TP4-10L [10.0]7.0(8.0(8.0 TP4-57 [57.0|/8.0(65]7.0

N\ T Part No. A B Package
j TP4-8L | 80| 6.0
TP4-10R | 10.0 | 8.0
TP4-11R | 11.0] 9.0

MaxorP—" = P TPa2L [ 120 [100] 0
JT TP4-14L | 14.0 | 10.0
I < TP4-20L | 20.0 | 10.0

TP4-32L | 32.0 [ 10.0 500

TP4-35L | 35.0 | 10.0

M4X0.7P

N
o

M5X0.8P L

[~e)

Part No. Package

TP5-60 250
M5X0.8P : T
5 - adENI!

Part No. A | B | C | D | Package

TP440-6.4 64 |40 |48 |64
TP440-6.4-48 | 64 |48 |48 |64
TP440-7 70 |40 |48 |64
TP440-8S 8.0 |16.35/4.8 |4.8
TP440-9.5 95 |6.0 |48 |64
TP440-12.7 12.7 [6.0 |48 |64
TP440-15.2 15.24(4.75|4.75|6.35| 1000
TP440-15.9 159 [6.0 [4.8 |64
TP440-19.1 19.1 |6.0 |48 |64
TP440-19.1S  |19.05/6.35|4.75 |4.75
TP440-22.2 222 |4.75|4.75|6.35
TP440-25.4 254 14.75|4.75|6.35
TP440-28.7 28.7 160 |48 |64




A& s MAPCRERRM X EE » —3%

AAE Ly P A3 4 .
+ Material: Nylon 66 (UL) oS S R e R A

+ Flame Class: 94V-2/94V-0

+ Color: Natural/Black

+ Unit: mm
'
6-32 UNC o
‘cl Part No. | Package
| TP632-M310| 1000
M3X0.5P
7
@
©)z
6-32 UNC 6-32 UNC
Part No. A | B | Package Part No. A | B | Package
TP632-5 50/ 3.0 TP632-5S 50/3.0
TP632-5.5 55[35 TP632-555 | 55|35
TP632-6 6.0] 4.0 TP632-6S 6.0]4.0
TP632-6.3 6.3] 4.0 TP632-6.3S | 6.3|4.0
TP632-8 8.0]6.0 TP632-8S 8.0/6.0
TP632-9 9.0/6.0 TP632-9S 9.0/6.0
TP632-10 10.0] 6.0 TP632-10S  [10.0/60] 0
TP632-11 101601 000 TP632-11S | 11.0/6.0
TP632-12 12.0|6.0 TP632-12S | 12.06.0
TP632-12.7 [12.7]6.0 TP632-12.7S |12.7]6.0
TP632-15.9 [15.9]6.0 TP632-15.9S |15.96.0
- Material: Nylon 46 (UL) TP632-19.1 [19.16.0 TP632-19.1S [19.1]6.0
+ Flame Class: 94V-2 TP632-254 | 254 6.0 TP632-25.4S |25.4(6.0
» Color: Black TP632-286 | 28695 TP632-31.85 | 31.8| 6.0
Part No. | Package TP632-31.8 |31.8]6.0
*TP632-17| 1000 TP632-51 51.0] 6.0
©)s 2
& :
- [
6-32 UNC T 8-32 UNC 8-32 UNC T
D
! ]
~ O
2 | o
6-32 UNC 8-32UNC
« Material: Nylon 46 (UL)
Part No. A| B | C | D | Package Part No. + Flame Class: 94V-2
TP632-95L | 95|64 |64 |64 TP832-12.7 | 12.7 * Color: Black
TP632-17.5L [175|6.4 |64 |64 TP832-19.1 |19.1] 1000 PartNo. | Package
TP632-31.8L [31.8(6.35(6.35(6.35| 1000 TP832-22.2 222 TP832-9.5 | 1000
TP632-34.9L |34.9/6.35/6.35/6.35
TP632-38.1L |38.1/6.35/6.35|6.35
TP632-41.3L |41.3/6.35/6.35|6.35
TP632-44.5L [44.5(6.35(6.35(6.35| 500
TP632-50.8L |50.86.356.35|6.35




AR PCAREPCAR M Z B Z » RAEZR -

+ Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
 Unit: mm
2
M2.5X0.45P
BRASS NUT 235
*7ﬁT T Part No. | Package
toxT HPB2.5-10 1000
| |
- g
+ Material: Nylon 66 (UL) Rit  MAPCREMIMZE R > —
« Flame Class: 94V-2/94V-0 B ARk » B — 3B A IEe A o
+ Color: Natural/Black
+ Unit: mm
‘
[ce)
|
M3X0.5P
BRASS SCREW I

NYLON 66 Part No. | Package

MTPE3-12 | 1000

M3X0.5P

« Material: Nylon 6 (UL)
+ Flame Class: 94V-0

+ Color: Natural

« Unit: mm

M3X0.5P
BRASS SCREW

Part No. | Package
MTPF3-7 1000

M3X0.5P B
BRASS NUT—1["

- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit: mm
M~
M4X0.7P L4

STEEL SCREW —
[ee]
NYLON 66 1 Part No. A | Package
\E T MTPC4-20 |20.0 1000
M4X0.7P ot < MTPC4-57 | 57.0
\\ — ‘9 l
f



g : PCAREPCREZ B E » R4k 2R o
« Material: Nylon 66 (UL)

ol TR - SO - Flame Class: 94V-2/94V-0
S — - » Color: Natural/Black
+ Unit: mm
=
|
M4X0.7P
BRASS SCREW —
M3X0.5P 0 {
BRASS NUT o
T S Part No. | Package
& { MTPA4-3-20] 1000
S
* Material: Nylon 66 (UL) R MAPCREMKRMZE L » —¥%
+ Flame Class: 94V-2/94V-0 Beodf 4 » B —3nBeb g A o
+ Color: Natural/Black
« Unit: mm
[ce) o
M4X0.7P a M4X0.7P Lb
STEEL SCREW % ] STEEL SCREW o
o TE o
NYLON 66 — } NYLON 66 T
RN
M4X0.7P 0 M4X0.7P o <
STEEL NUT — ‘l_ STEEL NUT— < l
f
PartNo. | C | Package Part No. A | B | C | D | Package
MTPA4-15-1| 6.0 1000 MTPA4-15 |15.0|5.0/6.08.0| 1000
MTPA4-15L | 8.0 MTPA4-50L | 50.0 | 6.0 8.0 9.0 200
2.5 - 295 r
>
M3X0.5P M4X0.7P
BRASS SCREW 1 STEEL SCREW
«© T
NYLON 66 T NYLON 66 \% 7
M3X0.5P g " !
oy M4X0.7P L~
BRASS NUT— o STEEL NUTﬂé B ?
L]
Part No. | Package Part No. | Package
MTPG3-42 500 MTP4-12.7 1000
o1 ) S
M6X1.0P
M5X0.8P STEEL SCREW :
STEEL SCREW\%—}O \% o
NYLON 66— *
o M5X0.8P <
M4X0.7P B STEEL NUT—| | __ ®
STEEL NUT— |_| | =il
I =i
Part No. | Package Part No. | Package
MTPA5-4-50 250 MTPAB-5-30| 1000




AR MAPCIREBRKE Z B E » —
. Material: Nylon 66 (UL) Boa 3Rk > —mEL SRR o
+ Flame Class: 94V-2/94V-0

+ Color: Natural/Black
+ Unit: mm

6-32 UNC T
BRASS SCREW

T < Part No. Package
Al MTPD632-11.9| 1000

6-32 UNC
BRASS NUT

Aig : MAPCREMRHZ B E » —3%
BSR4 > A —smBl BB A -

+ Material: Brass
« Unit: mm

Part No. | Package
TP-10BA 1000

 Material: Steel/SUS
« Unit: mm

M3X0.5P

Part No. A | B | D | Package
TP-18SUS | 18.0/8.0|5.5
< TP-258T |25.0/6.0|5.0

5 TP-30SUS |30.0/6.0]5.0 500
-7 TP-55SUS |54.9/8.0|5.5
M3X0.5P
« Material: Steel
+ Unit: mm I
&y ox:
x ~—
M3X0.5Pé=#, —
M3X0.5P T
©
* <<
Afﬁm L
T R
M3X0.5P M3X0.5P
PartNo. | B | C | Package Part No. A | Package
TP3-458T [5.5]6.0 500 TPB3-20NI | 20.0 500
TP3-45LST [6.0]7.0 TPB3-40NI | 40.0




AR MAPCIREBRKE Z B E » —
BABRE > A —mBl B EEA -

© 1
[te) (C)) w
/4 s

+ Material: Steel
« Unit: mm

1 —T
WmﬂJég T M3X0.5P o
NI — T
I e~
= ‘f’ ] = T |
/ M3X0.5P  Maxo.5p
Part No. Package Part No. Package
TP3-9ST 1000 TPS3-7ST 1000
- Material: SUS
« Unit: mm
6.35
M3.5X0.6P 0
M3.5X0.6P &
il
Part No. Part No. Package
TP-6ST TP-6ST-1 500
- Material: Brass
« Unit: mm T
Q ¢
)
662UNC4/§§§AfL,
<C
Part No. A | Package
1 TP632-19.05BA [ 19.05| o
by TP632-254BA | 25.4
6-32 UNC
A& MAPCHREKARFMZEZ » R
+ Material: Nylon 66 (UL) AL AF S ERA -
« Flame Class: 94V-2/94V-0
- Color: Natural/Black
« Unit: mm T
©
Mﬁg&g ‘2—4
BRASS S REW‘\fg———T
g
Part No. Package
TPIM2.5-3-42 500
M3X0.5P

BRASS SCREW T



A& MAPCRERRM X B E » fiF

- Material: Nylon 6 B2 f SR EFRA -

+ Color: Natural
« Unit: mm

\
J

—~
\
9.5

M4X0.7P
BRASS SCREW

Tf e
] j Part No. | Package
M4X0.7P — TPIM4-90 500
BRASS SCREWJ'§ ‘:’
- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
« Color: Natural/Black
« Unit: mm
Part No. A | Package
M3X0.5P HPI3-3 3.0
HPI3-4.75 | 4.75
HPI3-5 5.0
HPI3-5.5 55 1000
M3X0.5P HPI3-10 |10.0
[ HPI3-3, HPI3-4.75 ] HPI3-15 150

M4X0.7P

Part No. A | B | C | Package

HPI4-5 | 5.0/6.0]/6.0

HPI4-10 [10.0/6.0|6.0

HPI4-15 [15.0]/6.0 6.0 1000 M4X0.7P —T M4X0.7P

HPI4-17L|17.0/8.0| 8.0
HPI4-19 [19.0/6.0|6.0
% HPI4-25 [25.0/6.0 6.0

Part No.
HPIB4-18.5| 1000

Part No.
HPID4-14 1000

MAXOTP ~ =
<
=
N
T
O
M4X0.7P |
Part No. | Package Part No. | Package

HPIA4-2 1000 HPIE4-3 1000




Fig : PCHOR BHBAEE » 5 —3% T
+ Material: Nylon 66 (UL) BLS R BRAT o

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black Part No. A B_| Package

« Unit: mm SCBA-3 | 3.0 6.3
SCBA-3S| 3.0 3.0
5CE 030 SCBA4 | 40163
THICKNESS 1.6 SCBAS | 5063
*SCBA-5S| 50| 45
© SCBA-6 | 6063

o SCBA-6S| 6.0 | 45
SCBA-7 | 7.0] 6.3
@ SCBA-8 | 8063 | 1000

SCBA-9 | 9.0 |63
SCBA-10] 10.0 | 6.3

<C = . .
l SCBA-11 | 11.0 | 6.3
f SCBA-12[12.0 | 6.3
M3X0.5P 7’? SCBA-13[13.0 | 6.3

SCBA-14 | 14.0 | 6.3
SCBA-15]15.0 | 6.3
SCBA-16 | 16.0 | 6.3

P.CB @3.5
THICKNESS 0.8

' P.CB @3.5
THICKNESS 1.6

55

*‘

4
<<
j
M3X0.5P ?
Part No. A | Package M3X0.5P
SCBC-3 3.0 1000
SCBC-4.75 | 4.76 Part No. | Package
SCBC-55 | 55 2000 SCBB-3 1000

MOUNTING HOLE @3.0
THICKNESS 1.6

JG

i 2
1] PartNo. | Package
T SCBD-8 1000
<+
M3X0.5P —
P.C.B @2.5
THICKNESS 1.6 Part No. A | Package

SCBS632-3.2 3.2
SCBS632-4.8 4.8
SCBS632-6.4 6.4
SCBS632-7.9 7.9
SCBS632-9.5 9.5| 1000
SCBS632-11.1 | 11.1
SCBS632-12.7 | 12.7
SCBS632-14.3 | 14.3
SCBS632-15.9 | 15.9

6-32 UNC

» 6.4 LAJ J48‘«




- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

AR PCRIFEFZBRANEE » H—3°
AR RAT -

+ Unit: mm
MOUNTING HOLE @3.9~@4.0 MOUNTING HOLE @3.9~@4.0
THICKNESS 1.6 THICKNESS 1.6
o o
OB a %
s (I
o [3e)
MOUNTING HOLE @30 ! I
THICKNESS 1.2 44% 44%
—— Y- !
4 3 M3X0.5P—" = | M4X0.7P -
1
—&
g Part No. A | Package Part No. A | Package
i MSPG3-32 | 3.2 MSPG4-3.2 | 3.2
> MSPG3-48 | 48 MSPG4-48 | 48
;;A4$ MSPG3-64 | 64 MSPG4-64 | 64
= o MSPG3-95 | 95 MSPG4-95 | 95
MBX0.5P— =
= MSPG3-127 | 127 1000 MSPG4-127 | 127 100
MSPG3-15.9 | 15.9 MSPG4-15.9 | 15.9
Part No. | Package MSPG3-19.1 | 19.1 MSPG4-19.1 | 19.1
MSPA3-9.7 [ 1000 MSPG3-22.2 | 22.2 MSPG4-22.2 | 22.2
MOUNTING HOLE: @G MOUNTING HOLE: @G
~ | THICKNESS 2.1 THICKNESS 1.6
o Part No. A B G Package
: '
dd e MSPS-28 | 20[30 | 40 | oo
dol 2 ~7 | MSPS-3 | 32[60 | 40
[ < | MsPS-5 4860 |3.9~40
< % L [Msps-6 6460 |39~4.0
J Sﬁég/ | MSPS-12.7 | 12.7 [6.0 [3.9~4.0
i MSPS-13 13.0 |6.35| 4.0 1000
6-32 (DR - -
UNC% o 2 [ MSPS15.9 | 15.9 6.0 |39-40
f MSPS-19.1 | 19.1 [6.0 [3.9~4.0
[ MSPS-13 ] MSPS-22.2 | 22.2 [6.0 [3.9~4.0

THICKNESS 1.6

MOUNTING HOLE @3.2

MOUNTING HOLE @3.4
THICKNESS 1.6

@z
T
A
~
1
<
A
<t
T
M3X0.5P
[ SCB3-12.7]
Part No. A | Package
SCB3-32 | 3.2
SCB3-95 | 95| 1000
SCB3-12.7 |12.7

M3X0.5P
o
©) 3
— T
Part No. | Package
SCB3-38 1000




Fig : PCHOR BHBAEE » 5 —3% T
+ Material: Nylon 66 (UL) BLS R BRAT o

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

 Unit: mm
MOUNTING HOLE @4.0
THICKNESS 1.6
m
Part No. A | Package
SCB832-6.35| 6.35
SCB832-12.7| 12.7 1000
8-32 UNC % SCB832-15.9|15.9
% SCB832-19 |19.05

MOUNTING HOLE @4.0
THICKNESS 1.6

MOUNTING HOLE @4.0
THICKNESS 1.2~1.7

MOUNTING HOLE @4.0
THICKNESS 1.6 /u\ =
o —— * [
Il < I« [
‘ —|
’ THREAD/%#
76.8 <
ﬁ% & i
<t ©
6-32 UNC ~
B | Package 4@
7.8 Part No. A

Thread | Package

7.8 SCB-6SM3 | 6.3[4.8| M3X0.5P

7.8| 1000 Part No. A | Package SCB-6S 6.3 |4.8|6-32 UNC 1000

7.8 SCB-8.58 | 85 1000 SCB-8S 8.0/4.5/6-32 UNC
SCB-15A [15.9]4.38 SCB-10SA |10.0 SCB-10S [ 10.0 |4.5]6-32 UNC

MOUNTING HOLE @4.0
THICKNESS: T

PartNo. | A |[B| C | D T Package
SCB4-6 6.314.8]10.7|7.6 [1.2~1.7
SCB4-6A | 6.3]6.4[10.7|7.6 [1.2~1.7
SCB4-9.5 | 95|6.4]10.2|7.7| 16
SCB4-16 |15.9]6.4]10.0/8.0 [1.6~1.8

1000

MOUNTING HOLE @4.0
MOUNTING HOLE @4.0 THICKNESS 1.6
THICKNESS: T

e
J@%M}A
=

M4X0.7P
)+ ©
©
PartNo. | A | B | T | Package Part No. A | Package
SCB4-4 |4.0(6.4 20 SCB4-23.8 |23.8
SCB4-5 |5.0(6.0/|1.6 1000 SCB4-30  ]30.0 1000




- Material: Nylon 66 (UL)
« Flame Class: 94V-2/94V-0
+ Color: Natural/Black
« Unit: mm
@8.3 @4.8

P.CB
THICKNESS 1.6

Part No.
TCEH-6.4
TCEH-9.5
TCEH-12.7
TCEH-15.9

Package

127 1000

15.9

- Material: PBT (UL)+GF
+ Flame Class: 94V-0

« Color: Natural

+ Unit: mm

MOUNTING HOLE @3.7
THICKNESS 1.6

MOUNTING HOLE @5.7
THICKNESS 1.6

- Material: Nylon 66 (UL)

- Flame Class: 94V-0 2

- Spring Material: SUS &

« Color: Natural £

« Unit: mm ge

. Patented (& £| &) g5
=5

ua LN
PRESSED UNPRESSE
STATUS

¢.9«

AR : PCRIBEFZBRANEE » F—3°
B AR RAT o

78.3 @4.8
PCB
THICKNESS 1.6
Tf BOARD
L r /(ﬂ
J \/ s N |
P SHRE o
M4X0.7P —F
Part No. L | Package
TCEP4-6.4 6.4
TCEP4-9.5 9.5
TCEP4-12.7 |12.7 1000
TCEP4-15.9 |15.9

A&« AAPCARZ HFaE o

L

Package
1000

Part No.
THCS-2

A i@kt BRE
MR

MOUNTING HOLE @3.6
THICKNESS 1.6

FOR @6 HOLE OR SLOT

THICKNESS 1.6

Package
1000

Part No.
THCS-1F

D

STATUS \_ MOUNTING HOLE @3.4

THICKNESS 1.5

YN

AR IEPCREMKMZEE -
- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
« Color: Natural/Black
+ Unit: mm
« USA Patented (% E & F| &)
rm,‘ fSPRING PartNo. | A | B | Package
- ‘_ ALUCA-8 8.0/ 6.5
m < ALUCA-9 9.0| 75
j P-C- N ALUCA-10 [100] 85|
2 2 vz
- \|1|, ALUCA-12 [12.0]105
PC.B @4.0 BEREHKAE ALUCA-14 11401125
THICKNESS 0.8~1.6 ALUCA-16 |16.0(14.5




A ARXHERGSER mEk F
+ Material: PC (UL) BA > mid ke
« Flame Class: 94V-2/94V-0

« Color: Natural/Transparent
+ Unit: mm

0465
A S

ac

<
[SEh

MOUNTING HOLE

<" PCB @45
1 THICKNESS 0.8~1.0

THICKNESS: T o
i 12+ &
Part No. A | C | T | Package Part No. A | Package
MCFG-3010 [30.5]/0.8 |1.0 1000 MCFD-2810 | 28.0 1000
MCFG-35810 | 35.8 | 1.05 | 1.05 MCFD-3210 | 32.0
@15
015 o0 215 >
3 = 3 S
@35 @4.6
@4 | © o4
W W1 ¥ =11
- — b W e
o13.31- 2 - 0134+ 2 g b ~p134- |
PCB @45 PCB @45 PCB @45 MOUNTING HOLE @4.6
THICKNESS: T THICKNESS 0.6~0.8 THICKNESS 1.0 THICKNESS: T
Part No. T Package Part No. | Package Part No. | Package Part No. T Package
MCFA-2508 | 0.6~0.8 500 MCFC-2508| 1000 MCFL-3310| 1000 MCF-3305 | 0.6 500
MCFA-2511 | 0.8~1.1 MCF-3308 |0.5~0.8
ac
1 ?1.1
<< <<
o8B 4
e 2 S
— MOUNTING HOLE @5.2 MTF MouNTING HOLE @38
MOUNTING HOLE @4.6 . P :
THICKNESS 1.0 Lma THICKNESS: T @10~ & THICKNESS: T
Part No. | Package Part No. A| B |C T Package Part No. A T Package
*MCFF-25| 1000 MCF-2310 |23.5|4.5 |1.6|0.8~1.0 500 MCFO-2806 | 28.5 |0.5~0.65
MCF-4213 [40.0|3.95|1.3|1.0~1.3 MCFO-2906 |29.5(0.5~0.65| 1000
MCFO-2908 |29.5|0.6~0.8
ac
©
&
o8B PartNo. |B| C | D | G| T | Package
MCFJ-4 13.9/1.06(2.65|3.8|1.0
Wi MCFJ6 |4.3[15 [2.65|3.8/1.25| 1000
~210- A MCFJ-7 [3.9]1.06]25 [35/0.8

MOUNTING HOLE: @G
THICKNESS: T



R ARIBERSER > 2%k &
- Material: PC (UL) R4t miEk e
+ Flame Class: 94V-0
+ Color: Natural
 Unit: mm
21.6

@2

]
©
=

18.7

QBJ

3 Ll
o

] 55 S

_784_
MOUNTING HOLE @4.6 MOUNTING HOLE @4.5 MOUNTING HOLE @5.5
THICKNESS 1.3 THICKNESS 1.2 THICKNESS 0.8
Part No. | Package Part No. | Package Part No. | Package
MCFF-20 1000 MCFF-18 1000 MCFF-21 1000

g
|
| e 3 :
o0 044 |
BT
PartNo. | Package B o Part No. | Package
MCFF-11_| 1000 B S 075-105 | MCFD-1 | 500

@1.5
<C
Part No. A T Package
MCFF-9 [17.16 |0.6~0.8| 1000

PCB 046 MCFF-10 |3142| 08 500
L | THICKNESS:T - ["MCFF-14 [180 | 08 | 1000
g18 — L

- Material: Nylon 66 (UL) - Material: PC (UL) - Material: PC (UL)
« Flame Class: 94V-0 + Flame Class: 94V-2/94V-0 - Flame Class: 94V-2/94V-0
+ Color: White « Color: Transparent « Color: Natural/Transparent
+ Unit: mm + Unit: mm + Unit: mm
@1.95
a1.6
<<
@4
e} %2}
X 5
- «@2! uwui,
e— L L1 @10~
g4 —
@20 — K P.CB @52
HOLE IN CHASSIS @5.0 THICKNESS 0.6~0.8
_'F-I_'CI-BKSE-O THICKNESS 1.0
CKNESS 0.65 PartNo. | A | Package
Part No. | Package Part No. | Package MCF-428 |42.6 500
MCFM-2807| 1000 MCFF-24 1000 MCF-2908 | 29.0




R ARXBER&GEKR > Ak &
+ Material: PC (UL) B > BIER
« Flame Class: 94V-2/94V-0
- Color: Natural/Transparent

+ Unit: mm
- I3
ﬁ I
154
©
N % Part No. | Package
‘ i L MCF-1 1000
-~ 015~ MOUNTING HOLE @4.5
THICKNESS 0.8~1.0
T
¥
Q2w
6.5 8-
- Patented (& #| &%)
“r— MOUNTING HOLE @4.5 PartNo. | Package
THICKNESS 1.0 MCFF-5 1000

- Material: PC (UL)

+ Flame Class: 94V-0
+ Color: Natural

+ Unit: mm

- Patented (& #| &%) ﬁi j—E

30.65

4.25

Part No. | Package

= 0
% ¥ MCFF-6 | 500

213 — MOUNTING HOLE @45
THICKNESS 1.0~1.2

+ Material: PC (UL)
+ Flame Class: 94V-0

+ Color: White
+ Unit: mm
20
— 04 ;
H o
ﬁ«@u
0 N
=1 T—1 1 ‘\T J
f s n—
MOUNTING HOLE 5.0 - lga7 &
THICKNESS 0.6~0.8 e
Part No. | Package Part No. | Package Part No. | Package

MCFJ-1 1000 MCFJ-2 1000 *MCFP-33| 1000




At ARIBEREER > SEK 0 &

- Material: PC (UL) R4t miEk e
« Flame Class: 94V-2/94V-0
« Color: Transparent
« Unit: mm o ] T1
= 3
w3 O W will
020 — 2 J#sm 220 2 5.97
o« 763~ gl #7.63*
15 15
s JIi
© ™
ﬁﬁ“’ Eﬁ
@4.6 @4.6
MOUNTING HOLE MOUNTING HOLE
THICKNESS 0.8 THICKNESS 0.8
Part No. | Package Part No. | Package
MCFF-15 1000 MCFF-16 1000
1 ] ) ~-068
g
S S s <
12.5 [ N
T Wil T [ [W
220 — 2 597 ™ Jdg b
« —~7.631~ 20 - 20—
’WLS H*1.5
4 '
© ©
f
@46 4.6
MOUNTING HOLE MOUNTING HOLE
THICKNESS 0.8 THICKNESS 0.8
Part No. | Package Part No. | Package
MCFF-13 1000 MCFF-17 1000
« Material: PC (UL)/94V-0
- Color: Transparent
« Base Material: Nylon 66 (UL)/94V-0
- Base Color: Natural
+ Unit: mm B
- Patented (& 4] &)
/’@6 o
s
‘F
MOUNTING HOLE
THICKNESS 0.5~1.0
Part No. | Package
MCFF-7 1000




Rig: AN IHRBEK 2%k &
. Material1: PC (UL) BA > BIER
« Material2: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
- Color1: Transparent 9
: Sﬁ:ﬁran:nl]\laturaI/Whlte Mé[g%lﬁu ~
- Patented (& #| &) ' 1:35
% MOUNTING HOLE
j‘ THICKNESS 0.8~1.0
MATERIAL: 2 i Part No. | Package
COLOR:2 016 4 MCFF-12 [ 1000
8
« Material: PC (UL)
+ Flame Class: 94V-2/94V-0
- Color: Transparent
« Unit: mm 7 4069
~t=0.68
%
ARFPE RISy \
20—~ 20 - 1.4
WHITE REFLECTING SHEET / DOUBLE ADHESIVE TAPE 20
Part No. | Package Part No. | Package
% MCFP-30| 1000 MCFP-5 1000
=1
J Part No. | Package
MCFP-7 1000
20 | - 20
DOUBLE ADHESIVE TAPE
j =1
= art No. ackage
4
— MCFP-9 1000
20 4 15— | !
26—~
WHITE REFLECTION SHEET
—~—0.68
Part No. A | B | Package
~H-B MCFP-31 |31.7 | 1.78 500
~—20 — MCFP-32 [32.0 |1.8




[ ULCN-1]

MOUNTING HOLE
THICKNESS: T

Ri: AR IERSER 8k 5

. Material: PC (UL) BA > BIER
+ Flame Class: 94V-2/94V-0
« Color: Transparent
+ Unit: mm ~i—0.8
RELEASE TAB
/;;:, WA & Part No. | Package
'/ : MCFP-18 1000
20— ~H-15
DOUBLE ADHESIVE TAPE A0
~—0.8
&
RELEASE TAB
| T
— 20— %20145, Part No. | Package
DOUBLE ADHESIVE TAPE MCFP-29 | 1000
~~0.73
i “-C ] H
&
< o
RELEASE TAB J
J VE Ny ‘
iE I ~---1.85
14 /Lzo J L 20—
DOUBLE ADHESIVE TAPE 20 DOUBLE ADHESIVE TAPE
Part No. A | C | Package Part No. | Package
MCFP-12 [20.7|0.71 1000 MCFP-17-1 1000
MCFP-25 [22.3|0.68
A& : @ A ANGFFFA#AKR E » TR >
- Material: Nylon 66 (UL) B
» Flame Class: 94V-2/94V-0
+ Color: Natural/Black/Green/Blue
« Unit: mm
[ ULCN3.4-2.1 ]
Part No. A T Package
ULCN-1 1.7 1 21~24
ULCN1.7-2.4 1.7 121~24
ULCN2.2-1.2 2.2 1.2 MOUNTING HOLE
ULCN25-16 |25 0.8~1.6 THICKNESS 0.6
ULCN25-26 | 25| 1.8~2.6 1000
’ ULCN25-29 |25]21~29 + Flame Class: 94V-2
J, (ﬁ ULCN34-08 | 34| 08 + Color: Green
' = o ULCN3.4-2.1 34| 213 Part No. Package
~4.5~ ULCN6.3-16 |63| 1.6 ULCN-3 1000
l— 9 —



Rk #@ANNGFFFA#AR L » £, A »

. Material: Nylon 66 (UL) AU
+ Flame Class: 94V-2/94V-0

+ Color: Natural/Black/Green/Blue

+ Unit: mm

- Patented (& #| &)

'..\; 2 \ 1
MOUNTING HOLE f % i
THICKNESS 12 | ?g THICKNESS 18 - 43
45 '

~—9-
Part No. Package Part No. | Package
ULCN2.5-1.2| 1000 ULCW2.5-1.6| 1000

MOUNTING HOLE 1
THICKNESS 295 o | ] MOUNTING HOLE MOUNTING HOLE Q
“ e 12 THICKNESS: T 48 THICKNESS 1.6 @4.3

Part No. Package Part No. A | B | T | Package Part No. A | Package
% ULCO2.4A-3.1 | 1000 ULCO2.1-2  |2.08]0.81]2.0 ULCOG2.5-1.6 | 25 1000
ULCO24-21 |24 |08 |21 ULCOG6.3-1.6 | 6.3

ULCO2.4-31 |24 0.8 |2.95
ULCO2.5-1.6 |25 |0.8 |1.6
ULCO2.5-2.2 |25 |08 |2.2
ULCO2.5-2.4 |25 |0.8 |24
ULCO2.5-4.2 |25 |0.8 |4.2
ULC06.6-2.6 |6.6 |0.8 |2.46

1000

PR P
MOUNTING HOLE MOUNTING HOLE @3.0
THICKNESS 1.6~2.1 .%? THICKNESS: T %%ELEQS%H%E .&P
Part No. | Package Part No. T Package Part No. D | Package
ULCOJ-1 1000 % ULCN6.6-1.2|1.2 1000 ULC03.8-1.6S | 2.5 1000
*ULCN6.6-1.6|1.5~1.6 ULCO3.8-1.6 |4.0




A& : M AANGFFFRA#AR L » £ T B >

. Material: Nylon 66 (UL) B 4t o
+ Flame Class: 94V-2/94V-0

+ Color: Natural/Black/Green/Blue

« Unit: mm

- Patented (& #] &)

O R )

MOUNTING HOLE

THICKNESS: T 48
MOUNTING HOLE { N MOUNTING HOLE
THICKNESS 16-22 ., 51 T I T e THICKNESS 27-33 |45~
: ULCO6.6-1.6 |8.0| 1.6
Part No. | Package ULCO6.6-2 |8.0]1.9~21| 1000 Part No. Package
ULCOB-1 1000 ULC0O6.6-3.1 | 8.3 ] 2.7~3.3 ULCO6.6-3.1S| 1000

\\\.».!..,/ >
MOUNTING HOLE !
THICKNESS: T ‘% w
Part No. A T [ Package MOUNTING HOLE ‘@ MOUNTING HOLE @3.0
ULCOB3.5.23133 227 THICKNESS 2.27 48k THICKNESS 1.2
% ULCOB6-16 |6.0|1.6 1000 Part No. | Package Part No. Package
ULCOB6-2.3 |6.0]2.27 ULCOB-2 1000 % ULCNF2.5-1.2| 1000

+ Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
« Color: Black

+ Unit: mm

MOUNTING HOLE P‘.
THICKNESS 1.6~1.8 8

iy
Part No. A | Package ¥|%ELE\I§S j%l:aﬁ ﬁ“’r
ULCNA2.5-18 |2.15 8
ULCNA2.5-1.8S | 2.45| 1000 Part No. Package
ULCNA4-1.8 4.0 ULCNA2.5-4.3| 1000




A& : @ A ANGFFFA#AKR L » TR
. Material: Nylon 66 (UL) Barde
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black/Green/Blue
 Unit: mm
- Patented (F £ &) =

| o
MOUNTING HOLE 3 MOUNTING HOLE
THICKNESS 1.6 @ THICKNESS 1.6
48 ~—+4.8
Part No. Package Part No. Package
ULCOA5-1.6A| 1000 ULCOB3.4-1.6| 1000

T

T 9C MOUNTING HOLE

rb‘.G*ﬂ»O.BS

THICKNESS 1.6 MOUNTING HOLE @34
THICKNESS 1.6
PartNo. | Package PartNo. | E | G | Package » Color: Black
ULCND1.5-1.1| 1000 ULCY-1 18.27| 4.05 1000 Part No. | Package
ULCY3.9-1.6 241 | 4.0 ULCY-2 1000

@5.3
(©r—mr—Ho)

MOUNTING HOLE @3.5
THICKNESS 1.6~2.2

MOUNTING HOLE @3.5
THICKNESS 2.3~2.9

PartNo. | F | Package Part No. | Package
ULCOC-1 | 1.8 1000 ULCOC-7L | 1000
ULCOC-9 |1.77

MOUNTING HOLE @4.0

MOUNTING HOLE @4.0
THICKNESS 2.69

THICKNESS 1.6

MOUNTING HOLE @4.0

THICKNESS 2.3~2.9
Part No. | Package Part No. | Package Part No. | Package
ULCOC-14 | 1000 ULCOC-2 1000 ULCOC-2L | 1000




« Material: Nylon 66 (UL)
 Nut Material: Brass

+ Flame Class: 94V-2/94V-0
« Color: Natural/Black

« Unit: mm

- Patented (& £ &)

it BMANGFF MR L » . T A »
5 ¥rdp 0 SAALEENAE 0 FFEMI
FiE o

S MOUNTING HOLE

:I[ THICKNESS 1.6

2.7
Part No. Package
ULCND2.5-1.6| 1000

©
S8 1% 5 : S 32'6
f e Z 25.3
1°—COPPER ~|\- COPPER
@4.3 FOIL © @43 FOIL
< -BODY
TR
; : MOUNTING HOLE
MOUNTING HOLE 9
THICKNESS 1.6 yllunn = THICKNESS 1.6
BRASS NUT
Part No. | Package Part No. | Package
ULCOE-3 1000 ULCOE-4 1000

% : MANGFFFAMAR £ » £ TR >

== . Material: Nylon 66 (UL) B ¥t o
« Flame Class: 94V-2/94V-0
+ Color: Natural/Black/Blue
+ Unit: mm
. - Patented (% 4] &)
8 9.7
= ¢4 11930
S oD
: Ry
038 038
MOUNTING HOLE $ Q MOUNTING HOLE
THICKNESS 1.6 — THICKNESS 1.6 %
09 0.9
Part No. Package Part No. | Package
ULCOD1.5-1.6| 1000 ULCOD-1 1000

MOUNTING HOLE @3.6
THICKNESS 1.6

PartNo. | H | Package
ULCOC-4 |34
ULCOC-8 |2.8 1000




AR BANGFFFA#m L » % T A >

- Material: Nylon 66 (UL) B Wt o
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black/Blue
 Unit: mm
- Patented (& £ &) gg 18.9
[l
d© ©

11— LR
" N MOUNTING HOLE
038, - TIE4  THICKNESS 26
’ j¥ MOUNTING HOLE —¢ |
45 t THICKNESS 1.6 ~145~
Part No. | Package Part No. Package
ULCOC-12 | 1000 ULCOC24-2.6| 1000

- Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Green

+ Unit: mm

- Patented (& £ &)

09 23.6 Part No. | Package
@4.3 ULCOM-1 | 1000

MOUNTING HOLE
CHASSIS THICKNESS 1.6

Aig: AR ETHRENGFFFXER -

« Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Black

« Unit: mm

- Patented (& £ &)

I ™

1.5
MOUNTING HOLE
THICKNESS 1.6

Part No. | Package
ULD-1 1000

1% B L8 v
Installation Step <



Ri : @A ETHENGFFFHR#R L
. Material: Nylon 66 (UL) LR B o
+ Flame Class: 94V-0
+ Base Color: Black
+ Handle Color: Blue
+ Unit: mm
- Patented (& £ 5)

4 SD
i
@At

14
MOUNTING HOLE
THICKNESS: T

Part No. T | Package
% ULCOF-9MF |1.93 1000
ULCOF-9F |2.36

45
o
@ 1
Ll

MOUNTING HOLE
THICKNESS 1.6

Part No. | Package
ULCOF-19F | 1000

- Latch Base Material: Nylon 66 (UL)

« Latch Handle Material: Nylon 66 (UL)+GF
« Latch Spring Material: SWP Nickel Plated
« Flame Class: 94V-0

+ Base Color: Black

+ Handle Color: Blue

« Unit: mm

- Patented (& #] &) * 4'5D
SRS
Pollgg

MOUNTING HOLE
THICKNESS 2.0

o

Part No. | Package
ULCOF-20F | 1000

& Host PeB/ W
Assembly Diagram

- Material: Nylon 66 (UL) R : @ ANGFFF ¥ #R £ » £ T K »
« Flame Class: 94V-0 B ¥4 o

« Color: Black
« Unit: mm ( m—p ]7(3
- Patented (& #| &) ) 4

) MOUNTING HOLE
) 2 THICKNESS 1.6
s || ©

LATCH Part No. | Package
SPRING ULCOF-2F | 1000

25



AR BANGFFFA#m L » . T A >

. Material: Nylon 66 (UL) Bt o
+ Flame Class: 94V-0

+ Latch Base Color: Black

« Latch Cover Color: Blue

+ Unit: mm @3.2
« Patented (% #] &) 4.9

M ? (i.
Dz
. 5 ‘ b 48 L
~—— 1365 —-
3 MOUNTING HOLE
LATCH THICKNESS 1.6

2 SPRING
T

Part No. | Package
ULCOF-10F| 1000

R

M
~—15

LATCH
SPRING MOUNTING HOLE

THICKNESS: T

Part No. B T Package
ULCOF-6SF |5.65 1.6
ULCOF-6F |6.15| 1.8,2.2 1000
ULCOF-6LF |6.15] 2.36~2.55

1=
~~B——10.45—

D 7o) 4.8 ¥
© N
) ‘ (?
13.65—
MOUNTING HOLE

LATCH THICKNESS 1.57
SPRING

Part No. | Package
ULCOF-17F| 1000

MOUNTING HOLE
= i THICKNESS: T
Q
=
©
©

Part No. T Package
ULCOF-7F 1.93
ULCOF-7LF |2.36~2.55 1000




AR BANGFFFA#m L » . T A >

- Latch Base Material: Nylon 66 (UL) B Wt o
- Latch Cover Material: Nylon 66 (UL)+GF

- Latch Spring Material: SWP Nickel Plated

- Flame Class: 94V-0

- Latch Base Color: Black

« Latch Cover Color: Blue

« Unit: mm

- Patented (£ #| &)

5.3
CARD

Bl et /  Latn R

Siad 117K O I
o= | Pl Ll

139 — Liges 1 %

Tl s
MOUNTING HOLE

THICKNESS: T

Part No. B T Package
ULCOF-14LF| 6.0 | 2.78 1000
¢ [ULCOF-21LF) K ULCOF-21LF | 4.8 [1.93~2.4

- Material: Nylon 66 (UL)

- Body Flame Class: 94V-2

+ Latch Flame Class: 94V-0

+ Body Color: Black

- Latch Color: Blue

+ Unit: mm o

- Patented (& #| &) 5o o
g @
1.

i
jj@ MOUNTING HOLE

THICKNESS 1.8~2.2

Part No. A | Package
ULCOI-2.4F |24
ULCOI-4F |4.0| 1000
ULCOI-6.6F | 6.6

Installation Step

+ Body Material: Nylon 66 (UL)
- Latch Material: Nylon 66 (UL)+GF
- Body Flame Class: 94V-2
- Latch Flame Class: 94V-0
« Body Color: Black
- Latch Color: Blue/Green 59 [‘
+ Unit: mm V1Y
o @1.8
- Patented (& #| &) <5 @f
545

MOUNTING HOLE
THICKNESS 2.36~2.55

Part No. | Package
ULCOI-3F | 1000




it BMANGFFFA MR L » .5 »

- Body Material: Nylon 66 (UL) B
- Latch Material: Nylon 66 (UL)+GF

- Body Flame Class: 94V-2

« Latch Flame Class: 94V-0 Mé‘rﬁfﬁﬁg AREA
+ Body Color: Black -

+ Latch Color: Blue i
« Unit: mm 8
- Patented (& #| &) Zz,
M.2 CARD

L G INSTALLATION LOCATION

<

T 4

s

MOUNTING HOLE
THICKNESS 1.9

Part No. | Package
ULCOI-5F | 1000

- Material: Nylon 66 (UL)

+ Flame Class: 94V-0

« Latch Base Color: Black

« Latch Turn Handle Color: Blue
« Unit: mm

- Patented (& #| &)

MOUNTING HOLE
THICKNESS 1.6~2.1

1% B 38
Installation Step

Part No. | Package
ULCON-1F | 1000

- Material: Nylon 66 (UL)
« Flame Class: 94V-0

« Latch Base Color: Black @5.3

« Latch Turn Handle Color: Blue @3.4

 Unit: mm »

- Patented (& #| &) i
o2
oo
§E RECOMMEND MOUNTING HOLE
88 RECOMMEND THICKNESS 1.6
L
o

Installation Step

Part No. | Package
ULCON-3F | 1000




it BMANGFFFA MR L » .5 »
5 ¥k o

+ Metal Material: Steel

+ Insulator Material: POM
« Insulator Color: Blue
 Unit: mm

- Patented (& £ &)

LATCH SPACER SUPPORT
CARD~
fclf[mmmﬂﬂ%%?
) ) il

HOST P.Q.B Part No. | Package
Assembly Diagram ULF-1(BU)F | 1000

+ Metal Material: Steel

« Insulator Material: Nylon 66 (UL)+GF
+ Flame Class: 94V-0

« Insulator Color: Blue

 Unit: mm

- Patented (& #] &)

T
&
Ly
e
1% A3 ) .
Installation Step HOST P.C.B Part No. Package
Assembly Diagram ULF-3.6(BU)F | 1000

A% AANGFFF 2 8% a1RE -

« Material: Nylon 66 (UL)/PC (UL)
« Flame Class: 94V-2

- Color: Black/Transparent

+ Unit: mm

Part No. | Package Part No. | Package Part No. | Package
UNCV-1 1000 UNCV-2 1000 UNCV-3 1000




R BMAPCHREMKEZEZ » F&
A % °
- Material: ABS (UL) M3 & 2 A
« Flame Class: 94HB

+ Color: Natural
« Unit: mm

~ [T
miH .
~—12.7
22.7 Part No. | Package

LLCB3-15 | 1000

AR ARPCAREZEK I 2 B & o

- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit: mm
12.6
[' @4

I*T@S [ﬁﬁﬁ

= i
ﬁiﬁ j @jﬁ Part No. | Package

DDMC-5.5 | 1000
THICKNESS 1.2

R AR EMHZHBRER T -

« Material: Nylon 66 (UL)
+ Flame Class: 94V-2

+ Color: Black

« Unit: mm

] M~
P =
&
T
— @75~ .J oNM5 -
Part No. | Package Part No. | Package
BPLT-9 1000 BPLT-13 1000




	1-000
	1-00A
	1-00B
	1-00C
	1-00D
	1-001
	1-002
	1-003
	1-004
	1-005
	1-006
	1-007
	1-008
	1-009
	1-010
	1-011
	1-012
	1-013
	1-014
	1-015
	1-016
	1-017
	1-018
	1-019
	1-020
	1-021
	1-022
	1-023
	1-024
	1-025
	1-026
	1-027
	1-028
	1-029
	1-030
	1-031
	1-032
	1-033
	1-034
	1-035
	1-036
	1-037
	1-038
	1-039
	1-040
	1-041
	1-042
	1-043
	1-044
	1-045
	1-046
	1-047
	1-048
	1-049
	1-050
	1-051
	1-052
	1-053
	1-054
	1-055
	1-056
	1-057
	1-058
	1-059
	1-060
	1-061
	1-062
	1-063
	1-064
	1-065
	1-066
	1-067
	1-068
	1-069
	1-070
	1-071
	1-072
	1-073
	1-074
	1-075
	1-076
	1-077
	1-078
	1-079
	1-080
	1-081
	1-082
	1-083
	1-084
	1-085
	1-086
	1-087
	1-088
	1-089
	1-090
	1-091
	1-092
	1-093
	1-094
	1-095
	1-096
	1-097
	1-098
	1-099
	1-100
	1-101
	1-102
	1-103
	1-104
	1-105
	1-106
	1-107
	1-108
	1-109
	1-110
	1-111
	1-112
	1-113
	1-114
	1-115
	1-116
	1-117
	1-118
	1-119
	1-120
	1-121
	1-122
	1-123
	1-124
	1-125
	1-126
	1-127
	1-128
	1-129
	1-130
	1-131
	1-132
	1-133
	1-134
	1-135
	1-136
	1-137
	1-138
	1-139
	1-140
	1-141
	1-142
	1-143
	1-144
	1-145

